Parts

125 Redwood Circle, Fayetteville, Georgia US 30214

770.719.9492 / 678.357./3271

parts@balloonacyltd.com

“Your Source for Aerostar Parts”

Parts Manufacturing Authority
PQ4173CE

2015 Aerostar Parts Price List
Revised 29 February 2016



mailto:parts@balloonacyltd.com

Note:

Balloonacy, Itd, LLC, d/b/a Parts Authority, was issued a Parts Manufacturing Authority certificate
(PQ4173CE) on January 18, 2013, culminating almost a year of coordination between this company and
Raven/Aerostar, of Sioux Falls, SD. The staff appreciates the trust placed in this facility’s operations and
capabilities, and we look forward to continuing Aerostar’s tradition of customer service to the fleet of
Aerostar balloons worldwide.

We ask that our customers and clients understand that, during this transition, we will not have all parts in
stock at all times. Additionally, there may be fluctuations in parts prices as we move from “new old
stock” transferred from Aerostar to new stock acquired through sources. Remembering that this is a
small, family-owned and operated business, we ask for your patience while we move into this new
operation. The more lead time we can get on manufactured items (specifically, fuel lines), the better we
will be able to meet your delivery and service/inspection time frame.

Ordering Information: Orders may be forwarded by e-mail, phone or fax. Please have your credit card
available; we can accept all major cards, as processed thru Square. We are not programmed to run
accounts at this time. Under normal circumstances, any order received by 3 PM on a normal business day
will go out that day; however, we can take orders later for a same day shipment, at a significantly higher
rate. We have to take them directly to the airport drop point, and traffic is tough here around 5 PM.

Discounts: Certificated repair stations will receive a 20% discount on any order over $75.00. A&P/IA
certificate holders will receive a 10% discount; please have your certificate number available when
placing your order.

Shipping: Orders will normally be shipped by USPS, using the flat rate mailing boxes, unless otherwise
requested. There are additional charges for UPS and FedEx, but both are available upon request.
Emergency / short-notice /AOG / | forgot orders are frowned upon, but we can deal with it as necessary.

Balloonacy / Parts Authority is only responsible for those parts that have been delegated to us by our
agreement with Raven Aerostar. We will be supplying fuel lines, cable pairs and sets, as well as most
consumable items (Templabels, O-rings, seals, hardware, etc.) Under that same agreement, all fabric is
handled thru Lindstrand Balloons US (phone 815-777-6006); all sewn assemblies, to include top cap
assemblies, skirts and dipper/scoops, as well as deflation straps, are the responsibility of SuperiAire
Technologies (phone 505-858-1685).

We look forward to meeting your Aerostar parts needs in the future. Please feel free to contact us should
you have any questions.

Fly safe, fly smart!

Dawve Sullivawv Alyssav Sullivau
Dave Sullivan Alyssa Sullivan
Facility Manager Operations Manager

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List



ALPHABETICAL PARTS LISTING

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List



A BLOCK ARP 52340 $48.55 EA.
ADAPTOR, POL-PIPE ARP 51040 - 12 $16.15 EA.
AEGIS IR ENVELOPE MOUNT ARP 52789 $0.65 EA.
AFX FRAME TUBE-LONG CW-RWSW ARP 53120 - 2 $174.45 EA.
AFX FRAME TUBE-SHORT CW-RWSW ARP 53120 - 1 $129.65 EA.
AFX LOAD FTNG RWSW-CW CORNER 1,3 ARP 53119 - 1 $498.90 EA.
AFX LOAD FTNG RWSW-CW CORNER 2,4 ARP 53119 - 2 $498.90 EA.
AFX LOWER CABLE CW ARP 53124 - 1 $54.25 EA.
AFX LOWER CABLE RWSW ARP 53124 - 2 $53.75 EA.
AFX RECEIVER POUCH-SMOOTH ARP 53137 - 2 $0.00 | CALL
AFX RECEIVER POUCH-SUEDE ARP 53137 - 1 $0.00 | CALL
AFX ROD SOCKET, CW ARP 53121 - 1 $87.80 EA.
AFX ROD SOCKET, RWSW ARP 53121 - 2 $87.80 EA.
AFX SMOOTH LEATHER UPRIGHT COVER CW NO SLEEVE ARP 53133 - 4 $0.00 | CALL
AFX SMOOTH LEATHER UPRIGHT COVER CW W/SLEEVE ARP 53132 - 4 $0.00 | CALL
AFX SMOOTH LEATHER UPRIGHT COVER RWSW NO SLEEVE ARP 53133 - 3 $0.00 | CALL
AFX SMOOTH LEATHER UPRIGHT COVER RWSW W/SLEEVE ARP 53132 - 3 $0.00 | CALL
AFX SUEDE LEATHER UPRIGHT COVER CW NO SLEEVE ARP 53133 - 2 $0.00 | CALL
AFX SUEDE LEATHER UPRIGHT COVER CW W/SLEEVE ARP 53132 - 2 $0.00 | CALL
AFX SUEDE LEATHER UPRIGHT COVER RWSW NO SLEEVE ARP 53133 - 1 $0.00 | CALL
AFX SUEDE LEATHER UPRIGHT COVER RWSW W/SLEEVE ARP 53132 - 1 $0.00 | CALL
AFX SUPPORT ROD, CW ARP 53154 - 1 $193.85 EA.
AFX SUPPORT ROD, RWSW ARP 53154 - 2 $193.85 EA.
AFX TETHER LOOPS ARP 53157 $0.00 | CALL
AFX TRANSPORT STRAP ARP 53136 $0.00 | CALL
AFX UPPER CABLE CW ARP 53125 - 1 $200.55 EA.
AFX UPPER CABLE RWSW ARP 53125 - 2 $206.40 EA.
ASPIRATOR SUMP ASSEMBLY ARP 52418 $6.25 EA.
BACKREST, CORDURA ELS, ELSS, CW, RWSW ARP 53118 - 2 $0.00 | CALL
BACKREST, SMOOTH LEATHER, ELS, ELSS, CW, RWSW ARP 53118 - 1 $0.00 | CALL
BALL BRACKET KIT ARP 52137 $0.00 | CALL
BALL BRACKET, BACKUP ARP 52122 $0.00 EA.
BALL BRACKET, INSTRUMENT ARP 52121 $0.00 EA.
BALL BRACKET, INSTRUMENT UPRIGHT MOUNT ARP 52914 $0.00 | CALL
BALL BRACKET, RECEPTICAL ARP 52912 $0.00 EA.
BALL BRACKET, SPACER ARP 52913 $1.00 EA.
BALL INSTRUMENT CLAMP ARP 52258 $0.00 | CALL
BARB CONNECTOR FOR POLY WICKER ARP 51003 - 82 $0.65 EA.
BEARING, THRUST NTA-815 ARP 51040 - 43 $9.60 EA.
BOLT, 1/4-20 X 2 1/2 GRADE 5 ARP 51013 - 5 $0.35 EA.
BOLT, 1/4-28 GRADE 8 ARP 51013 - 95 $1.90 EA.
BOLT, 1/4-28 X 3 HEX HD ZINC GRADE 5 ARP 51013 - 87 $0.45 EA.
BOLT, AIRCRAFT AN3-12A ARP 51013 - $1.80 EA.
BOLT, AIRCRAFT AN3-14A ARP 51013 - 4 $2.25 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




BOLT, AIRCRAFT AN3-15A ARP 51013 - 3 $2.55 EA.
BOLT, AIRCRAFT AN3-16A ARP 51013 - 59 $2.10 EA.
BOLT, AIRCRAFT AN3-17A ARP 51013 - 83 $2.85 EA.
BOLT, AIRCRAFT AN3-20A ARP 51013 - 2 $3.25 EA.
BOLT, AIRCRAFT AN4-11A ARP 51013 - 51 $1.10 EA.
BOLT, AIRCRAFT AN4-12A ARP 51013 - 45 $1.60 EA.
BOLT, AIRCRAFT AN4-15A ARP 51013 - 17 $2.70 EA.
BOLT, AIRCRAFT AN4-17A ARP 51013 - 57 $0.00 | CALL
BOLT, AIRCRAFT AN4-21A ARP 51013 - 24 $3.35 EA.
BOLT, AIRCRAFT AN4-22A ARP 51013 - 25 $3.55 EA.
BOLT, AIRCRAFT AN4-24A ARP 51013 - 81 $10.95 EA.
BOLT, AIRCRAFT AN4-31A ARP 51013 - 58 $11.75 EA.
BOLT, AIRCRAFT AN4-6A ARP 51013 - 49 $0.70 EA.
BOLT, AIRCRAFT AN5-47A ARP 51013 - 12 $10.85 EA.
BOLT, AIRCRAFT AN6-23A ARP 51013 - 46 $0.00 | CALL
BOLT, AN4-20A ARP 51013 - 108 $3.95 EA.
BOLT, AN4-3A ARP 51013 - 86 $0.60 EA.
BOLT, AN509-416-29 FLAT HEAD 1/4 - 28 X 1 27/32 ARP 51013 - 96 $10.30 EA.
BOLT, AN5-22A ARP 51013 - 112 $4.80 EA.
BOLT, CARRIAGE 1/4-20 X 2 ARP 51019 - 3 $1.00 EA.
BOLT, CARRIAGE 1/4-20 X 3 PL ST ARP 51019 - 12 $0.00 | CALL
BOLT, CARRIAGE 5/16-18 X 2 1/2 SS ARP 51019 - 38 $3.70 EA.
BOLT, ELEVATOR 1/4-20 X 2 1/2 IN ARP 51019 - 33 $1.85 EA.
BOOT, RUBBER ARP 51003 - 81 $7.35 EA.
BRACKET, GIMBAL ELS BURNER ARP 52465 $224.10 EA.
BRACKET, HP3S GLOW ARP 53005 $24.25 EA.
BRACKET, MOUNTING ELS BURNER ARP 52461 $203.65 EA.
BRACKET, MOUNTING ELS W/SPRING PLATE ARP 52462 $269.00 EA.
BRACKET, OUTER POLY SKID ARP 52987 $19.55 EA.
BRACKET, SKID INNER ARP 52315 $19.20 EA.
BRACKET, SPRING ARP 13095 - 3 $0.00 | CALL
BRACKET, SPRING BURNER FRAME ARP 13095 - $0.00 | CALL
BRACKET, VALVE HOLD DOWN ARP 17529 $0.00 | CALL
BROWN LEATHER LACING ARP 51006 - 3 $1.35 FT.
BURNER FITTING ASSEMBLY 4 PT ARP 51082 $283.15 EA.
BURNER FRAME HPIIl DUAL & HPIIl SINGLE ARP 52351 $513.00 EA.
BURNER FRAME, ELS ARP 52451 $392.25 EA.
BURNER SUPPORT FITTING, SLOTTED ARP 53097 - 1 $214.45 EA.
BURNER SUPPORT, INSERT, ADJUSTMENT BLOCK ARP 51082 - $40.20 EA.
BURNER SUPPORT, INSERT, COMPRESSION SPACER ARP 51082 - 3 $24.60 EA.
BUSHING, GIMBAL ARP 52345 $9.65 EA.
BUSHING, GIMBAL ELS LONG ARP 52467 $12.50 EA.
BUSHING, GIMBAL ELS SHORT ARP 52468 $10.50 EA.
CABLE PAIR, A 4 PT RX8/RXS8 ABLOCK KEVLAR ARP 52826 - 8 $176.80 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




CABLE PAIR, A 4 PT RX8/RXS8 ABLOCK STEEL ARP 52827 - 8 $53.15 | EA.
CABLE PAIR, A 4 PT RX8/RXS8 CARABINER KEVLAR ARP 52824 - 8 $165.60 | EA.
CABLE PAIR, A 4 PT RX8/RXS8 CARABINER STEEL ARP 52825 - 8 $85.45 | EA.
CABLE PAIR, A 4 PT RX9 ABLOCK KEVLAR ARP 52826 - 29 $171.00 | EA.
CABLE PAIR, A 4 PT RX9 ABLOCK STEEL ARP 52827 - 29 $81.30 | EA.
CABLE PAIR, A 4 PT RX9 CARABINER KEVLAR ARP 52824 - 29 $145.85 | EA.
CABLE PAIR, A 4 PT S49A/S51A/S53A ABLOCK KEVLAR ARP 52826 - 6 $155.05 | EA.
CABLE PAIR, A 4 PT S49A/S51A/S53A ABLOCK STEEL ARP 52827 - 6 $79.20 | EA.
CABLE PAIR, A 4 PT S49A/S51A/S53A CARABINER KEVLAR ARP 52824 - 6 $177.05 | EA.
CABLE PAIR, A 4 PT S49A/S51A/S53A CARABINER STEEL ARP 52825 - 6 $81.95 | EA.
CABLE PAIR, A 4 PT S50A/S52A ABLOCK KEVLAR ARP 52826 - 2 $143.00 | EA.
CABLE PAIR, A 4 PT S50A/S52A ABLOCK STEEL ARP 52827 - 2 $78.75 | EA.
CABLE PAIR, A 4 PT S50A/S52A CARABINER KEVLAR ARP 52824 - 2 $143.00 | EA.
CABLE PAIR, A 4 PT S50A/S52A CARABINER STEEL ARP 52825 - 2 $81.60 | EA.
CABLE PAIR, A 4 PT S55A/S57A/S60A ABLOCK KEVLAR ARP 52826 - 7 $154.85 | EA.
CABLE PAIR, A 4 PT S55A/S57A/S60A ABLOCK STEEL ARP 52827 - 7 $7935 | EA.
CABLE PAIR, A 4 PT S55A/S57A/S60A CARABINER KEVLAR ARP 52824 - 7 $16850 | EA.
CABLE PAIR, A 4 PT S55A/S57A/S60A CARABINER STEEL ARP 52825 - 7 $82.15 | EA.
CABLE PAIR, A 4 PT S57S/S60S ABLOCK KEVLAR ARP 52826 - 20 $157.70 | EA.
CABLE PAIR, A 4 PT S57S/S60S ABLOCK STEEL ARP 52827 - 20 $82.90 | EA.
CABLE PAIR, A 4 PT S57S/S60S CARABINER KEVLAR ARP 52824 - 20 $154.05 | EA.
CABLE PAIR, A 4 PT S57S/S60S CARABINER STEEL ARP 52825 - 20 $85.45 | EA.
CABLE PAIR, A 4 PT S66A/S71A ABLOCK KEVLAR ARP 52826 - 28 $169.50 | EA.
CABLE PAIR, A 4 PT S66A/S71A ABLOCK STEEL (CW, CWS, RB5) ARP 52827 - 21 $82.80 | EA.
CABLE PAIR, A 4 PT S66A/S71A ABLOCK STEEL (RB6, RB8, RB12) ARP 52827 - 28 $83.75 | EA.
CABLE PAIR, A 4 PT S66A/S71A CARABINER KEVLAR ARP 52824 - 28 $156.15 | EA.
CABLE PAIR, A 4 PT S77A/S81A ABLOCK KEVLAR ARP 52826 - 25 $175.10 | EA.
CABLE PAIR, A 4 PT S77A/S81A ABLOCK STEEL ARP 52827 - 25 $85.65 | EA.
CABLE PAIR, A 4 PT S77A/S81A CARABINER KEVLAR ARP 52824 - 25 $160.10 | EA.
CABLE PAIR, B 4 PT 66A/S71A ABLOCK KEVLAR ARP 52826 - 27 $167.65 | EA.
CABLE PAIR, B 4 PT 66A/S71A CARABINER KEVLAR ARP 52824 - 27 $154.45 | EA.
CABLE PAIR, B 4 PT RX7/RX8/RXS8 ABLOCK KEVLAR ARP 52826 - 3 $168.85 | EA.
CABLE PAIR, B 4 PT RX7/RX8/RXS8 ABLOCK STEEL ARP 52827 - $78.50 | EA.
CABLE PAIR, B 4 PT RX7/RX8/RXS8 CARABINER KEVLAR ARP 52824 - $156.70 | EA.
CABLE PAIR, B 4 PT RX7/RX8/RXS8 CARABINER STEEL ARP 52825 - 3 $81.55 | EA.
CABLE PAIR, B 4 PT RX9 ABLOCK KEVLAR ARP 52826 - 30 $166.00 | EA.
CABLE PAIR, B 4 PT RX9 ABLOCK STEEL ARP 52827 - 30 $80.90 | EA.
CABLE PAIR, B 4 PT RX9 CARABINER KEVLAR ARP 52824 - 30 $144.40 | EA
CABLE PAIR, B 4 PT S55A/S57A/S60A ABLOCK KEVLAR ARP 52826 - 4 $156.05 | EA.
CABLE PAIR, B 4 PT S55A/S57A/S60A ABLOCK STEEL ARP 52827 - $78.80 | EA.
CABLE PAIR, B 4 PT S55A/S57A/S60A CARABINER KEVLAR ARP 52824 - $155.25 | EA.
CABLE PAIR, B 4 PT S55A/S57A/S60A CARABINER STEEL ARP 52825 - 4 $81.45 | EA.
CABLE PAIR, B 4 PT S66A/S71A ABLOCK KEVLAR ARP 52826 - 15 $14585 | EA.
CABLE PAIR, B 4 PT S66A/S71A ABLOCK STEEL (CW, CWS, RBS) ARP 52827 - 15 $82.25 | EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List _




CABLE PAIR, B 4 PT S66A/S71A ABLOCK STEEL (RB6, RB8, RB12) ARP 52827 27 $83.15 | EA.
CABLE PAIR, B 4 PT S66A/S71A CARABINER KEVLAR ARP 52824 15 $145.85 | EA.
CABLE PAIR, C 4 PT S50A/S52A ABLOCK KEVLAR ARP 52826 1 $141.90 | EA
CABLE PAIR, C 4 PT S50A/S52A ABLOCK STEEL ARP 52827 1 $7850 | EA.
CABLE PAIR, C 4 PT S50A/S52A CARABINER KEVLAR ARP 52824 1 $141.00 | EA
CABLE PAIR, C 4 PT S50A/S52A CARABINER STEEL ARP 52825 1 $81.45 | EA.
CABLE PAIR, C 4 PT S55A/S57A/S60A ABLOCK KEVLAR ARP 52826 5 $156.80 | EA.
CABLE PAIR, C 4 PT S55A/S57A/S60A ABLOCK STEEL ARP 52827 5 §78.00 | EA.
CABLE PAIR, C 4 PT S55A/S57A/S60A CARABINER KEVLAR ARP 52824 5 $156.30 | EA.
CABLE PAIR, C 4 PT S55A/S57A/S60A CARABINER STEEL ARP 52825 5 $81.85 | EA.
CABLE PAIR, C 4 PT S57S/S60S ABLOCK KEVLAR ARP 52826 19 $165.05 | EA.
CABLE PAIR, C 4 PT S575/S60S ABLOCK STEEL ARP 52827 19 $82.45 | EA.
CABLE PAIR, C 4 PT S575/S60S CARABINER KEVLAR ARP 52824 19 $154.45 | EA.
CABLE PAIR, C 4 PT S575/S60S CARABINER STEEL ARP 52825 19 $85.30 | EA.
CABLE PAIR, C 4 PT S66A/S71A ABLOCK KEVLAR ARP 52826 17 $144.40 | EA.
CABLE PAIR, C 4 PT S66A/S71A ABLOCK KEVLAR ARP 52826 26 $169.00 | EA.
CABLE PAIR, C 4 PT S66A/S71A ABLOCK STEEL (CW, CWS, RBS) ARP 52827 17 $82.25 | EA.
CABLE PAIR, C 4 PT S66A/S71A ABLOCK STEEL (RB6, RB8, RB12) ARP 52827 26 $8355 | EA.
CABLE PAIR, C 4 PT S66A/S71A CARABINER KEVLAR ARP 52824 17 $144.40 | EA
CABLE PAIR, C 4 PT S66A/S71A CARABINER KEVLAR ARP 52824 26 $15570 | EA.
CABLE PAIR, C 4 PT S77A/S81A ABLOCK KEVLAR ARP 52826 23 $161.70 | EA
CABLE PAIR, C 4 PT S77A/S81A ABLOCK STEEL ARP 52827 23 $85.10 | EA.
CABLE PAIR, C 4 PT S77A/S81A CARABINER KEVLAR ARP 52824 23 $152.05 | EA.
CABLE PAIR, D 4 PT S77A/S81A ABLOCK KEVLAR ARP 52826 24 $163.15 | EA.
CABLE PAIR, D 4 PT S77A/S81A ABLOCK STEEL ARP 52827 24 $85.40 | EA.
CABLE PAIR, D 4 PT S77A/S81A CARABINER KEVLAR ARP 52824 24 $15430 | EA.
CABLE SET ELS/ELSS RX6/RX7 CARAB KEVLAR ARP 53116 $1071.30 | EA.
CABLE SET ELS/ELSS RX6/RX7 CARAB STEEL ARP 53115 $618.15 | EA.
CABLE SET, 4 PT CARABINER STEEL (ELS) ARP 52875 $82850 | EA.
CABLE SET, 4 PT RX6/RX7 ABLOCK KEVLAR ARP 52868 $1.21435 | EA.
CABLE SET, 4 PT RX6/RX7 ABLOCK STEEL ARP 52869 $1.031.60 | EA.
CABLE SET, 4 PT RX6/RX7 CARABINER KEVLAR ARP 52866 $1.098.05 | EA.
CABLE SET, 4 PT RX6/RX7 CARABINER STEEL ARP 52867 $785.15 | EA.
CABLE SET, 4 PT RX8 CARABINER KEVLAR (ELS) ARP 52874 $1238.05 | EA.
CABLE SET, 4 PT RX8/RXS8 ABLOCK KEVLAR ARP 52858 $1.361.80 | EA.
CABLE SET, 4 PT RX8/RXS8 ABLOCK STEEL ARP 52859 $1.070.40 | EA.
CABLE SET, 4 PT RX8/RXS8 CARABINER KEVLAR ARP 52856 $121855 | EA.
CABLE SET, 4 PT RX8/RXS8 CARABINER STEEL ARP 52857 $823.70 | EA.
CABLE SET, 4 PT RX9 ABLOCK KEVLAR ARP 52860 $1.39450 | EA.
CABLE SET, 4 PT RX9 ABLOCK STEEL ARP 52861 $1.087.05 | EA.
CABLE SET, 4 PT S49A/S53A CARABINER KEVLAR ARP 52834 $1180.05 | EA.
CABLE SET, 4 PT S49A/S53A CARABINER STEEL ARP 52835 $754.75 | EA.
CABLE SET, 4 PT S50A/S52A ABLOCK KEVLAR ARP 52844 $1.602.25 | EA.
CABLE SET, 4 PT S50A/S52A ABLOCK STEEL ARP 52845 $1.34500 | EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




CABLE SET, 4 PT S50A/S52A CARABINER KEVLAR ARP 52842 $1613.35 | EA
CABLE SET, 4 PT S50A/S52A CARABINER STEEL ARP 52843 $1.040.10 | EA.
CABLE SET, 4 PT S53 ABLOCK KEVLAR ARP 52872 $1343.25 | EA.
CABLE SET, 4 PT S53 ABLOCK STEEL ARP 52873 $1,071.15 | EA.
CABLE SET, 4 PT S55A/S57A/S60A ABLOCK KEVLAR ARP 52848 $1,007.70 | EA.
CABLE SET, 4 PT S55A/S57A/S60A ABLOCK STEEL ARP 52849 $1.387.35 | EA.
CABLE SET, 4 PT S55A/S57A/S60A CARABINER KEVLAR ARP 52846 $1.82065 | EA.
CABLE SET, 4 PT S55A/S57A/S60A CARABINER STEEL ARP 52847 $1,15040 | EA.
CABLE SET, 4 PT S57S/S60S ABLOCK KEVLAR ARP 52864 $1.877.00 | EA.
CABLE SET, 4 PT S57S/S60S ABLOCK STEEL ARP 52865 $138535 | EA.
CABLE SET, 4 PT S57S/S60S CARABINER KEVLAR ARP 52862 $1,791.85 | EA.
CABLE SET, 4 PT S57S/S60S CARABINER STEEL ARP 52863 $1.148.40 | EA.
CABLE SET, 4 PT S66A ABLOCK STEEL ARP 52871 $1.403.05 | EA.
CABLE SET, 4 PT S66A, ABLOCK KEVLAR ARP 52870 $1.928.60 | EA.
CABLE SET, 4 PT S66A/S71A ABLOCK KEVLAR CW/CWS ARP 52850 $1.990.85 | EA.
CABLE SET, 4 PT S66A/S71A ABLOCK KEVLAR RB ARP 52852 $2.104.80 | EA.
CABLE SET, 4 PT S66A/S71A ABLOCK STEEL CW/CWS ARP 52851 $1.42830 | EA.
CABLE SET, 4 PT S66A/S71A ABLOCK STEEL RB ARP 52853 $1.441.10 | EA.
CABLE SET, 4 PT S77A/S81A ABLOCK KEVLAR ARP 52854 $2.662.00 | EA.
CABLE SET, 4 PT S77A/S81A ABLOCK STEEL ARP 52855 $1749.00 | EA.
CABLE SINGLE, A 4 PT S66A/S71A ABLOCK KEVLAR ARP 52828 - 21 $104.45 | EA.
CABLE SINGLE, B 4 PT RX6/RX7 ABLOCK KEVLAR ARP 52830 - 2 $136.15 | EA.
CABLE SINGLE, B 4 PT RX6/RX7 ABLOCK STEEL ARP 52831 - 2 $69.60 | EA.
CABLE SINGLE, B 4 PT RX6/RX7 CARABINER KEVLAR ARP 52828 - 2 $142.40 | EA.
CABLE SINGLE, B 4 PT RX6/RX7 CARABINER STEEL ARP 52829 - 2 §7255 | EA.
CABLE SINGLE, B 4 PT S50A/S52A ABLOCK KEVLAR ARP 52830 - 1 $94.05 | EA.
CABLE SINGLE, B 4 PT S50A/S52A ABLOCK STEEL ARP 52831 - 1 $69.20 | EA.
CABLE SINGLE, B 4 PT S50A/S52A CARABINER KEVLAR ARP 52828 - 1 $102.65 | EA.
CABLE SINGLE, B 4 PT S50A/S52A CARABINER STEEL ARP 52829 - 1 §72.15 | EA.
CABLE SINGLE, B 4 PT S57S/S60S ABLOCK KEVLAR ARP 52830 - 4 $136.15 | EA.
CABLE SINGLE, B 4 PT S57S/S60S ABLOCK STEEL ARP 52831 - 4 $7120 | EA.
CABLE SINGLE, B 4 PT S57S/S60S CARABINER KEVLAR ARP 52828 - 4 $113.75 | EA.
CABLE SINGLE, B 4 PT S57S/S60S CARABINER STEEL ARP 52829 - 4 §74.15 | EA.
CABLE SINGLE, B 4 PT S77A/S81A ABLOCK KEVLAR ARP 52830 - 5 $14080 | EA.
CABLE SINGLE, B 4 PT S77A/S81A ABLOCK STEEL ARP 52831 - 5 $7150 | EA.
CABLE, 1/16 RED PVC ARP 51037 - 15 $0.80 FT.
CABLE, 1/8 SS FED RR-W410D ARP 51037 - 9 $1.55 FT.
CABLE, 3/32 GALV FED RR-W410D ARP 51037 - $0.75 FT.
CABLE, GALV 1/8 7 X 19 MIL-RR-W-410 D ARP 51037 - 1 $0.95 FT.
CALIBRATION PLATE ASSEMBLY ARP 52236 $69.50 | EA.
CAPTIVE SCREW WITH KNOB ARP 30124 - 2 $0.00 | CALL
CARABINER (LARGE CABLE SETS - S55A AND LARGER)(AFX) ARP 51040 - 51 $47.65 | EA.
CARABINER (SMALL CABLE SETS - S49A, 50, 51, 53, & AFX) ARP 51040 - 37 $34.40 | EA.
CLAMP, HOSE SUPPORT (DOUBLE) ARP 51031 - 11 $0.00 | CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List _




CLAMP, LOOP TA 828-S11 ARP 51031 - 17 $0.00 | CALL
CLAMP, LOOP TA715SS02 ARP 51031 - 19 $330 | EA
CLAMP, LOOP TA715SS05 ARP 51031 - 16 $115 | EA.
CLAMP, LOOP TA715SS06 ARP 51031 - 15 $11.10 | EA
CLAMP, STANDOFF COIL ARP 17531 $5.15 | EA.
CLAMP. LOOP TA715SS08 ARP 51031 - 18 $150 | EA
CLIP, RETAINER HP3S ARP 53195 - 1 $4205 | EA.
COIL ASSEMBLY, HPIIl REPLACMENT ONLY ARP 52793 - 1 $0.00 | CALL
COIL ASSEMBLY, HPIIl W/NUTS & FERS PARKER ARP 52420 - 5 $0.00 | CALL
COIL ASSEMBLY, HPIIl W/INUTS & FERS SW F ARP 52420 - 4 $0.00 | CALL
COIL ASSEMBLY, HPIIl W/NUTS AND FERRULES ARP 52420 - 3 $0.00 | CALL
COIL SUPPORT INNER, REV. C ARP 17463 $0.00 | CALL
COIL SUPPORT OUTER-LONG ARP 17464 - 2 $0.00 | CALL
COIL SUPPORT OUTER-SHORT ARP 17464 - 1 $0.00 | CALL
CONNECTOR FITTING, 2 PT ARP 17265 $0.00 | CALL
CONNECTOR PIN CW, CWS ARP 51518 - 1 $96.70 | EA.
CONNECTOR PIN RB ARP 51518 - 5 $17.45 | EA.
CONNECTOR PIN RWS, RWSW ARP 51518 - 2 $103.05 | EA.
CONNECTOR, SPLIT BOLT #4H3 ARP 51031 - 31 $13.15 | EA.
COPPER TUBE .1250D X .030 WALL ARP 51002 - 10 $1.00 | FT.
CORD, 1/8 KEVLAR BRAIDED ARP 51007 - 19 $050 | FT.
CORD, PIA-C-5040-T3 WHITE ARP 51047 - 10 $030 | FT.
CORNER GUSSETT-CW/CWS LT (OLD STYLE) ARP 52381 - 1 $39.65 | EA.
CORNER GUSSETT-CW/CWS RT (OLD STYLE) ARP 52381 - 2 $39.65 | EA.
COUPLING, HEX THREADED 1/4-20 X 3/4 ARP 51016 - 15 $550 | EA.
COVER, CORDURA ELS #2 & 4 ARP 52143 - 11 $0.00 | CALL
COVER, CORDURA ELS #3 ARP 52143 - 12 $0.00 | CALL
COVER, CORDURA ELS W/FLAP ARP 52144 - 10 $0.00 | CALL
COVER, CORDURA HOSE, ELS, RWS ARP 52133 $0.00 | CALL
COVER, CORDURA SIDE FRAME CW/RWS/RWSW ARP 52142 - 5 $0.00 | CALL
COVER, CORDURA SIDE FRAME ELS ARP 52478 - $0.00 | CALL
COVER, CORDURA SLEEVES ELS ARP 52477 - 3 $0.00 | CALL
COVER, CORDURA SUPPORT TUBE CW/RWS/RWSW ARP 52143 - 17 $0.00 | CALL
COVER, CORDURA SUPPORT TUBE RWS #1 & 3 W/FLAP ARP 52144 - 7 $0.00 | CALL
COVER, CORDURA SUPPORT TUBE RWS #2 & 4 ARP 52143 - 10 $0.00 | CALL
COVER, CORDURA SUPPORT TUBE RWS #3 ARP 52143 - 9 $0.00 | CALL
COVER, CORDURA SUPPORT TUBE RWSW #1&3 W/FLAP ARP 52144 - 11 $0.00 | CALL
COVER, CORDURA SUPPORT TUBE RWSW #2 W/FLAP ARP 52144 - 12 $0.00 | CALL
COVER, RAIL CW/RWSW SMOOTH LEATHER ARP 53112 - 3 $0.00 | CALL
COVER, RAIL CW/RWSW SUEDE LEATHER ARP 53112 - 2 $0.00 | CALL
COVER, RAIL CWS SMOOTH LEATHER ARP 53112 - 5 $0.00 | CALL
COVER, RAIL CWS SUEDE LEATHER ARP 53112 - 4 $0.00 | CALL
COVER, RAIL ELS CORDURA ARP 53041 - 1 $0.00 | CALL
COVER, RAIL ELS SMOOTH LEATHER ARP 53041 - 3 $0.00 | CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List _




COVER, RAIL ELS SUEDE LEATHER ARP 53041 - 2 $0.00 CALL
COVER, RAIL ELSS CORDURA ARP 53041 - 4 $0.00 CALL
COVER, RAIL ELSS SMOOTH LEATHER ARP 53041 - 6 $0.00 CALL
COVER, RAIL ELSS SUEDE LEATHER ARP 53041 - 5 $0.00 CALL
COVER, RAIL RWSW CORDURA ARP 53112 - 1 $0.00 CALL
COVER, SMOOTH LEATHER ELS #2 & 4 ARP 52143 - 15 $0.00 CALL
COVER, SMOOTH LEATHER ELS #3 ARP 52143 - 16 $0.00 CALL
COVER, SMOOTH LEATHER ELS W/FLAP ARP 52144 - 9 $0.00 CALL
COVER, SMOOTH LEATHER END FRAME, RB12 ARP 53070 - 4 $0.00 CALL
COVER, SMOOTH LEATHER END FRAME, RB6, RB8 ARP 53070 - 3 $0.00 CALL
COVER, SMOOTH LEATHER RB TANK TOP FRAME RB6 ARP 52142 - 8 $0.00 CALL
COVER, SMOOTH LEATHER SIDE FRAME CW/RWS/RWSW ARP 52142 - 4 $0.00 CALL
COVER, SMOOTH LEATHER SIDE FRAME CWS ARP 52142 - 3 $0.00 CALL
COVER, SMOOTH LEATHER SIDE FRAME ELS ARP 52478 - 2 $0.00 CALL
COVER, SMOOTH LEATHER SLEEVE, LOWER FRAME CW / CWS ARP 17129 $0.00 CALL
COVER, SMOOTH LEATHER SLEEVES ELS ARP 52477 - 2 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE CW/CWS/RWSW #1 & 3 W/FLAP ARP 52144 - 4 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE CW/CWS/RWSW #2 W/FLAP ARP 52144 - 5 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE CW/CWS/RWSW W/O FLAP #2&4 ARP 52143 - 6 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE CW/CWS/RWSW W/O FLAP #3 ARP 52143 - 5 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE RB #1 W/FLAP ARP 52459 - 3 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE RB #2 W/FLAP ARP 52459 - 4 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE RB #3 ARP 52458 - 4 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE RB #4 ARP 52458 - 3 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE RB5 ARP 52918 - 1 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE RB5 W/FLAP ARP 52919 - 1 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE RWS #1 & 3 W/FLAP ARP 52144 - 6 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE RWS #2 & 4 ARP 52143 - 8 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE RWS #3 ARP 52143 - 7 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE W/FLAP RB5 ARP 52918 - 3 $0.00 CALL
COVER, SMOOTH LEATHER SUPPORT TUBE W/FLAP RB5 ARP 52919 - 3 $0.00 CALL
COVER, SMOOTH LEATHER TANK FRAME LONG RB12 ARP 52142 - 11 $0.00 CALL
COVER, SMOOTH LEATHER TANK FRAME SHORT RB8/12 ARP 52142 - 9 $0.00 CALL
COVER, SUEDE LEATHER END FRAME, RB12 ARP 53070 - 2 $0.00 CALL
COVER, SUEDE LEATHER END FRAME, RB6, RB8 ARP 53070 - 1 $0.00 CALL
COVER, SUEDE LEATHER RB TANK TOP FRAME RB6 ARP 52142 - 6 $0.00 CALL
COVER, SUEDE LEATHER RB8/12 ARP 52142 - 7 $0.00 CALL
COVER, SUEDE LEATHER SIDE FRAME CW/RWS/RWSW ARP 52142 - 1 $0.00 CALL
COVER, SUEDE LEATHER SIDE FRAME CWS ARP 52142 - 2 $0.00 CALL
COVER, SUEDE LEATHER SIDE FRAME ELS ARP 52478 - 1 $0.00 CALL
COVER, SUEDE LEATHER SLEEVES ELS ARP 52477 - 1 $0.00 CALL
COVER, SUEDE LEATHER SUPPORT TUBE CW/CWS/RWSW #1 & 3 W/FLAP ARP 52144 - 1 $0.00 CALL
COVER, SUEDE LEATHER SUPPORT TUBE CW/CWS/RWSW #2 W/FLAP ARP 52144 - 2 $0.00 CALL
COVER, SUEDE LEATHER SUPPORT TUBE CW/CWS/RWSW W/O FLAP #2&4 ARP 52143 - 2 $0.00 CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




COVER, SUEDE LEATHER SUPPORT TUBE CW/CWS/RWSW W/O FLAP #3 ARP 52143 - 1 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE ELS #2 & 4 ARP 52143 - 13 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE ELS #3 ARP 52143 - 14 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE ELS W/FLAP ARP 52144 - 8 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE RB #1 W/FLAP ARP 52459 - 1 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE RB #2 W/FLAP ARP 52459 - 2 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE RB #3 ARP 52458 - 2 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE RB #4 ARP 52458 - 1 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE RB5 ARP 52918 - 2 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE RB5 ARP 52918 - 4 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE RB5 ARP 52019 - 2 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE RB5 W/FLAP ARP 52919 - 4 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE RWS #1 & 3 W/FLAP ARP 52144 - 3 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE W/O FLAP RWS #2 & 4 ARP 52143 - 4 $0.00 | CALL
COVER, SUEDE LEATHER SUPPORT TUBE W/O FLAP RWS #3 ARP 52143 - 3 $0.00 | CALL
COVER, SUEDE LEATHER TANK FRAME LONG RB12 ARP 52142 - 10 $0.00 | CALL
COVER,CORDURA SUPPORT TUBE CW/RWS/RWSW ARP 52143 - 18 $0.00 | CALL
C-RING, INDUSTRIAL 1200-9 ARP 51034 - 1 $0.15 | EA.
DELTA LINK, 3/16 IN ARP 51031 - 94 $13.75 | EA.
DIAL, 2766 V-15 TAYLOR ARP 51023 - 13 $2485 | EA.
DIAL, 5-01749 H-20 ROCHESTER ARP 51023 - 11 $18.10 | EA.
DIAL, H-20 REPLACEMENT, TAYLOR ARP 51023 - 3 $14.75 | EA.
DIAL, V-18 REPLACEMENT ARP 51023 - 23 $23.70 | EA.
DIAL, V-23 REPLACEMENT ARP 51023 - 16 $23.70 | EA.
DIP TUBE, ELS / ELSS H20, H25 (BACKUP VALVE) ARP 52446 $56.85 | EA.
DIVIDER ASSEMBLY RB5 ARP 52890 $0.00 | CALL
DIVIDER BOARD, RB5 ARP 52887 $0.00 | CALL
DIVIDER CHANNEL, RB5 ARP 52888 $0.00 | CALL
DIVIDER FRAME UPPER TUBES, RB12, 33.00 IN ARP 52503 - 4 $123.75 | EA.
DIVIDER FRAME UPPER TUBES, RB12, POST ARP 52503 - 5 $164.95 | EA.
DIVIDER FRAME UPPER TUBES, RB6 BENT ARP 52502 - 2 $24430 | EA.
DIVIDER FRAME UPPER TUBES, RB6 STRAIGHT ARP 52502 - 1 $147.70 | EA.
DIVIDER FRAME UPPER TUBES, RB8 ARP 52503 - 3 $176.40 | EA.
DIVIDER FRAME UPPER TUBES, RB8, 30.75 IN ARP 52503 - 2 $123.75 | EA.
DIVIDER FRAME UPPER TUBES, RBS, 47.7 IN ARP 52503 - 1 $164.95 | EA.
DIVIDER, LOWER TUBE, LONG, RB12 ARP 53068 - 1 $138.60 | EA.
DIVIDER, LOWER TUBE, SHORT, RB12 ARP 53068 - 2 $148.70 | EA.
DIVIDER, LOWER TUBES RB6 ARP 52523 - 3 $88.10 | EA.
DIVIDER, LOWER TUBES RB6 ARP 52523 - 4 $12035 | EA.
DIVIDER, LOWER TUBES RB8 27 IN ARP 52523 - 1 $123.75 | EA.
DIVIDER, LOWER TUBES RB8 43 IN ARP 52523 - 2 $164.95 | EA.
DIVIDER, REINFORCEMENT TUBE, RB5 ARP 52889 $247.45 | EA.
D-RING 1-IN STYLE 3250 ARP 51031 - 34 $075 | EA
D-RING, 1 1/2 IN STYLE 3250 ARP 51031 - 33 $130 | EA

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




DUAL POINT REFILL ARP 51110 $56.65 EA.
ELASTIC, 1 1/2 IN BLACK ARP 51053 6 $0.00 | CALL
END FRAME RB ARP 52321 $218.50 EA.
END FRAME, RB12 ARP 53062 $227.60 EA.
END LOWER FRAME, RB12 ARP 53198 $494.85 EA.
E-RING, 1000-15 ARP 51034 10 $0.15 EA.
EYEBOLT, SLOTTED ARP 16474 $27.50 EA.
EYELET, STIMPSON A21 1 BRASS ARP 51033 1 $0.00 | CALL
FIBERGLASS SLEEVE PIEZO ARP 51027 16 $5.60 FT.
FILTER, METEX 52-0110-F071-04 ARP 51043 6 $16.80 EA.
FITTING, 1/4 TUBE / 1/4 PIPE 4-46BZ-SS ARP 51042 111 $68.50 EA.
FITTING, 3/8 X 1/4 REDUCER ARP 51042 67 $14.75 EA.
FITTING, 45 DEG. STREET ELBOW ARP 51042 78 $0.00 | CALL
FITTING, ADAPTER 3/8 TO 1/4 0107-4-6 ARP 51042 94 $7.95 EA.
FITTING, ADAPTER 45 PIPE/JIC 2023-4-4S ARP 51042 69 $9.55 EA.
FITTING, ADAPTER ELBOW 90 DEG. ARP 51042 6 $10.25 EA.
FITTING, ADAPTER PIPE/JIC 2021-4-4S ARP 51042 47 $5.30 EA.
FITTING, ADAPTER PIPE/JIC 2021-4-6S ARP 51042 15 $2.85 EA.
FITTING, ADAPTER PIPE/JIC 2022-4-4S ARP 51042 39 $5.25 EA.
FITTING, ADAPTER REDUCING 2083-6-4S ARP 51042 12 $13.90 EA.
FITTING, ADAPTER STRAIGHT 2000-4-6B ARP 51042 49 $3.65 EA.
FITTING, ADAPTOR 2001-4-6B ARP 51042 96 $5.50 EA.
FITTING, ADAPTOR 45 2023-4-6S ARP 51042 98 $15.50 EA.
FITTING, BULKHEAD ARP 51042 14 $0.00 | CALL
FITTING, CLOSE NIPPLE 2084-4S-7/8 ARP 51042 21 $11.45 EA.
FITTING, COUPLING 1/4 IN PIPE 4 PC ARP 51042 9 $7.10 EA.
FITTING, ELBOW 45 DEG. 4-4 FVE-S ARP 51042 65 $17.80 EA.
FITTING, ELBOW 45 FLARE 159F-6.4 ARP 51042 101 $9.10 EA.
FITTING, ELBOW 90 DEG BRASS 1202P-4-4 ARP 51042 95 $6.90 EA.
FITTING, ELBOW 90 DEG SWIVEL 2048-4-4S ARP 51042 91 $11.15 EA.
FITTING, ELBOW 90 DEG. 1/4 PIPE ARP 51042 2 $14.45 EA.
FITTING, ELBOW 90 DEG. SWIVEL 2047-4-4S ARP 51042 11 $14.10 EA.
FITTING, FEMALE ELBOW 2-2DBZ-B ARP 51042 17 $20.70 EA.
FITTING, FEMALE TEE (SPECIAL) 8-86 ARP 51042 13 $0.00 | CALL
FITTING, FEMALE TEE 1/4 PIPE ARP 51042 7 $20.05 EA.
FITTING, HAND NUT ARP 51042 108 $46.50 EA.
FITTING, HEX NIPPLE 2083-4-4S ARP 51042 20 $3.80 EA.
FITTING, HEX NUT #72 SUPERIOR ARP 51042 103 $5.70 EA.
FITTING, M388 POL CONNECTOR(FISCHER) ARP 51042 1 $19.25 EA.
FITTING, MALE BRANCH TEE 8-8-6SBZ ARP 51042 93 $80.85 EA.
FITTING, MALE CLOSE NIPPLE 4-4 MCHN SS ARP 51042 92 $21.20 EA.
FITTING, MALE ELBOW 2-2CBZ-B ARP 51042 18 $19.65 EA.
FITTING, MALE PIPE ELBOW ARP 51042 19 $0.00 | CALL
FITTING, MODIFIED CROSS 2080-4-4S ARP 51902 $42.35 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




FITTING, MODIFIED PIPE PLUG ARP 51470 $0.00 | CALL
FITTING, MODIFIED TEE ARP 17505 $33.05 EA.
FITTING, NIPPLE, 1/4 MNPT SHORT ARP 51042 107 $22.25 EA.
FITTING, NIPPLE, SUPERIOR SHORT ARP 51042 104 $4.80 EA.
FITTING, NUT SS 3/8 IN SS-602-1 ARP 51042 79 $9.85 EA.
FITTING, PIPE FITTING 2045-4-4S ARP 51042 38 $6.05 EA.
FITTING, PIPE NIPPLE 4-4-2MHLN-S ARP 51042 97 $12.30 EA.
FITTING, PIPE PLUG 3/4 IN 562070 ARP 51042 77 $8.30 EA.
FITTING, PLUG 1/4 PIPE ARP 51042 8 $2.05 EA.
FITTING, REDUCER ARP 51042 16 $0.00 | CALL
FITTING, REDUCER, 3/4 X 3/8 NPT ARP 51042 114 $7.60 EA.
FITTING, STREET ELBOW 45 DEG. 2088-4-4S ARP 51042 10 $8.80 EA.
FITTING, STREET ELBOW 90 DEG. ARP 51042 4 $14.05 EA.
FITTING, SWIVEL PIPE TEE ARP 51042 22 $0.00 | CALL
FITTING, UNION RESTRICTED, HPIIl UPDATE ARP 53186 $121.95 EA.
FITTING, 'W, X, Y, Z FITTING ARP 52982 $24.15 EA.
FITTING, XYZ FITTING 90 DEGREE ELBOW MODIFIED ARP 52375 $45.50 EA.
FLARE CLOTH, TEMP TABS ARP 51004 36 $0.00 | CALL
FLIGHT MANUAL ARP 0 $58.30 EA.
FLOOR, CW - ALL ARP 52556 $339.25 EA.
FLOOR, CWS - ALL ARP 52557 $378.30 EA.
FLOOR, ELS ARP 52469 $223.05 EA.
FLOOR, ELSS ARP 53085 $234.55 EA.
FLOOR, RB12 ARP 53063 $737.55 EA.
FLOOR, RB5 ARP 52884 $657.85 EA.
FLOOR, RB5 ARP 52884 $657.85 EA.
FLOOR, RB6 ARP 52508 $663.10 EA.
FLOOR, RB8 ARP 52506 $674.10 EA.
FLOOR, RWSW ARP 53023 $339.25 EA.
FOAM, 1/2 X 1 1/8 ARP 51003 55 $0.00 | CALL
FOAM, 3/4 X 1 3/8 ARP 51003 61 $0.00 | CALL
FOAM, 3/8' X 7/8' ARP 51003 1 $0.00 | CALL
FRAME, CORNER RW ARP 14684 $0.00 | CALL
FRAME, LOWER RW ARP 14532 $0.00 | CALL
FRAME, RB5 TOP PERIMETER ARP 52885 $538.70 EA.
FRAME, RB5 TOP PERIMETER ARP 52885 $538.70 EA.
FRAME, RB6 TANK TOP ARP 52500 $217.85 EA.
FRAME, TANK SUPPORT RB12 ARP 53058 $443.85 EA.
FRAME, TANK TOP, LONG, RB12 ARP 53073 $163.55 EA.
FRAME, TANK, SHORT RB8, RB12 ARP 52929 $130.85 EA.
FRAME, TOP BASKET RB6 ARP 52432 $549.70 EA.
FRAME, TOP BASKET RB8 ARP 52497 $563.20 EA.
FRAME, TOP PERIMETER, RB12 ARP 53056 $618.65 EA.
FUEL FITTING SUPPLY CWV ARP 15346 $0.00 | CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




FUEL LINE ASSEMBLY 1-H ELS ARP 52160 - 8 $384.95 | EA.
FUEL LINE ASSEMBLY 2-V ELS ARP 52160 - 9 $613.80 | EA.
FUEL LINE ASSEMBLY, DUAL 1 V/H RWSW/ CW/ CWS ARP 52160 - 11 $485.30 | EA.
FUEL LINE ASSEMBLY, DUAL 2 V RB6 ARP 52160 - 18 $54350 | EA.
FUEL LINE ASSEMBLY, DUAL 2 V/H RWSW/ CW/ CWS ARP 52160 - 10 $670.80 | EA.
FUEL LINE ASSEMBLY, DUAL 2-H RWSW/CW/CWS ARP 52160 - $519.15 | EA.
FUEL LINE ASSEMBLY, DUAL 2-V RWS/RWSW/CW/CWS ARP 52160 - 4 $45140 | EA.
FUEL LINE ASSEMBLY, DUAL 3V RB5 ARP 52160 - 16 $668.05 | EA.
FUEL LINE ASSEMBLY, DUAL 3 V RB8 ARP 52160 - 20 $778.75 | EA.
FUEL LINE ASSEMBLY, DUAL 3-V RWS/RWSW/CW/CWS ARP 52160 - 5 $660.15 | EA.
FUEL LINE ASSEMBLY, DUAL 4-V RWS/RWSW/CW/CWS ARP 52160 - 6 $857.25 | EA.
FUEL LINE ASSEMBLY, ELS BURNER V15/H20 ARP 52160 - 12 $804.60 | EA.
FUEL LINE ASSEMBLY, RB5 DOUBLE TANK 16" ARP 52892 $01.75 | EA.
FUEL LINE ASSEMBLY, RB5 SINGLE TANK 120" ARP 52891 $27040 | EA.
FUEL LINE ASSEMBLY, SINGLE 2 V/H RWSW/ CW/ CWS ARP 52160 - 14 $822.05 | EA.
FUEL LINE ASSEMBLY, SINGLE 2H CW/ CWS ARP 52160 - 15 $681.50 | EA.
FUEL LINE ASSEMBLY, SINGLE 2-V RWS/RWSW/CW/CWS ARP 52160 - 1 $645.55 | EA.
FUEL LINE ASSEMBLY, SINGLE 3-V RWS/RWSW/CW/CWS ARP 52160 - 2 $796.05 | EA.
FUEL LINE ASSEMBLY, SINGLE V/H RWSW/ CW/ CWS ARP 52160 - 13 $623.00 | EA
FUEL LINE ASSEMBLY, TRIPLE 3 V RB5 ARP 52160 - 17 $828.55 | EA.
FUEL LINE ASSEMBLY, TRIPLE 3 VV RB6 ARP 52160 - 19 $837.00 | EA.
FUEL LINE ASSEMBLY, TRIPLE 3 V RB8 ARP 52160 - 21 $866.40 | EA.
FUEL LINE BURNER ELS ARP 52472 $0.00 | CALL
FUEL LINE BURNER SINGLE ARP 15342 - 2 $160.65 EA.
FUEL LINE BURNER WITH POL ARP 13866 $0.00 | CALL
FUEL LINE BURNER, 62' ARP 15342 - 1 $162.05 EA.
FUEL LINE BURNER, 85" H-20/H-25 ARP 13864 $204.65 EA.
FUEL LINE COMBINATION CW ARP 13838 $0.00 | CALL
FUEL LINE EXTRA TANK OPT ARP 15347 $13505 | EA.
FUEL LINE EXTRA TANK RW ARP 15339 $153.35 EA.
FUEL LINE MAIN SUPPLY ARP 51081 $419.45 | EA.
FUEL LINE MAIN SUPPLY RW ARP 15341 $209.15 | EA.
FUEL LINE PILOT ARP 51078 $181.35 EA.
FUEL LINE PILOT G CW ARP 15348 $215.30 | EA
FUEL LINE PILOT RW ARP 14567 $183.55 | EA
FUEL LINE PILOT, VERT TANK DUAL ARP 15343 $164.45 | EA
FUEL LINE SUPPLY ARP 13854 $215.75 EA.
FUEL LINE SUPPLY CWV ARP 15344 $317.05 | EA
FUEL LINE SUPPLY CWV ARP 15345 $191.70 | EA
FUEL LINE, AURORA RETROFIT ARP 53039 $269.80 | EA.
FUEL LINE, BURNER 120 IN RB ARP 52520 - 3 $270.70 | EA.
FUEL LINE, BURNER 138 IN RB ARP 52520 - 4 $304.65 | EA.
FUEL LINE, BURNER 77 IN RB ARP 52520 - 6 $19150 | EA.
FUEL LINE, BURNER 85 IN RB ARP 52520 - 1 $204.65 | EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




FUEL LINE, BURNER 88 IN RB ARP 52520 5 $210.35 EA.
FUEL LINE, BURNER 97 IN RB ARP 52520 2 $227.70 EA.
FUEL LINE, COMBINATION ARP 51866 $0.00 | CALL
FUEL LINE, CROSSOVER 61 IN RB ARP 52521 2 $157.80 EA.
FUEL LINE, CROSSOVER 74 IN RB ARP 52521 1 $183.10 EA.
FUEL LINE, CW COMBINATION CGA555 ARP 52794 $0.00 | CALL
FUEL LINE, CWS COMBINATION ARP 52906 $0.00 | CALL
FUEL LINE, HYBRID ARP 51948 $123.30 EA.
FUEL LINE, MAIN RALLY DUAL ARP 51478 $0.00 | CALL
FUEL LINE, METERING VALVE 66 IN ARP 51480 1 $164.45 EA.
FUEL LINE, METERING VALVE 72 IN ARP 51480 2 $167.20 EA.
FUEL LINE, METERING VALVE 80 IN ARP 51480 3 $178.30 EA.
FUEL LINE, METERING VALVE 87 IN ARP 51480 4 $208.60 EA.
FUEL LINE, TANK HOSE 13 IN ARP 52134 9 $84.65 EA.
FUEL LINE, TANK HOSE 23 IN ARP 52134 6 $97.85 EA.
FUEL LINE, TANK HOSE 29 IN ARP 52134 3 $107.10 EA.
FUEL LINE, TANK HOSE 33 IN ARP 52134 10 $115.10 EA.
FUEL LINE, TANK HOSE 37 3/4 IN ARP 52134 4 $119.05 EA.
FUEL LINE, TANK HOSE 40 1/2 IN ARP 52134 2 $123.00 EA.
FUEL LINE, TANK HOSE 54 IN ARP 52134 5 $144.65 EA.
FUEL LINE, TANK HOSE 61 -1/2 IN ARP 52134 8 $162.05 EA.
FUEL LINE, TANK HOSE 77 IN ARP 52134 1 $191.50 EA.
FUEL LINE, TANK HOSE 94 IN ARP 52134 7 $219.35 EA.
GASKET, #1 301 28 TANK GAUGE ARP 51003 12 $1.85 EA.
GASKET, COPPER ARP 51040 55 $1.30 EA.
GAUGE, TAYLOR H-20 ARP 1245 $149.80 | EA
GAUGE, V15 GAL JA204N ARP 52125 $174.00 EA.
GAUGE, V18 GAL ARP 52125 4 $227.50 EA.
GAUGE, V23 GAL JA343A ARP 52125 $206.25 EA.
GIMBAL BLOCK ARP 52372 $54.70 EA.
GIMBAL BRACKET ARP 52349 $166.45 EA.
GIMBAL FRAME ARP 17526 $0.00 | CALL
GIMBAL LIMITER ARP 17532 $0.00 | CALL
GIMBAL RESTRAINT ARP 13092 1 $0.00 | CALL
GIMBAL SPRING END PLATE ARP 52348 $94.05 EA.
HAND ROLLER ARP 51253 $99.90 EA.
HAND WHEEL & INSERT 800-35-1 ARP 51040 6 $9.50 EA.
HANDLE, GLOW BURNER ARP 53035 $87.25 EA.
HANDLE, GONDOLA ARP 14364 $24.30 EA.
HANDLE, HPIIl TRIPLE ARP 52994 $887.70 EA.
HANDLE, PILOT VALVE ARP 52360 $49.45 EA.
HANDRAIL CONNECTOR FTG ARP 51083 $0.00 | CALL
HOLD DOWN PLATE, BLAST VALVE ARP 52343 $21.35 EA.
IGNITOR, PIEZO W/FIBERGLASS SLEEVE ARP 52822 $159.05 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




INSTRUMENT BRACKET W/SCREWS (BALL M57A) ARP 53216 $0.00 | CALL
INSTRUMENT MOUNT, M57 BASKET ARP 53221 $0.00 | CALL
INSTRUMENT MOUNT, M57 SUPERSTRUCTURE ARP 53222 $0.00 | CALL
INTERFACE TUBE, ELS/ELSS ALUMINUM ARP 52450 1 $53.65 | EA.
INTERFACE TUBE, ELS/ELSS STAINLESS STEEL ARP 52450 2 $102.70 | EA
KNEE PAD, BACK SIDE RB12, CORNER 3 ARP 53071 1 $0.00 | CALL
KNEE PAD, BACK SIDE RB12, CORNER 4 ARP 53071 2 $0.00 | CALL
KNEE PAD, FRONT SIDE RB12, CORNER 1 ARP 53072 1 $0.00 | CALL
KNEE PAD, FRONT SIDE RB12, CORNER 2 ARP 53072 2 $0.00 | CALL
KNEE PAD, RB5 ARP 52896 $0.00 | CALL
KNEE PAD, RB8 BACKSIDE CORNER 3 ARP 52701 1 $0.00 | CALL
KNEE PAD, RB8 BACKSIDE CORNER 4 ARP 52701 2 $0.00 | CALL
KNEE PAD, RB8 FRONTSIDE CORNER 1 ARP 52702 1 $0.00 | CALL
KNEE PAD, RB8 FRONTSIDE CORNER 2 ARP 52702 2 $0.00 | CALL
KNEEPAD, CENTER, RB-6 ARP 52716 $0.00 | CALL
KNEEPAD, CORNERS 1 & 4, RB-6 ARP 52714 $0.00 | CALL
KNEEPAD, CORNERS 2 & 3, RB-6 ARP 52715 $0.00 | CALL
KNOB, BALL REPLACEMENT (SERVICE LETTER 113) ARP 51023 22 $000 | NC
KNOB, BLACK CR-2-ST ARP 51040 31 $0.00 | CALL
KNOB, GREEN PILOT PHEN-4J-P5 ARP 51040 18 $17.60 | EA.
KNOB, METERING ARP 52344 $68.70 | EA.
KNOB, RED METER PHEN-4J-P5 ARP 51040 17 $1825 | EA.
LEAD ASSEMBLY RX6/RX7/S49/S51/S52/S53/S55 ARP 51677 1 $0.00 | CALL
LEAD ASSEMBLY RX8/RXS8/RX9/S57/S60/S66 ARP 51677 2 $0.00 | CALL
LEAD ASSEMBLY S49A ARP 51677 4 $0.00 | CALL
LEAD ASSEMBLY S71 A/ST7A/S81 A ARP 51677 3 $0.00 | CALL
LEAD, LOWER DAI ICHU ARP 51684 22 $332.00 | EA
LEAD, LOWER DAI ICHU ARP 52310 2 $0.00 | CALL
LEAD, LOWER SWITCHCRAFT ARP 51684 1 $267.25 | EA.
LEAD, LOWER SWITCHCRAFT ARP 52310 1 $0.00 | CALL
LEAD, UPPER CA-6-100 LARGE ARP 51155 3 $0.00 | CALL
LEAD, UPPER ENVELOPE, 100 ARP 52280 3 $0.00 | CALL
LEAD, UPPER ENVELOPE, 100’ ARP 51683 3 $566.85 | EA.
LEAD, UPPER ENVELOPE, 125' ARP 51683 4 $61255 | EA.
LEAD, UPPER ENVELOPE, 62' ARP 51683 5 $47755 | EA.
LEAD, UPPER ENVELOPE, 70' ARP 52280 1 $0.00 | CALL
LEAD, UPPER ENVELOPE, 70 ARP 51683 1 $496.95 | EA.
LEAD, UPPER ENVELOPE, 82" ARP 52280 2 $0.00 | CALL
LEAD, UPPER ENVELOPE, 82 ARP 51683 2 $536.90 | EA.
LEAD, UPPER RGCA-6-82 S-60A ARP 51155 2 $0.00 | CALL
LEAD, UPPER RGCCCA-6-70 S-55A ARP 51155 1 $0.00 | CALL
LEATHER, MOCCASIN COWHIDE ARP 51006 2 $0.00 | CALL
LINK TRIANGLE MS522020-1 FC87 ARP 51031 36 $0.00 | CALL
LOAD FITTING 4 POINT ARP 52128 $46.00 | EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




LOAD FITTING STANDARD ELS/ELSS ARP 52452 $120.95 EA.
LOAD FITTING, CARABINER ELS/ELSS ARP 52456 $130.35 EA.
LOCKING WRENCH ARP 51406 $0.00 | CALL
LOWER LINE ASSEMBLY, 40 FT ARP 53108 - 4 $0.00 | CALL
LOWER LINE ASSEMBLY, 48 FT ARP 53108 - 1 $0.00 | CALL
LOWER LINE ASSEMBLY, 52 FT ARP 53108 - 3 $0.00 | CALL
LOWER LINE ASSEMBLY, 54 FT ARP 53108 - 2 $0.00 | CALL
LOWER LINE ASSEMBLY, 60 FT ARP 53108 - 10 $0.00 | CALL
LOWER LINE ASSEMBLY, 64 FT ARP 53108 - 5 $0.00 | CALL
LOWER LINE ASSEMBLY, 70 FT ARP 53108 - 7 $0.00 | CALL
LOWER LINE ASSEMBLY, 82 FT ARP 53108 - 9 $0.00 | CALL
LOWER LINE ASSEMBLY, 88 FT ARP 53108 - 8 $0.00 | CALL
LOWER LINE ASSEMBLY, 97 FT ARP 53108 - 6 $0.00 | CALL
LOWER LINE ONLY, 40 FT ARP 53108 - 504 | $302.60 EA.
LOWER LINE ONLY, 48 FT ARP 53108 - 501 | ¢321.35 EA.
LOWER LINE ONLY, 52 FT ARP 53108 - 503 | $330.70 EA.
LOWER LINE ONLY, 54 FT ARP 53108 - 502 | 433540 EA.
LOWER LINE ONLY, 60 FT ARP 53108 - 510 $349.50 EA.
LOWER LINE ONLY, 64 FT ARP 53108 - 505 | $360.40 EA.
LOWER LINE ONLY, 70 FT ARP 53108 - 507 | $372.90 EA.
LOWER LINE ONLY, 82 FT ARP 53108 - 509 | $401.05 EA.
LOWER LINE ONLY, 88 FT ARP 53108 - 508 | $415.40 EA.
LOWER LINE ONLY, 97 FT ARP 53108 - 506 | g590.35 EA.
LUBRICANT, KRYTOX ARP 51008 - 52 $260.50 EA.
LUBRICANT, TRI-FLOW ARP 51008 - 48 $0.00
MINITRIM, BLACK ARP 51052 - 3 $0.00 | CALL
NITROGEN PRESSURIZATION KIT ARP 52266 $0.00

NOZZLE COIL W/ASPIRATOR ARP 17527 - 1 $0.00 | CALL
NOZZLE, AUXILARY HEATER ARP 15375 $52.90 EA.
NOZZLE, GLOW ARP 52983 $268.40 | EA
NUT, 10-32 CAPNUT ESAN 22 NKM2 ARP 51015 - 2 $6.00 EA.
NUT, HEX 1/4-20 ARP 51015 - 20 $0.00 | CALL
NUT, HEX 5/16-18 ARP 51015 - 38 $0.10 EA.
NUT, HEX 6-32 ARP 51015 - 4 $0.15 | EA
NUT, HEX 6-32 SS ARP 51015 - 39 $0.20 EA.
NUT, JAM BRASS 450-8 ARP 51016 - 16 $6.70 EA.
NUT, LOCKING 1/4 - 20 ARP 51015 - 3 $0.20 EA.
NUT, LOCKING 2-56 ARP 51015 - 35 $1.45 EA.
NUT, LOCKING 42NKE-048 ARP 51015 - 12 $1.95 EA.
NUT, LOCKING 4-40 KEPS ARP 51015 - 41 $0.30 EA.
NUT, LOCKING 5/16-18 ESNA ARP 51015 - 37 $0.20 EA.
NUT, LOCKING MS20365-1032C ARP 51015 - 36 $1.60 EA.
NUT, LOCKING MS20365-428A ARP 51015 - 10 $1.45 EA.
NUT, LOCKING, 3-48 ESNA 22NM-38 ARP 51015 - 16 $0.00 | CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




NUT, MS20365-1032A 10-32 ARP 51015 1 $1.05 EA.
NUT, MS20365-428C 1/4-28 ARP 51015 17 $2.35 EA.
NUT, MS20365-524C 5/16 -24 ARP 51015 7 $5.55 EA.
NUT, MS20365-624C 3/8-24 ARP 51015 18 $0.00 | CALL
NUT, MS20500-1 032 HI TEMP ARP 51015 19 $5.35 EA.
NUT, S.S. JAM NUT ARP 51016 13 $0.00 | CALL
NUT, SPEED ARDEN C8044-1024-3B ARP 51016 4 $1.15 EA.
NUT, TEE 1/4-20 ARP 51016 11 $0.00 | CALL
NUT, THIN 21NTE-040 ESNA ARP 51015 24 $0.10 EA.
NUT, WING 10-32 SS ARP 51016 3 $0.80 EA.
NYLON LACING, #381 TASLN, ST/684 BLACK/BROWN ARP 51007 17 $0.30 FT.
ORIFICE UPDATE [M]PILOT ARP 52153 $12.65 EA.
O-RING, (CARABINER CABLE ASSEMBLY) ARP 51034 12 $0.65 EA.
O-RING, .379 IDX.103W SPEC 70BN ARP 51034 8 $4.40 EA.
O-RING, 2-109-N103-7 ARP 51034 7 $1.05 EA.
O-RING, BACKUP REGO (TEFLON SPLIT RING) ARP 51034 5 $1.95 EA.
O-RING, BLAST VALVE ARP 52357 $2.25 EA.
O-RING, MARSHALL BRASS HANDTURN ARP 51034 11 $1.25 EA.
O-RING, PILOT VALVE ARP 51034 6 $0.55 EA.
O-RING, REGO HANDTURN ARP 51034 3 $0.00 | CALL
O-RING, REGULATOR, LARGE ARP 51034 17 $1.10 EA.
O-RING, REGULATOR, SMALL ARP 51034 16 $0.60 EA.
O-RING, T1 2945 FISCHER HANDTURN ARP 51034 4 $1.35 EA.
OUTER BUMPER CANE SPLICE ARP 17768 $23.70 EA.
OVERSLEEVE, RB ARP 53034 1 $142.00 EA.
OVERSLEEVE, RB ARP 53034 2 $142.10 EA.
OVERSLEEVE, RB ARP 53034 3 $112.50 EA.
OVERSLEEVE, RB ARP 53034 4 $112.50 EA.
PILOT HEAD ARP 51907 $109.20 | EA
PILOT HEAD ASSEMBLY ARP 51901 $0.00 | CALL
PILOT ORIFICE DRILLED ARP 16557 $0.00 | CALL
PIN, 7/32 X 1 3/4 TYPE 24 SS ARP 51011 24 $1.00 EA.
PIN, 7/32 X 3/4 TYPE 2A SS ARP 51011 25 $0.95 EA.
PIN, AVIBANK 55964 QUICK RELEASE ARP 52120 $66.85 EA.
PIN, GLOW HANDLE ARP 52359 $12.05 EA.
PIN, PILOT HANDLE ARP 52359 4 $13.00 EA.
PIN, QUICK RELEASE WITH RETAINER ARP 52163 $92.50 EA.
PIN, TRIGGER ARP 52396 $7.05 EA.
PIN, WIRE LOCK, S.S. (STAMPED 'S") ARP 53090 $7.35 EA.
PIN, WIRE LOCK, S.S. W/LANYARD (STAMPED 'S') ARP 53105 $57.10 EA.
PIN, WIRE LOCK, STEEL (STAMPED 'A)) ARP 53091 $2.40 EA.
PLATE ARP 17212 $2.60 EA.
PLATFORM SUPPORT RB6 ARP 52517 $79.90 EA.
PLATFORM SUPPORT RB8 ARP 52518 $85.35 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




PLATFORM SUPPORT, PILOT, RB12 ARP 53067 $93.75 EA.
PLATFORM, PILOT RB6 ARP 52509 $162.05 EA.
PLATFORM, PILOT RB8 ARP 52510 $173.05 EA.
PLATFORM, PILOT, RB12 ARP 53066 $191.25 EA.
PLUG, 7/8 HOLE 62PP087BM11 ARP 51040 42 $0.40 EA.
PLUG, BUTTON ARP 51040 7 $0.60 EA.
POLY CARB WICKER SPLICE ARP 52403 $29.30 EA.
POP RIVET AD 44BS ARP 51012 1 $0.30 EA.
POP RIVET AD 48BS ARP 51012 3 $0.25 EA.
POP RIVET AD42BS ARP 51012 5 $0.20 EA.
POROSITY TESTER ARP 52234 $691.90 EA.
POROSITY TESTER, GAUGE ONLY ARP 51043 28 $174.65 EA.
PRESSURE GAGE, 0-300 PSI, 2' ARP 51043 10 $51.00 EA.
PRESSURE GAUGE KIT (REPLACEMENT WIKA) ARP 52727 $291.55 EA.
PRESSURE GAUGE, ASSEMBLY ARP 52726 $0.00 | CALL
PULLEY ASSEMBLY 1/2 INCH ARP 51980 $139.50 EA.
QUICK RELEASE PIN 56630-367 AVIBANK ARP 51011 1 $44.15 EA.
QUICK RELEASE PIN BLS3B168 ARP 51011 19 $79.75 EA.
QUICK RELEASE PIN, 2 PT CW / CWS ARP 16482 $74.00 EA.
RAPID LINK, SS 1/4 SS ARP 51031 64 $23.55 EA.
RAPID LINK, SS 3/16 ARP 51031 63 $11.40 EA.
RB12 PARTITION HALF ASSEMBLY ARP 52515 5 $0.00 | CALL
RB12 PARTITION HALF ASSEMBLY ARP 52515 6 $0.00 | CALL
RB6 PARTITION HALF ASSEMBLY ARP 52515 3 $0.00 | CALL
RB6 PARTITION HALF ASSEMBLY ARP 52515 4 $0.00 | CALL
RB8 PARTITION HALF ASSEMBLY ARP 52515 1 $0.00 | CALL
RB8 PARTITION HALF ASSEMBLY ARP 52515 2 $0.00 | CALL
REFILL TEE ONLY, DUAL POINT ARP 51042 46 $12.65 EA.
REFUELING ADAPTER, SINGLE POINT ARP 16659 $39.65 EA.
REFUELING ADAPTER, TRIPLE ARP 53076 $65.55 EA.
REGULATOR PISTON ARP 51043 26 $0.00 | CALL
REGULATOR, FEMALE FITTING ARP 53285 $62.05 EA.
REGULATOR, MALE FITTING ARP 53286 $55.10 EA.
REGULATOR, SHIM WASHER ARP 51017 43 $2.10 EA.
REGULATOR, STEM SEAL ARP 53287 $0.20 EA.
RETAINER TAB ONLY ARP 52161 $3.40 EA.
RETROFIT KIT, GLOW DUAL ARP 53010 $0.00 | CALL
RETROFIT KIT, GLOW SINGLE ARP 53009 $0.00 | CALL
RETROFIT, RED STRAP ARP 52263 $0.00 | CALL
RIB, MEDIUM STEP ARP 52975 $66.55 EA.
RIB, RB SHORT STEP ARP 52886 $60.95 EA.
RIB, RB SHORT STEP ARP 52886 $60.95 EA.
RIB, RWS STEP ARP 52928 $43.55 EA.
RIB, SHORT STEP, RB12 ARP 53060 $64.55 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




RIB, STAINLESS STEEL CW, CWS, RWSW ARP 51883 $64.55 EA.
RIB, STEP, LONG RWS ARP 53079 $18.60 EA.
RIB, STIFFENER RB ARP 52566 $64.55 EA.
RIB, TALL STEP ARP 52976 $73.00 EA.
RING WELDMENT ARP 52233 - 1 $12.90 EA.
RING, APEX HEAVY (S77/S81) ARP 52123 - 2 $138.75 EA.
RING, APEX RX7/RX8 ARP 52402 $25.05 EA.
RING, APEX STANDARD ARP 52123 - 1 $0.00 | CALL
RING, FORGECRAFT 5011 ARP 51031 - 55 $0.00 | CALL
RING, STEEL .25 X 2 IN HD-1-N2 ARP 51031 - 37 $1.10 EA.
RING, STEEL 1 IN HD-1-N1 ARP 51031 - 13 $0.85 EA.
RIVNUT, 10-32 ARP 51016 - 5 $0.00 | CALL
ROLL PIN 3/16 X 1 1/4 ARP 51011 - 13 $0.15 EA.
ROLL PIN 3/16 X 1 IN ARP 51011 - 20 $0.30 EA.
ROLL PIN 5/32 X 5/8 PLTD ARP 51011 - 17 $0.20 EA.
ROPE COLLET, 2 IN CASTER ARP 52792 $8.60 EA.
ROPE, 1/2 ' BLACK, INSIDE HANDLE ARP 51007 - 18 $1.30 EA.
ROPE, 1/2 IN 2 'N 1 POLY STABLE BRAID ARP 51047 - 66 $0.00 | CALL
ROPE, 1/2 IN SOLID BRAID W/KEVLAR, RED ARP 51047 - 63 $0.00 | CALL
ROPE, 1/2 SAMSON POWER BRAID ARP 51007 - 6 $0.00 | CALL
ROPE, 1/4 IN BLUE SOLID BRAID ARP 51047 - 72 $0.60 FT.
ROPE, 1/4 IN NYLON SOLID BRAID ARP 51047 - 62 $0.35 FT.
ROPE, 1/4 IN YELLOW SOLID BRAID ARP 51047 - 73 $0.60 FT.
ROPE, 3/8 IN NYLON SOLID BRAID (CROWN LINE) ARP 51047 - 65 $0.65 FT.
ROPE, 5/16 BADGER 3 STRAND TAN POLY ARP 51007 - 1 $0.25 FT.
ROPE, 5/16 NYLON W/ KEVLAR CORE ARP 51940 $0.00 | CALL
ROPE, KEXLON 1 3/16 IN KEVLAR ARP 51047 - 77 $1.80 FT.
SAFETY WALK, 2' ARP 51054 - 49 $3.00 FT.
SCREW, 1/4-20 X 1/2 BH CAP SOC SCREW ARP 51013 - 88 $0.65 EA.
SCREW, 1/4-20 X 2 HEX HD GRADE 5 ARP 51013 - 91 $0.30 EA.
SCREW, 1/4-28 X 2 3/4 HEX HEAD ARP 51013 - 107 $1.90 EA.
SCREW, 10-32 X 1 1/2 HEX HEAD SS ARP 51013 - 40 $1.90 EA.
SCREW, 10-32 X 1/2 HX SOC SET ARP 51014 - 25 $0.35 EA.
SCREW, 10-32 X 1/2 SQUARE DRIVE PAN HEAD ARP 51013 - 113 $0.40 EA.
SCREW, 10-32 X 3/4 SQUARE DRIVE PAN HEAD ARP 51013 - 115 $0.40 EA.
SCREW, 4-40 X 1/4 SS BUTTON HEAD SOC CAP ARP 51013 - 117 $0.20 EA.
SCREW, 5/16 X 3-1/2 LAG SS ARP 51013 - 68 $2.85 EA.
SCREW, 6-32 X 14 SS BUTTON HEAD SOC CAP ARP 51013 - 106 $0.55 EA.
SCREW, 8-32 X 1/2 SOC HD CAP ARP 51013 - 90 $0.40 EA.
SCREW, 8-32 X 3/16 NYLON HEX HEAD ARP 51014 - 26 $0.15 EA.
SCREW, AN509-416-27 1/4 IN FLAT HEAD ARP 51013 - 53 $6.75 EA.
SCREW, DRIVE #4 X 1/4 TYPE U ARP 51014 - 6 $0.10 EA.
SCREW, FLAT END SET 3/8-16 X 5/8 ARP 51014 - 21 $0.75 EA.
SCREW, FLAT HD 1/4-20 X 3 1/2 PL/ST ARP 51013 - 16 $0.55 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




SCREW, FLAT HEAD MACHINE 10-32 X 5/8 ARP 51013 75 $0.20 EA.
SCREW, MACHINE 10-32 X 3/4, MS51958-65 ARP 51013 37 $0.80 EA.
SCREW, MACHINE 10-32 X 3/8, MS51958-61 ARP 51013 48 $1.60 EA.
SCREW, MACHINE 10-32 X 5/8, MS51958-64 ARP 51013 36 $0.80 EA.
SCREW, MACHINE 6 - 32 X 5/8 ARP 51013 15 $0.20 EA.
SCREW, MACHINE MS51958-63 ARP 51013 7 $1.20 EA.
SCREW, MS24694-S104 ARP 51013 97 $4.45 EA.
SCREW, MS24694-S112 ARP 51013 98 $16.25 EA.
SCREW, MS51 957-128 8-32 X 7/8 ARP 51013 60 $0.45 EA.
SCREW, PAN HD 2-56 X 1IN ARP 51013 84 $0.25 EA.
SCREW, PAN HEAD 10-24 X 3/8 ARP 51013 50 $0.80 EA.
SCREW, PANHEAD 10-24 X 1/2 IN ARP 51013 69 $0.15 EA.
SCREW, SOC HEAD CAP 8-32 X 5/8 SS ARP 51013 89 $0.35 EA.
SCREW, WOOD #12 X 3' SQUARE DRIVE ARP 51014 34 $0.65 EA.
SCREW, WOOD #8 X 1 ARP 51014 13 $0.15 EA.
SCREW, WOOD 8 X 5/8 SQUARE DRIVE ARP 51014 22 $0.10 EA.
SCREW, WOOD COMBINATION #8 X 5/8 ARP 51014 33 $0.20 EA.
SCREW, WOOD FLAT HEAD SQUARE DRIVE #12 X 2' ARP 51014 29 $0.30 EA.
SCREW, WOOD SQUARE DRIVE #8 X 1 3/4 ARP 51014 28 $0.15 EA.
SCUFF PAD, CORNER RWSW CW CWS ARP 51131 76 $0.00 | CALL
SCUFF PAD, LONG SIDE CW ARP 51131 73 $0.00 | CALL
SCUFF PAD, LONG SIDE CWS ARP 51131 75 $0.00 | CALL
SCUFF PAD, LONG SIDE RWSW ARP 51131 77 $0.00 | CALL
SCUFF PAD, SHORT SIDE RWSW CW CWS ARP 51131 74 $0.00 | CALL
SIDE BRACE, RW ARP 12575 $0.00 | CALL
SIDE FRAME CWS 4 PT S.S. ARP 52141 3 $217.80 EA.
SIDE FRAME, ALUM. ELS/ELSS ARP 52445 $153.15 EA.
SIDE FRAME, LOWER RB ARP 51100 $134.20 EA.
SIDE FRAME, RB12 ARP 53057 $190.50 EA.
SIDE FRAME, RB5 ARP 52807 $109.05 | EA
SIDE FRAME, RB6, RB8 ARP 51079 2 $167.00 EA.
SIDE FRAME, RWS/RWSW/CW ALUMINUM ARP 52126 1 $0.00 | CALL
SIDE FRAME, RWS/RWSW/CW SS 4 PT ARP 52126 3 $210.45 EA.
SIDE FRAME, STAINLESS STEEL ELS/ELSS ARP 52445 4 $209.75 EA.
SKID GUARD, POLY CW LONG SIDE ARP 52412 1 $180.10 EA.
SKID GUARD, POLY CW SHORT SIDE ARP 52412 2 $164.10 EA.
SKID GUARD, POLY CWS LONG SIDE ARP 52413 $188.15 EA.
SKID GUARD, POLY ELS LONG ARP 53094 $108.65 EA.
SKID GUARD, POLY ELS SHORT ARP 53092 $100.60 | EA
SKID GUARD, POLY ELSS LONG ARP 53086 $124.65 EA.
SKID GUARD, POLY LONG RW ARP 52406 1 $121.55 EA.
SKID GUARD, POLY LONG RWS ARP 52407 1 $125.60 EA.
SKID GUARD, POLY LONG SIDE RB6 ARP 52528 $162.75 EA.
SKID GUARD, POLY LONG SIDE RB8 ARP 52525 $233.10 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




SKID GUARD, POLY RB5 CENTER ARP 52895 $46.10 | EA.
SKID GUARD, POLY RB5 LONG ARP 52894 $82.40 | EA.
SKID GUARD, POLY RB5 SHORT ARP 52893 $51.30 | EA.
SKID GUARD, POLY RWSW, LONG ARP 53053 $119.30 | EA.
SKID GUARD, POLY SHORT RW ARP 52406 - 2 $109.30 | EA.
SKID GUARD, POLY SHORT RWS ARP 52407 - 2 $100.60 | EA.
SKID GUARD, POLY SHORT SIDE RB ARP 52527 $137.00 | EA.
SKID GUARD, POLY, RB CENTER ARP 52516 $52.10 | EA.
SKID GUARD, POLY, RWSW SHORT ARP 53109 $110.60 | EA.
SKID GUARD, UHMW CW SHORT, REV AA AND OLDER ARP 52414 - 2 $0.00 | CALL
SKID GUARD, UHMW LONG, CW REV AA AND OLDER ARP 52414 - 1 $0.00 | CALL
SKID GUSSET, CORNER ARP 53045 $0.00 | CALL
SKID, CENTER CW/CWS (OLD STYLE) ARP 51132 - 10 $0.00 | CALL
SKID, CENTER CW/CWS NEW ARP 52547 $148.40 | EA
SKID, CENTER RB ARP 52512 $239.95 EA.
SKID, CENTER RB5 ARP 52883 $176.50 | EA.
SKID, CENTER RB5 ARP 52883 $176.50 | EA
SKID, CENTER RWSW ARP 53022 $193.60 EA.
SKID, LONG BACK RB8, RB12 ARP 52514 $592.00 | EA.
SKID, LONG CW ARP 52542 $270.85 EA.
SKID, LONG CWS NEW ARP 52550 $311.05 EA.
SKID, LONG ELS ARP 52454 $199.15 EA.
SKID, LONG FRONT RB8, RB12 ARP 52505 $495.20 EA.
SKID, LONG RB5 ARP 52880 $380.65 EA.
SKID, LONG RB5 ARP 52880 $380.65 EA.
SKID, LONG RB6 ARP 52504 $402.30 EA.
SKID, LONG SIDE CW (OLD STYLE) ARP 51132 - 7 $0.00 | CALL
SKID, LONG SIDE CWS (OLD STYLE) ARP 51132 - 8 $0.00 | CALL
SKID, LONG SIDE ELSS ARP 53084 $259.20 EA.
SKID, LONG SIDE RWSW ARP 53020 $237.85 EA.
SKID, LONG, RW ARP 50000 - 10 $0.00 | CALL
SKID, LONG, RWS ARP 50000 - 6 $149.80 EA.
SKID, SHORT CW/CWS ARP 52541 $253.45 | EA.
SKID, SHORT ELS/ELSS ARP 52455 $161.95 EA.
SKID, SHORT END CW/CWS (OLD STYLE) ARP 51132 - 9 $0.00 | CALL
SKID, SHORT RB12 ARP 53199 $276.90 | EA.
SKID, SHORT RB5 ARP 52881 $256.75 | EA.
SKID, SHORT RB5 ARP 52881 $256.75 | EA.
SKID, SHORT RB6, RB8 ARP 52511 $276.90 | EA.
SKID, SHORT SIDE RWSW ARP 53021 $235.75 | EA.
SKID, SHORT, RW ARP 50000 - 11 $0.00 | CALL
SKID, SHORT, RWS ARP 50000 - $140.55 EA.
SKID, SUBSTRATE, LONG, RW ARP 50000 - $0.00 | CALL
SKID, SUBSTRATE, LONG, RWS ARP 50000 - 4 $13335 | EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




SKID, SUBSTRATE, SHORT, RW ARP 50000 8 $0.00 | CALL
SKID, SUBSTRATE, SHORT, RWS ARP 50000 3 $138.55 EA.
SKIRT HEM, FABRIC WHITE 10 OZ ARP 53655 2 $21.80 YD.
SKIRT HOOP KIT STANDARD ARP 51131 51 $173.45 EA.
SKIRT HOOP S77A, S81A ARP 51131 53 $223.75 EA.
SKIRT HOOP SMALL, S49A ARP 51131 54 $173.45 EA.
SLEEVE, 1/8 OVAL COPPER 5005-4 ARP 51037 2 $1.90 EA.
SLEEVE, 3/32 OVAL COPPER 5005-3 ARP 51037 7 $1.25 EA.
SLUG, PILOT ARP 51909 $7.00 EA.
SNAP HOOK #200-1-1/2 ARP 51031 32 $4.70 EA.
SNAP RING ARP 51034 9 $0.00 | CALL
SPACER KIT, METERING VALVE ARP 51043 42 $34.90 EA.
SPACER, BLAST VALVE ARP 52389 $10.85 EA.
SPACER, COLLAR RB ARP 53093 $4.55 EA.
SPACER, FLOOR / SKID, RB12 ARP 53064 $253.45 EA.
SPACER, GIMBAL ARP 13136 $0.00 | CALL
SPACER, GIMBAL ARP 13136 3 $0.00 | CALL
SPACER, GIMBAL ARP 52374 $10.95 EA.
SPACER, GIMBAL BRACKET, HP3S ARP 53192 $14.85 EA.
SPACER, TEFLON PILOT VALVE ARP 51017 30 $1.55 EA.
SPRING CUP 1/2 ARP 52371 $25.35 EA.
SPRING CUP 9/32 IN ARP 52378 $23.25 EA.
SPRING EXTENSION HPI ARP 14971 1 $6.50 EA.
SPRING STEEL, .094 X 1/2 ARP 51001 7 $0.00 | CALL
SPRING, EXTENSION LEE LE-069F-6S ARP 14971 3 $6.50 EA.
SPRING, EXTENSION LEE LE-069G-5SS ARP 14971 5 $6.50 EA.
SPRING, GIMBAL ARP 52355 $9.50 | EA.
SPRING, GLOW HANDLE ARP 51043 53 $21.65 EA.
SQUARE TUBE, HP2R ARP 17554 $0.00 | CALL
SQUARE TUBE, HP2R DUAL INLET ARP 51479 $0.00 | CALL
SQUARE TUBE, HPIl GIMBALLED ARP 17525 1 $0.00 | CALL
SQUARE TUBE, HPIl NON-GIMBALLED ARP 17525 2 $0.00 | CALL
SQUARE TUBE, HPIIl DUAL ARP 52368 $391.90 EA.
SQUARE TUBE, HPIII SINGLE ARP 52377 $434.60 EA.
SQUARE TUBE, HPIIl TRIPLE ARP 52986 $554.45 EA.
STABILIZER BRACE, CW/CWS/RWSW ARP 53111 $242.65 EA.
STEP RIB BACKER, LONG, RB12 ARP 53061 2 $132.60 EA.
STEP RIB BACKER, SHORT, RB12 ARP 53061 1 $132.60 EA.
STEP STIFFENER, LOWER ARP 52145 $26.05 EA.
STEP, FRAME ARP 51101 1 $161.70 EA.
STEP, LEATHER COVER ARP 51101 2 $0.00 | CALL
STEP, LEATHER COVER ARP 51101 3 $0.00 | CALL
STRAP ASSEMBLY, 10 GAL TANK ARP 52287 $0.00 | CALL
STRAP ASSY TANK V15 /V18 ARP 14571 $78.65 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




STRAP ASSY V23 TANK RB ARP 52526 $114.10 EA.
STRAP HOLDER CW/CWS H20 ARP 13846 $68.05 EA.
STRAP HOLDER RWSW H20 ARP 53043 $64.85 EA.
STRAP, RW H-20 ARP 11127 - 8 $0.00 | CALL
STRAP, RW H-20 W/BUCKLE ARP 11127 - 9 $0.00 | CALL
STRAP, TANK H20 W/BUCKLE ARP 12593 - 5 $73.00 EA.
STRAP, TANK H20 W/O BUCKLE ARP 12593 - 4 $46.15 EA.
SUEDE SIDE RAIL CW(OLD STYLE) ARP 51132 - 3 $0.00 | CALL
SUEDE SIDE RAIL CWS (OLD STYLE) ARP 51132 - 4 $0.00 | CALL
SUPPORT FITTING, 4 PT CARABINER ARP 52796 $135.65 EA.
SUPPORT TUBE ASSY RW ARP 12576 $0.00 | CALL
SUPPORT TUBE CW 2 PT STAINLESS ARP 13858 - 2 $0.00 | CALL
SUPPORT TUBE RW ARP 12760 $0.00 | CALL
SUPPORT TUBE, ALUM. ELS/ELSS ARP 52444 - 3 $260.15 EA.
SUPPORT TUBE, CW/CWS ALUMINUM 4 PT ARP 52555 - 1 $0.00 | CALL
SUPPORT TUBE, CW/CWS SS .083 WALL 4 PT ARP 52555 - 3 $414.00 EA.
SUPPORT TUBE, RB5 ARP 52804 $353.65 EA.
SUPPORT TUBE, RB6, RB8, RB12 ARP 51080 - 4 $846.00 EA.
SUPPORT TUBE, RWS 4 PT ALUMINUM ARP 52127 - 1 $0.00 | CALL
SUPPORT TUBE, RWS SS 4 PT ARP 52127 - 3 $410.40 EA.
SUPPORT TUBE, STAINLESS STEEL ELS/ELSS ARP 52444 - 4 $358.75 EA.
TAB, REINFORCEMENT ARP 52499 $24.15 EA.
TANK BASE, HORIZONTAL ARP 53006 $83.30 EA.
TANK PAD, 15 GAL (OLD RWS) ARP 52136 - 12 $0.00 | CALL
TANK SHOE ARP 52985 - 1 $109.00 EA.
TANK SHOE BASE, LOWER RB5 ARP 53077 - 1 $0.00 | CALL
TANK SHOE BASE, UPPER RB5 ARP 53077 - 2 $0.00 | CALL
TANK SHOE-RWS ONLY ARP 52985 - 2 $109.00 | EA
TANK SUPPORT, RB6, RB8 ARP 52438 $673.40 EA.
TEFLON TIP, SUPERIOR NIPPLE ARP 51042 - 109 $7.35 EA.
TEMP TAB OMEGALABLE 4B-225 ARP 51054 - 33 $7.65 EA.
TEMPERATURE SENSOR ARP 51686 $116.95 EA.
TETHER SYSTEM 4 POINT HOOKUP, 3 LEG ARP 51050 - 6 $0.00 | CALL
TETHER SYSTEM SINGLE LINE ARP 51050 - 7 $0.00 | CALL
THIMBLE 3/16 SS, RALLY FRAME ARP 51037 - 16 $3.00 EA.
THIMBLE, 1/8 AN100-4 ARP 51037 - 4 $0.55 EA.
THIMBLE, 1/8 SS #3231 ARP 51037 - 10 $0.00 | CALL
THIMBLE, 3/32 AN100-3 ARP 51037 - 5 $0.65 EA.
THREAD, BOBBINS SIZE E, BLACK ARP 51046 - 22 $0.00 | CALL
THREAD, BOBBINS SIZE E, WHITE (144) ARP 51046 - 9 $126.85 | GR.
THREAD, BOBBINS SIZE F, BLACK (144) ARP 51046 - 23 $151.50 | GR.
THREAD, BOBBINS SIZE F, WHITE ARP 51046 - 19 $0.00 | CALL
THREAD, NOMEX FIRE RETARDANT ARP 51046 - 8 $387.95 EA.
THREAD, VT285 T1 C1 SIZE E BLACK ARP 51046 - 20 $97.70 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




THREAD, VT285 T1 C1 SIZE E WHITE ARP 51046 - 2 $81.45 EA.
THREAD, VT285 T1 C1 SIZE F BLACK ARP 51046 - 21 $100.65 EA.
THREAD, VT285 T1 C1 SIZE F WHITE ARP 51046 - 1 $94.90 EA.
TIE WRAP WITH SNAP ARP 51115 $0.00 | CALL
TOP FRAME SUPPORT FITTING, RB-12 ARP 53204 $273.85 EA.
TORSION SPRING, TOPCAP ARP 51874 $40.25 EA.
TRAY BURNER ARP 17504 $0.00 | CALL
TRAY, A HPIIl TRIPLE ARP 52990 $202.90 EA.
TRAY, B HPIII TRIPLE ARP 52991 $275.15 EA.
TRAY, C HPIIl TRIPLE ARP 52992 $247.35 EA.
TRAY, GLOW BURNER SINGLE ARP 53007 $187.90 EA.
TRAY, HPIIl DUAL ARP 52354 $186.55 EA.
TRAY, SINGLE ARP 52364 $193.10 | EA
TREE CLIP PC47580 BLACK ARP 51012 - 13 $0.50 EA.
TRIGGER A & B HPIIl TRIPLE ARP 52996 $84.90 EA.
TRIGGER C HPIIl TRIPLE ARP 52997 $95.30 EA.
TRIGGER EXTENSION, HPIIl TRIPLE ARP 52995 $195.20 EA.
TRIGGER HANDLE ARP 52352 $274.45 EA.
TRIGGER HANDLE, SINGLE ARP 52382 $179.80 EA.
TRIGGER LINK ARP 52365 $35.45 EA.
TRIGGER PIVOT BLOCK ARP 52311 $41.95 EA.
TRIGGER SUBASSEMBLY ARP 52415 $71.40 EA.
TUBE CONNECTOR, RB 12 DEG. ARP 52501 - 2 $115.15 EA.
TUBE CONNECTOR, RB 32 DEG. ARP 52501 - 3 $93.25 EA.
TUBE CONNECTOR, RB 90 DEG. ARP 52501 - 1 $72.35 EA.
TUBE, 3/4 ELECTRICAL METALLIC TUBING ARP 51040 - 33 $0.00 | CALL
TUBE, TANK SUPPORT, ELS/ELSS ARP 52453 $58.30 EA.
TUBING, POLY ACCENTS (100 FT. ROLLS) ARP 51003 - 7 $0.30 FT.
U BRACKET, 3/16 IN HOLE ARP 52522 - 2 $26.70 EA.
U BRACKET, 5/16 IN HOLE ARP 52522 - 1 $28.15 EA.
U-BOLT 1/4x1x1-3/4 PHEOLL ARP 51019 - 17 $2.80 EA.
U-BOLT 1/4x1x4 ARP 52493 $0.00 | CALL
U-BOLT PLATE FOR 5101917 ARP 51019 - 28 $2.80 EA.
U-BOLT, .25 X 3.125 X 1.125 SS ARP 51019 - 39 $16.60 EA.
U-BOLT, 1/4 X 2 1/4 X 1 1/8 SS ARP 51019 - 43 $13.15 EA.
U-BOLT, 3/8 X 2 X 2 SPECIAL ARP 51019 - 1 $26.50 EA.
U-NAILS FOR POLY SKID ARP 51040 - 47 $0.40 EA.
UNION RESTRICTED ARP 17978 $0.00 | CALL
UPPER LINE, PULLEY CHUTE, 25 FT ARP 53107 - 10 $211.80 EA.
UPPER LINE, PULLEY CHUTE, 32 FT ARP 53107 - 1 $200.45 EA.
UPPER LINE, PULLEY CHUTE, 34 FT ARP 53107 - 8 $234.80 EA.
UPPER LINE, PULLEY CHUTE, 36 FT ARP 53107 - 2 $207.60 EA.
UPPER LINE, PULLEY CHUTE, 39 FT ARP 53107 - 3 $212.90 EA.
UPPER LINE, PULLEY CHUTE, 40 FT ARP 53107 - 7 $214.75 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




UPPER LINE, PULLEY CHUTE, 41 FT ARP 53107 - 4 $216.50 EA.
UPPER LINE, PULLEY CHUTE, 42 FT ARP 53107 - 9 $218.30 EA.
UPPER LINE, PULLEY CHUTE, 44 FT ARP 53107 - 5 $221.80 EA.
UPPER LINE, PULLEY CHUTE, 47 FT ARP 53107 - 6 $227.15 EA.
UPPER TUBE, RB12 DIVIDER, 53 IN ARP 52503 - 6 $206.20 EA.
VALVE, BLAST W/O HANDLE ARP 12722 - 9 $218.60 EA.
VALVE, BLEEDER KNOB ARP 51043 - 36 $2.40 EA.
VALVE, BONNET ASSEMBLY HOKE PILOT VALVE ARP 51910 $94.40 EA.
VALVE, BONNET ASSEMBLY REGO TANK VALVE ARP 52721 $38.20 EA.
VALVE, CYLINDER H20 ALLOY ARP 52275 - 1 $302.50 EA.
VALVE, CYLINDER H20 MVE ARP 52275 - 2 $302.50 EA.
VALVE, CYLINDER V15, DUAL SERVICE ARP 52275 - 3 $325.50 EA.
VALVE, CYLINDER V15, SINGLE SERVICE ARP 52275 - 4 $325.50 EA.
VALVE, CYLINDER V18, DUAL SERVICE ARP 52275 - 8 $330.50 EA.
VALVE, CYLINDER V18, SINGLE SERVICE ARP 52275 - 7 $330.50 EA.
VALVE, CYLINDER V23 ARP 52275 - 6 $355.50 EA.
VALVE, HOKE 1523M4B1, NO HANDLE ARP 51043 - 29 $133.00 EA.
VALVE, HOKE MODIFIED ARP 52380 $259.15 EA.
VALVE, HOKE NO HANDLE ARP 1001 - 1 $145.35 EA.
VALVE, HOKE STEM ONLY (METERING) ARP 51043 - 43 $78.80 EA.
VALVE, MODIFIED HOKE ARP 51912 $0.00 | CALL
VALVE, NUPRO B-4JNAR2 GREEN ARP 51865 - $128.35 EA.
VALVE, NUPRO B-4JNAR2 RED ARP 51865 - 3 $128.35 EA.
VALVE, NUPRO B-4JNR2 ARP 51865 - 1 $128.35 EA.
VALVE, PILOT HANDLE BARREL ARP 52361 $49.45 EA.
VALVE, PILOT STEM ARP 52230 $118.65 EA.
VALVE, PILOT TOGGLE HANDLE ARP 51906 $0.00 | CALL
VALVE, REGO BURNER BONNET ASSEMBLY ARP 12722 - 8 $0.00 | CALL
VALVE, SHERWOOD BONNET ASSEMBLY TANK ARP 52494 $70.50 EA.
VALVE, SHERWOOD BURNER BONNET ASSEMBLY ARP 12722 7 $190.50 EA.
VALVE, TOGGLE HANDLE ONLY SHERWOOD ARP 51043 - 32 $0.00 | CALL
VALVE, V15 METERING W/DIP TUBE ARP 52124 $303.15 EA.
VALVE, V18 METERING W/DIP TUBE ARP 53038 $176.65 EA.
VELCRO, FASTENER HOOK 1 1/2 IN BLACK ARP 51048 - 12 $0.15 IN.
VELCRO, FASTENER HOOK 1 1/2 IN WHITE ARP 51048 - 10 $0.15 IN.
VELCRO, FASTENER HOOK 1 IN BLACK ARP 51048 - 7 $0.15 IN.
VELCRO, FASTENER HOOK 1 IN WHITE ARP 51048 - 2 $0.15 IN.
VELCRO, FASTENER HOOK 2 IN BLACK ARP 51048 - 14 $0.00 | CALL
VELCRO, FASTENER HOOK 2 IN WHITE ARP 51048 - 30 $0.00 | CALL
VELCRO, FASTENER HOOK 4 IN WHITE ARP 51048 - 21 $0.00 | CALL
VELCRO, FASTENER LOOP 1 1/2 IN BLACK ARP 51048 - 13 $0.15 IN.
VELCRO, FASTENER LOOP 1 1/2 IN WHITE ARP 51048 - 11 $0.15 IN.
VELCRO, FASTENER LOOP 1 IN BLACK ARP 51048 - 8 $0.15 IN.
VELCRO, FASTENER LOOP 1 IN WHITE ARP 51048 - $0.15 IN.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




VELCRO, FASTENER LOOP 2 IN WHITE ARP 51048 - 24 $0.00 | CALL
VELCRO, FASTENER LOOP 4 IN WHITE ARP 51048 - 22 $0.00 | CALL
VENT LINE 50 FT SPRING TOP S49A ARP 53117 - 1 $254.05 EA.
VENT LINE 52 FT SPRING TOP RX-6 ARP 53117 - 11 $257.65 EA.
VENT LINE 57 FT SPRING TOP S-50A ARP 53117 - 2 $266.55 EA.
VENT LINE 58 FT SPRING TOP S-55A/RX-7 ARP 53117 - 4 $268.30 EA.
VENT LINE 60 FT SPRING TOP S-52A ARP 53117 - $270.05 EA.
VENT LINE 62 FT SPRING TOP S-57A/RX-8 ARP 53117 - 5 $272.75 EA.
VENT LINE 64 FT SPRING TOP RXS-8 ARP 53117 - 12 $279.85 EA.
VENT LINE 66 FT SPRING TOP S-60A ARP 53117 - 6 $282.50 EA.
VENT LINE 66 FT SPRING TOP/PARA-RIP TOP S-66A ARP 53117 - 7 $307.45 EA.
VENT LINE 69 FT SPRING TOP RX9 ARP 53117 - 13 $311.65 EA.
VENT LINE 74 FT PARA-RIP TOP S71A ARP 53117 - 8 $321.70 EA.
VENT LINE 82 FT PARA-RIP TOP S77A ARP 53117 - 9 $336.00 EA.
VENT LINE 90 FT PARA-RIP TOP S81A ARP 53117 - 10 $350.25 EA.
V-RING 54A90-B2 1-IN ARP 51031 - 26 $7.25 EA.
WASHER, #10 LARGE, AN970-3 ARP 51017 - 6 $0.00 | CALL
WASHER, #2 ARP 51017 - 35 $0.00 | CALL
WASHER, #8 ARP 51017 - 7 $0.00 | CALL
WASHER, .25 ID X .500 OD X .031 ARP 51943 - 44 $0.95 EA.
WASHER, 1.1250D X .450 ID X .048 THK ARP 51017 - 34 $1.55 EA.
WASHER, 1/4 ARP 51017 - 27 $0.00 | CALL
WASHER, 1/4 PLN AN960-C416 ARP 51017 - 1 $0.50 EA.
WASHER, 1/4 PLN PLATED STL ARP 51017 - 2 $0.15 EA.
WASHER, 10SS ARP 51015 - 15 $0.10 EA.
WASHER, 3 IN ALUMINUM ARP 53019 $28.40 EA.
WASHER, 3/8 ARP 51017 - 13 $0.30 EA.
WASHER, 5/16 CAD PLATED ARP 51017 - 18 $0.10 EA.
WASHER, 5/8 AN960C1016L ARP 51017 - 12 $0.75 EA.
WASHER, 9/16' S.S. ARP 51017 - 11 $0.00 | CALL
WASHER, AN960-C8 ARP 51017 - 36 $0.40 | EA
WASHER, BACKUP BLAST VALVE ARP 17519 $1.35 EA.
WASHER, FENDER 1.750.D. X 1/4 1.D. ARP 51017 - 32 $0.70 EA.
WASHER, PLAIN #10 ARP 51017 - 5 $0.10 EA.
WASHER, PLAIN 7/16 ARP 51017 - 28 $0.00 | CALL
WASHER, POP RIVET 1/8 ARP 51017 - 4 $0.20 EA.
WASHER, RUBBER 1/4 ID X 1/20D X 1/32THK ARP 51043 - 44 $1.95 EA.
WASHER, RUBBER BLAST VALVE ARP 17506 $2.90 EA.
WASHER, SLOTTED ARP 51911 - 1 $0.00 | CALL
WASHER, SLOTTED .048 THK. ARP 51911 - 2 $4.15 EA.
WASHER, SS .50 ID X 1.131 OD ARP 51908 $1.10 EA.
WASHER, SS MS15795-841 ARP 51017 - 15 $1.10 EA.
WASHER, THRUST TRB-815 ARP 51040 - 44 $4.10 EA.
WASHER, THRUST TRC-185 ARP 51040 - 45 $5.60 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




WASHER, WAVE SPRING 921 61A032 ARP 51017 40 $2.90 EA.
WEB DAVIS FITTING FD3389-2M ARP 51031 35 $4.85 EA.
WEBBING, 1 1/2 INCH BLACK PIA-T-5038 T4 ARP 51047 53 $0.05 IN
WEBBING, 1 1/2 INCH WHITE PIA-T-5038 T4 ARP 51047 50 $0.10 IN
WEBBING, 1 INCH BLACK PIA-T-5038 T4 ARP 51047 54 $1.75 YD.
WEBBING, 1 INCH WHITE PIA-T-5038 T4 ARP 51047 16 $0.05 IN
WEBBING, RED POLY W/KEVLAR ARP 52227 1 $1.70 FT.
WICKER, 18-MM ROUND REED ARP 51007 2 $15.60 LB.
WICKER, 4 MM ROUND REED ARP 51007 9 $0.00 CALL
WICKER, 4-7 MM NATURAL KOOBOO RATAN ARP 51007 4 $15.25 LB.
WICKER, 9-10 MM NATURAL KOOBOO RATAN ARP 51007 3 $16.65 LB.
WICKER, DYED 8 MM ROUND REED ARP 51007 7 $0.00 CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




NUMERICAL PRICE LIST

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List



ARP 0 FLIGHT MANUAL $58.30 EA.
ARP 1001 1 | VALVE, HOKE NO HANDLE $145.35 EA.
ARP 1245 GAUGE, TAYLOR H-20 $149.80 EA.
ARP 11127 8 | STRAP, RW H-20 $0.00 | CALL
ARP 11127 9 | STRAP, RW H-20 W/BUCKLE $0.00 | CALL
ARP 12575 SIDE BRACE, RW $0.00 | CALL
ARP 12576 SUPPORT TUBE ASSY RW $0.00 | CALL
ARP 12593 4 | STRAP, TANK H20 W/O BUCKLE $46.15 EA.
ARP 12593 5 | STRAP, TANK H20 W/BUCKLE $73.00 EA.
ARP 12722 7 | VALVE, SHERWOOD BURNER BONNET ASSEMBLY $190.50 EA.
ARP 12722 8 | VALVE, REGO BURNER BONNET ASSEMBLY $0.00 | CALL
ARP 12722 9 | VALVE, BLAST W/O HANDLE $218.60 EA.
ARP 12760 SUPPORT TUBE RW $0.00 | CALL
ARP 13092 1 | GIMBAL RESTRAINT $0.00 | CALL
ARP 13095 2 | BRACKET, SPRING BURNER FRAME $0.00 | CALL
ARP 13095 3 | BRACKET, SPRING $0.00 | CALL
ARP 13136 2 | SPACER, GIMBAL $0.00 | CALL
ARP 13136 3 | SPACER, GIMBAL $0.00 | CALL
ARP 13838 FUEL LINE COMBINATION CW $0.00 | CALL
ARP 13846 STRAP HOLDER CW/CWS H20 $68.05 EA.
ARP 13854 FUEL LINE SUPPLY $215.75 EA.
ARP 13858 2 | SUPPORT TUBE CW 2 PT STAINLESS $0.00 | CALL
ARP 13864 FUEL LINE BURNER, 85" H-20/H-25 $204.65 EA.
ARP 13866 FUEL LINE BURNER WITH POL $0.00 | CALL
ARP 14364 HANDLE, GONDOLA $24.30 EA.
ARP 14532 FRAME, LOWER RW $0.00 | CALL
ARP 14567 FUEL LINE PILOT RW $183.55 EA.
ARP 14571 STRAP ASSY TANK V15/V18 $78.65 EA.
ARP 14684 FRAME, CORNER RW $0.00 | CALL
ARP 14971 1 | SPRING EXTENSION HPI $6.50 EA.
ARP 14971 SPRING, EXTENSION LEE LE-069F-6S $6.50 EA.
ARP 14971 5 | SPRING, EXTENSION LEE LE-069G-5SS $6.50 EA.
ARP 15339 FUEL LINE EXTRA TANK RW $153.35 EA.
ARP 15341 FUEL LINE MAIN SUPPLY RW $209.15 EA.
ARP 15342 1 | FUEL LINE BURNER, 62" $162.05 EA.
ARP 15342 2 | FUEL LINE BURNER SINGLE $160.65 EA.
ARP 15343 FUEL LINE PILOT, VERT TANK DUAL $164.45 EA.
ARP 15344 FUEL LINE SUPPLY CWV $317.05 EA.
ARP 15345 FUEL LINE SUPPLY CWV $191.70 EA.
ARP 15346 FUEL FITTING SUPPLY CWV $0.00 | CALL
ARP 15347 FUEL LINE EXTRA TANK OPT $135.95 EA.
ARP 15348 FUEL LINE PILOT G CW $215.30 EA.
ARP 15375 NOZZLE, AUXILARY HEATER $52.90 EA.
ARP 16474 EYEBOLT, SLOTTED $27.50 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 16482 QUICK RELEASE PIN, 2 PT CW / CWS $74.00 EA.
ARP 16557 PILOT ORIFICE DRILLED $0.00 | CALL
ARP 16659 REFUELING ADAPTER, SINGLE POINT $39.65 EA.
ARP 17129 COVER, SMOOTH LEATHER SLEEVE, LOWER FRAME CW / CWS $0.00 | CALL
ARP 17212 PLATE $2.60 EA.
ARP 17265 CONNECTOR FITTING, 2 PT $0.00 | CALL
ARP 17463 COIL SUPPORT INNER, REV. C $0.00 | CALL
ARP 17464 1 | COIL SUPPORT OUTER-SHORT $0.00 | CALL
ARP 17464 2 | COIL SUPPORT OUTER-LONG $0.00 | CALL
ARP 17504 TRAY BURNER $0.00 | CALL
ARP 17505 FITTING, MODIFIED TEE $33.05 EA.
ARP 17506 WASHER, RUBBER BLAST VALVE $2.90 EA.
ARP 17519 WASHER, BACKUP BLAST VALVE $1.35 EA.
ARP 17525 1 | SQUARE TUBE, HPIl GIMBALLED $0.00 | CALL
ARP 17525 2 | SQUARE TUBE, HPIl NON-GIMBALLED $0.00 | CALL
ARP 17526 GIMBAL FRAME $0.00 | CALL
ARP 17527 1 | NOZZLE COIL W/ASPIRATOR $0.00 | CALL
ARP 17529 BRACKET, VALVE HOLD DOWN $0.00 | CALL
ARP 17531 CLAMP, STANDOFF COIL $5.15 EA.
ARP 17532 GIMBAL LIMITER $0.00 | CALL
ARP 17554 SQUARE TUBE, HP2R $0.00 | CALL
ARP 17768 OUTER BUMPER CANE SPLICE $23.70 EA.
ARP 17978 UNION RESTRICTED $0.00 | CALL
ARP 30124 2 | CAPTIVE SCREW WITH KNOB $0.00 | CALL
ARP 50000 3 | SKID, SUBSTRATE, SHORT, RWS $138.55 EA.
ARP 50000 4 | SKID, SUBSTRATE, LONG, RWS $133.35 EA.
ARP 50000 5 | SKID, SHORT, RWS $140.55 EA.
ARP 50000 6 | SKID, LONG, RWS $149.80 EA.
ARP 50000 8 | SKID, SUBSTRATE, SHORT, RW $0.00 | CALL
ARP 50000 9 | SKID, SUBSTRATE, LONG, RW $0.00 | CALL
ARP 50000 10 | SKID, LONG, RW $0.00 | CALL
ARP 50000 11 | SKID, SHORT, RW $0.00 | CALL
ARP 51001 7 | SPRING STEEL, .094 X 1/2 $0.00 | CALL
ARP 51002 10 | COPPER TUBE .1250D X .030 WALL $1.00 FT.
ARP 51003 1 | FOAM, 3/8' X 7/8' $0.00 | CALL
ARP 51003 7 | TUBING, POLY ACCENTS (100 FT. ROLLS) $0.30 FT.
ARP 51003 12 | GASKET, #1 301 28 TANK GAUGE $1.85 EA.
ARP 51003 55 | FOAM, 1/2 X 11/8 $0.00 | CALL
ARP 51003 61 | FOAM, 3/4 X 1 3/8 $0.00 | CALL
ARP 51003 81 | BOOT, RUBBER $7.35 EA.
ARP 51003 82 | BARB CONNECTOR FOR POLY WICKER $0.65 EA.
ARP 51004 36 | FLARE CLOTH, TEMP TABS $0.00 | CALL
ARP 51006 2 | LEATHER, MOCCASIN COWHIDE $0.00 | CALL
ARP 51006 3 | BROWN LEATHER LACING $1.35 FT.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 51007 1 | ROPE, 5/16 BADGER 3 STRAND TAN POLY $0.25 FT.
ARP 51007 2 | WICKER, 18-MM ROUND REED $15.60 LB.
ARP 51007 3 | WICKER, 9-10 MM NATURAL KOOBOO RATAN $16.65 LB.
ARP 51007 4 | WICKER, 4-7 MM NATURAL KOOBOO RATAN $15.25 LB.
ARP 51007 6 | ROPE, 1/2 SAMSON POWER BRAID $0.00 | CALL
ARP 51007 7 | WICKER, DYED 8 MM ROUND REED $0.00 | CALL
ARP 51007 9 | WICKER, 4 MM ROUND REED $0.00 | CALL
ARP 51007 17 | NYLON LACING, #381 TASLN, ST/684 BLACK/BROWN $0.30 FT.
ARP 51007 18 | ROPE, 1/2' BLACK, INSIDE HANDLE $1.30 EA.
ARP 51007 19 | CORD, 1/8 KEVLAR BRAIDED $0.50 FT.
ARP 51008 48 | LUBRICANT, TRI-FLOW $0.00

ARP 51008 52 | LUBRICANT, KRYTOX $260.50 EA.
ARP 51011 1 | QUICK RELEASE PIN 56630-367 AVIBANK $44.15 EA.
ARP 51011 13 | ROLLPIN3/16 X 1 1/4 $0.15 EA.
ARP 51011 17 | ROLL PIN 5/32 X 5/8 PLTD $0.20 EA.
ARP 51011 19 | QUICK RELEASE PIN BLS3B168 $79.75 EA.
ARP 51011 20 | ROLL PIN3/16 X 1IN $0.30 EA.
ARP 51011 24 | PIN, 7/32 X 1 3/4 TYPE 24 SS $1.00 EA.
ARP 51011 25 | PIN, 7/32 X 3/4 TYPE 2A SS $0.95 EA.
ARP 51012 1 | POP RIVET AD 44BS $0.30 EA.
ARP 51012 3 | POPRIVET AD 48BS $0.25 EA.
ARP 51012 5 | POP RIVET AD42BS $0.20 EA.
ARP 51012 13 | TREE CLIP PC47580 BLACK $0.50 EA.
ARP 51013 1 | BOLT, AIRCRAFT AN3-12A $1.80 EA.
ARP 51013 2 | BOLT, AIRCRAFT AN3-20A $3.25 EA.
ARP 51013 3 | BOLT, AIRCRAFT AN3-15A $2.55 EA.
ARP 51013 4 | BOLT, AIRCRAFT AN3-14A $2.25 EA.
ARP 51013 5 | BOLT, 1/4-20 X 2 1/2 GRADE 5 $0.35 EA.
ARP 51013 7 | SCREW, MACHINE MS51958-63 $1.20 EA.
ARP 51013 12 | BOLT, AIRCRAFT AN5-47A $10.85 EA.
ARP 51013 15 | SCREW, MACHINE 6 - 32 X 5/8 $0.20 EA.
ARP 51013 16 | SCREW, FLAT HD 1/4-20 X 3 1/2 PL/ST $0.55 EA.
ARP 51013 17 | BOLT, AIRCRAFT AN4-15A $2.70 EA.
ARP 51013 24 | BOLT, AIRCRAFT AN4-21A $3.35 EA.
ARP 51013 25 | BOLT, AIRCRAFT AN4-22A $3.55 EA.
ARP 51013 36 | SCREW, MACHINE 10-32 X 5/8, MS51958-64 $0.80 EA.
ARP 51013 37 | SCREW, MACHINE 10-32 X 3/4, MS51958-65 $0.80 EA.
ARP 51013 40 | SCREW, 10-32 X 1 1/2 HEX HEAD SS $1.90 EA.
ARP 51013 45 | BOLT, AIRCRAFT AN4-12A $1.60 EA.
ARP 51013 46 | BOLT, AIRCRAFT AN6-23A $0.00 | CALL
ARP 51013 48 | SCREW, MACHINE 10-32 X 3/8, MS51958-61 $1.60 EA.
ARP 51013 49 | BOLT, AIRCRAFT AN4-6A $0.70 EA.
ARP 51013 50 | SCREW, PAN HEAD 10-24 X 3/8 $0.80 EA.
ARP 51013 51 | BOLT, AIRCRAFT AN4-11A $1.10 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 51013 53 | SCREW, AN509-416-27 1/4 IN FLAT HEAD $6.75 EA.
ARP 51013 57 | BOLT, AIRCRAFT AN4-17A $0.00 | CALL
ARP 51013 58 | BOLT, AIRCRAFT AN4-31A $11.75 EA.
ARP 51013 59 | BOLT, AIRCRAFT AN3-16A $2.10 EA.
ARP 51013 60 | SCREW, MS51 957-128 8-32 X 7/8 $0.45 EA.
ARP 51013 68 | SCREW, 5/16 X 3-1/2 LAG SS $2.85 EA.
ARP 51013 69 | SCREW, PANHEAD 10-24 X 1/2 IN $0.15 EA.
ARP 51013 75 | SCREW, FLAT HEAD MACHINE 10-32 X 5/8 $0.20 EA.
ARP 51013 81 | BOLT, AIRCRAFT AN4-24A $10.95 EA.
ARP 51013 83 | BOLT, AIRCRAFT AN3-17A $2.85 EA.
ARP 51013 84 | SCREW, PAN HD 2-56 X 1IN $0.25 EA.
ARP 51013 86 | BOLT, AN4-3A $0.60 EA.
ARP 51013 87 | BOLT, 1/4-28 X 3 HEX HD ZINC GRADE 5 $0.45 EA.
ARP 51013 88 | SCREW, 1/4-20 X 1/2 BH CAP SOC SCREW $0.65 EA.
ARP 51013 89 | SCREW, SOC HEAD CAP 8-32 X 5/8 SS $0.35 EA.
ARP 51013 90 | SCREW, 8-32 X 1/2 SOC HD CAP $0.40 EA.
ARP 51013 91 | SCREW, 1/4-20 X 2 HEX HD GRADE 5 $0.30 EA.
ARP 51013 95 | BOLT, 1/4-28 GRADE 8 $1.90 EA.
ARP 51013 96 | BOLT, AN509-416-29 FLAT HEAD 1/4 - 28 X 1 27/32 $10.30 EA.
ARP 51013 97 | SCREW, MS24694-S104 $4.45 EA.
ARP 51013 98 | SCREW, MS24694-S112 $16.25 EA.
ARP 51013 106 | SCREW, 6-32 X 14 SS BUTTON HEAD SOC CAP $0.55 EA.
ARP 51013 107 | SCREW, 1/4-28 X 2 3/4 HEX HEAD $1.90 EA.
ARP 51013 108 | BOLT, AN4-20A $3.95 EA.
ARP 51013 112 | BOLT, AN5-22A $4.80 EA.
ARP 51013 113 | SCREW, 10-32 X 1/2 SQUARE DRIVE PAN HEAD $0.40 EA.
ARP 51013 115 | SCREW, 10-32 X 3/4 SQUARE DRIVE PAN HEAD $0.40 EA.
ARP 51013 117 | SCREW, 4-40 X 1/4 SS BUTTON HEAD SOC CAP $0.20 EA.
ARP 51014 6 | SCREW, DRIVE #4 X 1/4 TYPE U $0.10 EA.
ARP 51014 13 | SCREW, WOOD #8 X 1 $0.15 EA.
ARP 51014 21 | SCREW, FLAT END SET 3/8-16 X 5/8 $0.75 EA.
ARP 51014 22 | SCREW, WOOD 8 X 5/8 SQUARE DRIVE $0.10 EA.
ARP 51014 25 | SCREW, 10-32 X 1/2 HX SOC SET $0.35 EA.
ARP 51014 26 | SCREW, 8-32 X 3/16 NYLON HEX HEAD $0.15 EA.
ARP 51014 28 | SCREW, WOOD SQUARE DRIVE #8 X 1 3/4 $0.15 EA.
ARP 51014 29 | SCREW, WOOD FLAT HEAD SQUARE DRIVE #12 X 2" $0.30 EA.
ARP 51014 33 | SCREW, WOOD COMBINATION #8 X 5/8 $0.20 EA.
ARP 51014 34 | SCREW, WOOD #12 X 3' SQUARE DRIVE $0.65 EA.
ARP 51015 1 | NUT, MS20365-1032A 10-32 $1.05 EA.
ARP 51015 2 | NUT, 10-32 CAPNUT ESAN 22 NKM2 $6.00 EA.
ARP 51015 3 | NUT, LOCKING 1/4 - 20 $0.20 EA.
ARP 51015 4 | NUT, HEX 6-32 $0.15 EA.
ARP 51015 7 | NUT, MS20365-524C 5/16 -24 $5.55 EA.
ARP 51015 10 | NUT, LOCKING MS20365-428A $1.45 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 51015 12 | NUT, LOCKING 42NKE-048 $1.95 EA.
ARP 51015 15 | WASHER, 10SS $0.10 EA.
ARP 51015 16 | NUT, LOCKING, 3-48 ESNA 22NM-38 $0.00 | CALL
ARP 51015 17 | NUT, MS20365-428C 1/4-28 $2.35 EA.
ARP 51015 18 | NUT, MS20365-624C 3/8-24 $0.00 | CALL
ARP 51015 19 | NUT, MS20500-1 032 HI TEMP $5.35 EA.
ARP 51015 20 | NUT, HEX 1/4-20 $0.00 | CALL
ARP 51015 24 | NUT, THIN 21NTE-040 ESNA $0.10 EA.
ARP 51015 35 | NUT, LOCKING 2-56 $1.45 EA.
ARP 51015 36 | NUT, LOCKING MS20365-1032C $1.60 EA.
ARP 51015 37 | NUT, LOCKING 5/16-18 ESNA $0.20 EA.
ARP 51015 38 | NUT, HEX 5/16-18 $0.10 EA.
ARP 51015 39 | NUT, HEX 6-32 SS $0.20 EA.
ARP 51015 41 | NUT, LOCKING 4-40 KEPS $0.30 EA.
ARP 51016 3 | NUT, WING 10-32 SS $0.80 EA.
ARP 51016 4 | NUT, SPEED ARDEN C8044-1024-3B $1.15 EA.
ARP 51016 RIVNUT, 10-32 $0.00 | CALL
ARP 51016 11 | NUT, TEE 1/4-20 $0.00 | CALL
ARP 51016 13 | NUT, S.S. JAM NUT $0.00 | CALL
ARP 51016 15 | COUPLING, HEX THREADED 1/4-20 X 3/4 $5.50 EA.
ARP 51016 16 | NUT, JAM BRASS 450-8 $6.70 EA.
ARP 51017 1 | WASHER, 1/4 PLN AN960-C416 $0.50 EA.
ARP 51017 2 | WASHER, 1/4 PLN PLATED STL $0.15 EA.
ARP 51017 4 | WASHER, POP RIVET 1/8 $0.20 EA.
ARP 51017 5 | WASHER, PLAIN #10 $0.10 EA.
ARP 51017 6 | WASHER, #10 LARGE, AN970-3 $0.00 | CALL
ARP 51017 7 | WASHER, #8 $0.00 | CALL
ARP 51017 11 | WASHER, 9/16'S.S. $0.00 | CALL
ARP 51017 12 | WASHER, 5/8 AN960C1016L $0.75 EA.
ARP 51017 13 | WASHER, 3/8 $0.30 EA.
ARP 51017 15 | WASHER, SS MS15795-841 $1.10 EA.
ARP 51017 18 | WASHER, 5/16 CAD PLATED $0.10 EA.
ARP 51017 27 | WASHER, 1/4 $0.00 | CALL
ARP 51017 28 | WASHER, PLAIN 7/16 $0.00 | CALL
ARP 51017 30 | SPACER, TEFLON PILOT VALVE $1.55 EA.
ARP 51017 32 | WASHER, FENDER 1.750.D. X 1/4 1.D. $0.70 EA.
ARP 51017 34 | WASHER, 1.1250D X .450 ID X .048 THK $1.55 EA.
ARP 51017 35 | WASHER, #2 $0.00 | CALL
ARP 51017 36 | WASHER, AN960-C8 $0.40 EA.
ARP 51017 40 | WASHER, WAVE SPRING 921 61A032 $2.90 EA.
ARP 51017 43 | REGULATOR, SHIM WASHER $2.10 EA.
ARP 51019 1 | U-BOLT, 3/8 X 2 X 2 SPECIAL $26.50 EA.
ARP 51019 3 | BOLT, CARRIAGE 1/4-20 X 2 $1.00 EA.
ARP 51019 12 | BOLT, CARRIAGE 1/4-20 X 3 PL ST $0.00 | CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 51019 17 | U-BOLT 1/4x1x1-3/4 PHEOLL $2.80 EA.
ARP 51019 28 | U-BOLT PLATE FOR 5101917 $2.80 EA.
ARP 51019 33 | BOLT, ELEVATOR 1/4-20 X 2 1/2 IN $1.85 EA.
ARP 51019 38 | BOLT, CARRIAGE 5/16-18 X 2 1/2 SS $3.70 EA.
ARP 51019 39 | U-BOLT, 25X 3.125 X 1.125 SS $16.60 EA.
ARP 51019 43 | U-BOLT, 1/4 X2 1/4 X 1 1/8 SS $13.15 EA.
ARP 51023 3 | DIAL, H-20 REPLACEMENT, TAYLOR $14.75 EA.
ARP 51023 11 | DIAL, 5-01749 H-20 ROCHESTER $18.10 EA.
ARP 51023 13 | DIAL, 2766 V-15 TAYLOR $24.85 EA.
ARP 51023 16 | DIAL, V-23 REPLACEMENT $23.70 EA.
ARP 51023 22 | KNOB, BALL REPLACEMENT (SERVICE LETTER 113) $0.00 NC
ARP 51023 23 | DIAL, V-18 REPLACEMENT $23.70 EA.
ARP 51027 16 | FIBERGLASS SLEEVE PIEZO $5.60 FT.
ARP 51031 11 | CLAMP, HOSE SUPPORT (DOUBLE) $0.00 | CALL
ARP 51031 13 | RING, STEEL 1 IN HD-1-N1 $0.85 EA.
ARP 51031 15 | CLAMP, LOOP TA715SS06 $11.10 EA.
ARP 51031 16 | CLAMP, LOOP TA715SS05 $1.15 EA.
ARP 51031 17 | CLAMP, LOOP TA 828-S11 $0.00 | CALL
ARP 51031 18 | CLAMP. LOOP TA715SS08 $1.50 EA.
ARP 51031 19 | CLAMP, LOOP TA7155502 $3.30 EA.
ARP 51031 26 | V-RING 54A90-B2 1-IN $7.25 EA.
ARP 51031 31 | CONNECTOR, SPLIT BOLT #4H3 $13.15 EA.
ARP 51031 32 | SNAP HOOK #200-1-1/2 $4.70 EA.
ARP 51031 33 | D-RING, 1 1/2 IN STYLE 3250 $1.30 EA.
ARP 51031 34 | D-RING 1-IN STYLE 3250 $0.75 EA.
ARP 51031 35 | WEB DAVIS FITTING FD3389-2M $4.85 EA.
ARP 51031 36 | LINK TRIANGLE MS522020-1 FC87 $0.00 | CALL
ARP 51031 37 | RING, STEEL .25 X 2 IN HD-1-N2 $1.10 EA.
ARP 51031 55 | RING, FORGECRAFT 5011 $0.00 | CALL
ARP 51031 63 | RAPID LINK, SS 3/16 $11.40 EA.
ARP 51031 64 | RAPID LINK, SS 1/4 SS $23.55 EA.
ARP 51031 94 | DELTALINK, 3/16 IN $13.75 EA.
ARP 51033 1 | EYELET, STIMPSON A21 1 BRASS $0.00 | CALL
ARP 51034 1 | C-RING, INDUSTRIAL 1200-9 $0.15 EA.
ARP 51034 3 | O-RING, REGO HANDTURN $0.00 | CALL
ARP 51034 4 | O-RING, T1 2945 FISCHER HANDTURN $1.35 EA.
ARP 51034 5 | O-RING, BACKUP REGO (TEFLON SPLIT RING) $1.95 EA.
ARP 51034 6 | O-RING, PILOT VALVE $0.55 EA.
ARP 51034 7 | O-RING, 2-109-N103-7 $1.05 EA.
ARP 51034 8 | O-RING, .379 IDX.103W SPEC 70BN $4.40 EA.
ARP 51034 9 | SNAPRING $0.00 | CALL
ARP 51034 10 | E-RING, 1000-15 $0.15 EA.
ARP 51034 11 | O-RING, MARSHALL BRASS HANDTURN $1.25 EA.
ARP 51034 12 | O-RING, (CARABINER CABLE ASSEMBLY) $0.65 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 51034 16 | O-RING, REGULATOR, SMALL $0.60 EA.
ARP 51034 17 | O-RING, REGULATOR, LARGE $1.10 EA.
ARP 51037 1 | CABLE, GALV 1/8 7 X 19 MIL-RR-W-410 D $0.95 FT.
ARP 51037 2 | SLEEVE, 1/8 OVAL COPPER 5005-4 $1.90 EA.
ARP 51037 4 | THIMBLE, 1/8 AN100-4 $0.55 EA.
ARP 51037 5 | THIMBLE, 3/32 AN100-3 $0.65 EA.
ARP 51037 6 | CABLE, 3/32 GALV FED RR-W410D $0.75 FT.
ARP 51037 7 | SLEEVE, 3/32 OVAL COPPER 5005-3 $1.25 EA.
ARP 51037 9 | CABLE, 1/8 SS FED RR-W410D $1.55 FT.
ARP 51037 10 | THIMBLE, 1/8 SS #3231 $0.00 | CALL
ARP 51037 15 | CABLE, 1/16 RED PVC $0.80 FT.
ARP 51037 16 | THIMBLE 3/16 SS, RALLY FRAME $3.00 EA.
ARP 51040 6 | HAND WHEEL & INSERT 800-35-1 $9.50 EA.
ARP 51040 7 | PLUG, BUTTON $0.60 EA.
ARP 51040 12 | ADAPTOR, POL-PIPE $16.15 EA.
ARP 51040 17 | KNOB, RED METER PHEN-4J-P5 $18.25 EA.
ARP 51040 18 | KNOB, GREEN PILOT PHEN-4J-P5 $17.60 EA.
ARP 51040 31 | KNOB, BLACK CR-2-ST $0.00 | CALL
ARP 51040 33 | TUBE, 3/4 ELECTRICAL METALLIC TUBING $0.00 | CALL
ARP 51040 37 | CARABINER (SMALL CABLE SETS - S49A, 50, 51, 53, & AFX) $34.40 EA.
ARP 51040 42 | PLUG, 7/8 HOLE 62PP087BM11 $0.40 EA.
ARP 51040 43 | BEARING, THRUST NTA-815 $9.60 EA.
ARP 51040 44 | WASHER, THRUST TRB-815 $4.10 EA.
ARP 51040 45 | WASHER, THRUST TRC-185 $5.60 EA.
ARP 51040 47 | U-NAILS FOR POLY SKID $0.40 EA.
ARP 51040 51 | CARABINER (LARGE CABLE SETS - S55A AND LARGER)(AFX) $47.65 EA.
ARP 51040 55 | GASKET, COPPER $1.30 EA.
ARP 51042 1 | FITTING, M388 POL CONNECTOR(FISCHER) $19.25 EA.
ARP 51042 2 | FITTING, ELBOW 90 DEG. 1/4 PIPE $14.45 EA.
ARP 51042 4 | FITTING, STREET ELBOW 90 DEG. $14.05 EA.
ARP 51042 6 | FITTING, ADAPTER ELBOW 90 DEG. $10.25 EA.
ARP 51042 7 | FITTING, FEMALE TEE 1/4 PIPE $20.05 EA.
ARP 51042 8 | FITTING, PLUG 1/4 PIPE $2.05 EA.
ARP 51042 9 | FITTING, COUPLING 1/4 IN PIPE 4 PC $7.10 EA.
ARP 51042 10 | FITTING, STREET ELBOW 45 DEG. 2088-4-4S $8.80 EA.
ARP 51042 11 | FITTING, ELBOW 90 DEG. SWIVEL 2047-4-4S $14.10 EA.
ARP 51042 12 | FITTING, ADAPTER REDUCING 2083-6-4S $13.90 EA.
ARP 51042 13 | FITTING, FEMALE TEE (SPECIAL) 8-86 $0.00 | CALL
ARP 51042 14 | FITTING, BULKHEAD $0.00 | CALL
ARP 51042 15 | FITTING, ADAPTER PIPE/JIC 2021-4-6S $2.85 EA.
ARP 51042 16 | FITTING, REDUCER $0.00 | CALL
ARP 51042 17 | FITTING, FEMALE ELBOW 2-2DBZ-B $20.70 EA.
ARP 51042 18 | FITTING, MALE ELBOW 2-2CBZ-B $19.65 EA.
ARP 51042 19 | FITTING, MALE PIPE ELBOW $0.00 | CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 51042 20 | FITTING, HEX NIPPLE 2083-4-4S $3.80 EA.
ARP 51042 21 | FITTING, CLOSE NIPPLE 2084-4S-7/8 $11.45 EA.
ARP 51042 22 | FITTING, SWIVEL PIPE TEE $0.00 | CALL
ARP 51042 38 | FITTING, PIPE FITTING 2045-4-4S $6.05 EA.
ARP 51042 39 | FITTING, ADAPTER PIPE/JIC 2022-4-4S $5.25 EA.
ARP 51042 46 | REFILL TEE ONLY, DUAL POINT $12.65 EA.
ARP 51042 47 | FITTING, ADAPTER PIPE/JIC 2021-4-4S $5.30 EA.
ARP 51042 49 | FITTING, ADAPTER STRAIGHT 2000-4-6B $3.65 EA.
ARP 51042 65 | FITTING, ELBOW 45 DEG. 4-4 FVE-S $17.80 EA.
ARP 51042 67 | FITTING, 3/8 X 1/4 REDUCER $14.75 EA.
ARP 51042 69 | FITTING, ADAPTER 45 PIPE/JIC 2023-4-4S $9.55 EA.
ARP 51042 77 | FITTING, PIPE PLUG 3/4 IN 562070 $8.30 EA.
ARP 51042 78 | FITTING, 45 DEG. STREET ELBOW $0.00 | CALL
ARP 51042 79 | FITTING, NUT SS 3/8 IN $S-602-1 $9.85 EA.
ARP 51042 91 | FITTING, ELBOW 90 DEG SWIVEL 2048-4-4S $11.15 EA.
ARP 51042 92 | FITTING, MALE CLOSE NIPPLE 4-4 MCHN SS $21.20 EA.
ARP 51042 93 | FITTING, MALE BRANCH TEE 8-8-6SBZ $80.85 EA.
ARP 51042 94 | FITTING, ADAPTER 3/8 TO 1/4 0107-4-6 $7.95 EA.
ARP 51042 95 | FITTING, ELBOW 90 DEG BRASS 1202P-4-4 $6.90 EA.
ARP 51042 96 | FITTING, ADAPTOR 2001-4-6B $5.50 EA.
ARP 51042 97 | FITTING, PIPE NIPPLE 4-4-2MHLN-S $12.30 EA.
ARP 51042 98 | FITTING, ADAPTOR 45 2023-4-6S $15.50 EA.
ARP 51042 101 | FITTING, ELBOW 45 FLARE 159F-6.4 $9.10 EA.
ARP 51042 103 | FITTING, HEX NUT #72 SUPERIOR $5.70 EA.
ARP 51042 104 | FITTING, NIPPLE, SUPERIOR SHORT $4.80 EA.
ARP 51042 107 | FITTING, NIPPLE, 1/4 MNPT SHORT $22.25 EA.
ARP 51042 108 | FITTING, HAND NUT $46.50 EA.
ARP 51042 109 | TEFLON TIP, SUPERIOR NIPPLE $7.35 EA.
ARP 51042 111 | FITTING, 1/4 TUBE / 1/4 PIPE 4-46BZ-SS $68.50 EA.
ARP 51042 114 | FITTING, REDUCER, 3/4 X 3/8 NPT $7.60 EA.
ARP 51043 6 | FILTER, METEX 52-0110-F071-04 $16.80 EA.
ARP 51043 10 | PRESSURE GAGE, 0-300 PSI, 2' $51.00 EA.
ARP 51043 26 | REGULATOR PISTON $0.00 | CALL
ARP 51043 28 | POROSITY TESTER, GAUGE ONLY $174.65 EA.
ARP 51043 29 | VALVE, HOKE 1523M4B1, NO HANDLE $133.00 EA.
ARP 51043 32 | VALVE, TOGGLE HANDLE ONLY SHERWOOD $0.00 | CALL
ARP 51043 36 | VALVE, BLEEDER KNOB $2.40 EA.
ARP 51043 42 | SPACER KIT, METERING VALVE $34.90 EA.
ARP 51043 43 | VALVE, HOKE STEM ONLY (METERING) $78.80 EA.
ARP 51043 44 | WASHER, RUBBER 1/4 ID X 1/20D X 1/32THK $1.95 EA.
ARP 51043 53 | SPRING, GLOW HANDLE $21.65 EA.
ARP 51046 1 | THREAD, VT285 T1 C1 SIZE F WHITE $94.90 EA.
ARP 51046 2 | THREAD, VT285 T1 C1 SIZE E WHITE $81.45 EA.
ARP 51046 8 | THREAD, NOMEX FIRE RETARDANT $387.95 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 51046 9 | THREAD, BOBBINS SIZE E, WHITE (144) $126.85 GR.
ARP 51046 19 | THREAD, BOBBINS SIZE F, WHITE $0.00 | CALL
ARP 51046 20 | THREAD, VT285 T1 C1 SIZE E BLACK $97.70 EA.
ARP 51046 21 | THREAD, VT285 T1 C1 SIZE F BLACK $100.65 EA.
ARP 51046 22 | THREAD, BOBBINS SIZE E, BLACK $0.00 | CALL
ARP 51046 23 | THREAD, BOBBINS SIZE F, BLACK (144) $151.50 GR.
ARP 51047 10 | CORD, PIA-C-5040-T3 WHITE $0.30 FT.
ARP 51047 16 | WEBBING, 1 INCH WHITE PIA-T-5038 T4 $0.05 IN
ARP 51047 50 | WEBBING, 1 1/2 INCH WHITE PIA-T-5038 T4 $0.10 IN
ARP 51047 53 | WEBBING, 1 1/2 INCH BLACK PIA-T-5038 T4 $0.05 IN
ARP 51047 54 | WEBBING, 1 INCH BLACK PIA-T-5038 T4 $1.75 YD.
ARP 51047 62 | ROPE, 1/4 IN NYLON SOLID BRAID $0.35 FT.
ARP 51047 63 | ROPE, 1/2 IN SOLID BRAID W/KEVLAR, RED $0.00 | CALL
ARP 51047 65 | ROPE, 3/8 IN NYLON SOLID BRAID (CROWN LINE) $0.65 FT.
ARP 51047 66 | ROPE, 1/2 IN 2'N 1 POLY STABLE BRAID $0.00 | CALL
ARP 51047 72 | ROPE, 1/4 IN BLUE SOLID BRAID $0.60 FT.
ARP 51047 73 | ROPE, 1/4 IN YELLOW SOLID BRAID $0.60 FT.
ARP 51047 77 | ROPE, KEXLON Il 3/16 IN KEVLAR $1.80 FT.
ARP 51048 2 | VELCRO, FASTENER HOOK 1 IN WHITE $0.15 IN.
ARP 51048 3 | VELCRO, FASTENER LOOP 1 IN WHITE $0.15 IN.
ARP 51048 7 | VELCRO, FASTENER HOOK 1 IN BLACK $0.15 IN.
ARP 51048 8 | VELCRO, FASTENER LOOP 1IN BLACK $0.15 IN.
ARP 51048 10 | VELCRO, FASTENER HOOK 1 1/2 IN WHITE $0.15 IN.
ARP 51048 11 | VELCRO, FASTENER LOOP 1 1/2 IN WHITE $0.15 IN.
ARP 51048 12 | VELCRO, FASTENER HOOK 1 1/2 IN BLACK $0.15 IN.
ARP 51048 13 | VELCRO, FASTENER LOOP 1 1/2 IN BLACK $0.15 IN.
ARP 51048 14 | VELCRO, FASTENER HOOK 2 IN BLACK $0.00 | CALL
ARP 51048 21 | VELCRO, FASTENER HOOK 4 IN WHITE $0.00 | CALL
ARP 51048 22 | VELCRO, FASTENER LOOP 4 IN WHITE $0.00 | CALL
ARP 51048 24 | VELCRO, FASTENER LOOP 2 IN WHITE $0.00 | CALL
ARP 51048 30 | VELCRO, FASTENER HOOK 2 IN WHITE $0.00 | CALL
ARP 51050 6 | TETHER SYSTEM 4 POINT HOOKUP, 3 LEG $0.00 | CALL
ARP 51050 7 | TETHER SYSTEM SINGLE LINE $0.00 | CALL
ARP 51052 3 | MINITRIM, BLACK $0.00 | CALL
ARP 51053 6 | ELASTIC, 1 1/2 IN BLACK $0.00 | CALL
ARP 51054 33 | TEMP TAB OMEGALABLE 4B-225 $7.65 EA.
ARP 51054 49 | SAFETY WALK, 2' $3.00 FT.
ARP 51078 FUEL LINE PILOT $181.35 EA.
ARP 51079 2 | SIDE FRAME, RB6, RB8 $167.00 EA.
ARP 51080 4 | SUPPORT TUBE, RB6, RB8, RB12 $846.00 EA.
ARP 51081 FUEL LINE MAIN SUPPLY $419.45 EA.
ARP 51082 BURNER FITTING ASSEMBLY 4 PT $283.15 EA.
ARP 51082 BURNER SUPPORT, INSERT, ADJUSTMENT BLOCK $40.20 EA.
ARP 51082 3 | BURNER SUPPORT, INSERT, COMPRESSION SPACER $24.60 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 51083 HANDRAIL CONNECTOR FTG $0.00 | CALL
ARP 51100 SIDE FRAME, LOWER RB $134.20 EA.
ARP 51101 1 | STEP, FRAME $161.70 EA.
ARP 51101 2 | STEP, LEATHER COVER $0.00 | CALL
ARP 51101 3 | STEP, LEATHER COVER $0.00 | CALL
ARP 51110 DUAL POINT REFILL $56.65 EA.
ARP 51115 TIE WRAP WITH SNAP $0.00 | CALL
ARP 51131 51 | SKIRT HOOP KIT STANDARD $173.45 EA.
ARP 51131 53 | SKIRT HOOP S77A, S81A $223.75 EA.
ARP 51131 54 | SKIRT HOOP SMALL, S49A $173.45 EA.
ARP 51131 73 | SCUFF PAD, LONG SIDE CW $0.00 | CALL
ARP 51131 74 | SCUFF PAD, SHORT SIDE RWSW CW CWS $0.00 | CALL
ARP 51131 75 | SCUFF PAD, LONG SIDE CWS $0.00 | CALL
ARP 51131 76 | SCUFF PAD, CORNER RWSW CW CWS $0.00 | CALL
ARP 51131 77 | SCUFF PAD, LONG SIDE RWSW $0.00 | CALL
ARP 51132 3 | SUEDE SIDE RAIL CW(OLD STYLE) $0.00 | CALL
ARP 51132 4 | SUEDE SIDE RAIL CWS (OLD STYLE) $0.00 | CALL
ARP 51132 7 | SKID, LONG SIDE CW (OLD STYLE) $0.00 | CALL
ARP 51132 8 | SKID, LONG SIDE CWS (OLD STYLE) $0.00 | CALL
ARP 51132 9 | SKID, SHORT END CW/CWS (OLD STYLE) $0.00 | CALL
ARP 51132 10 | SKID, CENTER CW/CWS (OLD STYLE) $0.00 | CALL
ARP 51155 1 | LEAD, UPPER RGCCCA-6-70 S-55A $0.00 | CALL
ARP 51155 2 | LEAD, UPPER RGCA-6-82 S-60A $0.00 | CALL
ARP 51155 3 | LEAD, UPPER CA-6-100 LARGE $0.00 | CALL
ARP 51253 HAND ROLLER $99.90 EA.
ARP 51406 LOCKING WRENCH $0.00 | CALL
ARP 51470 FITTING, MODIFIED PIPE PLUG $0.00 | CALL
ARP 51478 FUEL LINE, MAIN RALLY DUAL $0.00 | CALL
ARP 51479 SQUARE TUBE, HP2R DUAL INLET $0.00 | CALL
ARP 51480 1 | FUEL LINE, METERING VALVE 66 IN $164.45 EA.
ARP 51480 2 | FUEL LINE, METERING VALVE 72 IN $167.20 EA.
ARP 51480 3 | FUEL LINE, METERING VALVE 80 IN $178.30 EA.
ARP 51480 4 | FUEL LINE, METERING VALVE 87 IN $208.60 EA.
ARP 51518 1 | CONNECTOR PIN CW, CWS $96.70 EA.
ARP 51518 2 | CONNECTOR PIN RWS, RWSW $103.05 EA.
ARP 51518 5 | CONNECTOR PIN RB $17.45 EA.
ARP 51677 1 | LEAD ASSEMBLY RX6/RX7/S49/S51/S52/S53/S55 $0.00 | CALL
ARP 51677 2 | LEAD ASSEMBLY RX8/RXS8/RX9/S57/S60/S66 $0.00 | CALL
ARP 51677 3 | LEAD ASSEMBLY S71 A/ST7A/S81 A $0.00 | CALL
ARP 51677 4 | LEAD ASSEMBLY S49A $0.00 | CALL
ARP 51683 1 | LEAD, UPPER ENVELOFPE, 70 $496.95 EA.
ARP 51683 2 | LEAD, UPPER ENVELOPE, 82’ $536.90 EA.
ARP 51683 3 | LEAD, UPPER ENVELOPE, 100’ $566.85 EA.
ARP 51683 4 | LEAD, UPPER ENVELOPE, 125’ $612.55 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 51683 5 | LEAD, UPPER ENVELOPE, 62' $477.55 EA.
ARP 51684 1 | LEAD, LOWER SWITCHCRAFT $267.25 EA.
ARP 51684 22 | LEAD, LOWER DAI ICHU $332.00 EA.
ARP 51686 TEMPERATURE SENSOR $116.95 EA.
ARP 51865 1 | VALVE, NUPRO B-4JNR2 $128.35 EA.
ARP 51865 2 | VALVE, NUPRO B-4JNAR2 GREEN $128.35 EA.
ARP 51865 3 | VALVE, NUPRO B-4JNAR2 RED $128.35 EA.
ARP 51866 FUEL LINE, COMBINATION $0.00 | CALL
ARP 51874 TORSION SPRING, TOPCAP $40.25 EA.
ARP 51883 RIB, STAINLESS STEEL CW, CWS, RWSW $64.55 EA.
ARP 51901 PILOT HEAD ASSEMBLY $0.00 | CALL
ARP 51902 FITTING, MODIFIED CROSS 2080-4-4S $42.35 EA.
ARP 51906 VALVE, PILOT TOGGLE HANDLE $0.00 | CALL
ARP 51907 PILOT HEAD $109.20 EA.
ARP 51908 WASHER, SS .50 ID X 1.131 OD $1.10 EA.
ARP 51909 SLUG, PILOT $7.00 EA.
ARP 51910 VALVE, BONNET ASSEMBLY HOKE PILOT VALVE $94.40 EA.
ARP 51911 1 | WASHER, SLOTTED $0.00 | CALL
ARP 51911 2 | WASHER, SLOTTED .048 THK. $4.15 EA.
ARP 51912 VALVE, MODIFIED HOKE $0.00 | CALL
ARP 51940 ROPE, 5/16 NYLON W/ KEVLAR CORE $0.00 | CALL
ARP 51943 44 | WASHER, .25 ID X .500 OD X .031 $0.95 EA.
ARP 51948 FUEL LINE, HYBRID $123.30 EA.
ARP 51980 PULLEY ASSEMBLY 1/2 INCH $139.50 EA.
ARP 52120 1 | PIN, AVIBANK 55964 QUICK RELEASE $66.85 EA.
ARP 52121 BALL BRACKET, INSTRUMENT $0.00 EA.
ARP 52122 BALL BRACKET, BACKUP $0.00 EA.
ARP 52123 1 | RING, APEX STANDARD $0.00 | CALL
ARP 52123 2 | RING, APEX HEAVY (S77/S81) $138.75 EA.
ARP 52124 VALVE, V15 METERING W/DIP TUBE $303.15 EA.
ARP 52125 1 | GAUGE, V15 GAL JA204N $174.00 EA.
ARP 52125 3 | GAUGE, V23 GAL JA343A $206.25 EA.
ARP 52125 4 | GAUGE, V18 GAL $227.50 EA.
ARP 52126 1 | SIDE FRAME, RWS/RWSW/CW ALUMINUM $0.00 | CALL
ARP 52126 3 | SIDE FRAME, RWS/RWSW/CW SS 4 PT $210.45 EA.
ARP 52127 1 | SUPPORT TUBE, RWS 4 PT ALUMINUM $0.00 | CALL
ARP 52127 3 | SUPPORT TUBE, RWS SS 4 PT $410.40 EA.
ARP 52128 LOAD FITTING 4 POINT $46.90 EA.
ARP 52133 COVER, CORDURA HOSE, ELS, RWS $0.00 | CALL
ARP 52134 1 | FUEL LINE, TANK HOSE 77 IN $191.50 EA.
ARP 52134 2 | FUEL LINE, TANK HOSE 40 1/2 IN $123.00 EA.
ARP 52134 3 | FUEL LINE, TANK HOSE 29 IN $107.10 EA.
ARP 52134 4 | FUEL LINE, TANK HOSE 37 3/4 IN $119.05 EA.
ARP 52134 5 | FUEL LINE, TANK HOSE 54 IN $144.65 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 52134 6 | FUEL LINE, TANK HOSE 23 IN $97.85 EA.
ARP 52134 7 | FUEL LINE, TANK HOSE 94 IN $219.35 EA.

ARP 52134 8 | FUEL LINE, TANK HOSE 61 -1/2 IN $162.05 EA.

ARP 52134 9 | FUEL LINE, TANK HOSE 13 IN $84.65 EA.

ARP 52134 10 | FUEL LINE, TANK HOSE 33 IN $115.10 EA.

ARP 52136 12 | TANK PAD, 15 GAL (OLD RWS) $0.00 | CALL
ARP 52137 BALL BRACKET KIT $0.00 | CALL
ARP 52141 3 | SIDE FRAME CWS 4 PTS.S. $217.80 EA.

ARP 52142 1 | COVER, SUEDE LEATHER SIDE FRAME CW/RWS/RWSW $0.00 | CALL
ARP 52142 2 | COVER, SUEDE LEATHER SIDE FRAME CWS $0.00 | CALL
ARP 52142 3 | COVER, SMOOTH LEATHER SIDE FRAME CWS $0.00 | CALL
ARP 52142 4 | COVER, SMOOTH LEATHER SIDE FRAME CW/RWS/RWSW $0.00 | CALL
ARP 52142 5 | COVER, CORDURA SIDE FRAME CW/RWS/RWSW $0.00 | CALL
ARP 52142 6 | COVER, SUEDE LEATHER RB TANK TOP FRAME RB6 $0.00 | CALL
ARP 52142 7 | COVER, SUEDE LEATHER RB8/12 $0.00 | CALL
ARP 52142 8 | COVER, SMOOTH LEATHER RB TANK TOP FRAME RB6 $0.00 | CALL
ARP 52142 9 | COVER, SMOOTH LEATHER TANK FRAME SHORT RB8/12 $0.00 | CALL
ARP 52142 10 | COVER, SUEDE LEATHER TANK FRAME LONG RB12 $0.00 | CALL
ARP 52142 11 | COVER, SMOOTH LEATHER TANK FRAME LONG RB12 $0.00 | CALL
ARP 52143 1 | COVER, SUEDE LEATHER SUPPORT TUBE CW/CWS/RWSW W/O FLAP #3 $0.00 | CALL
ARP 52143 2 | COVER, SUEDE LEATHER SUPPORT TUBE CW/CWS/RWSW W/O FLAP #2&4 $0.00 | CALL
ARP 52143 3 | COVER, SUEDE LEATHER SUPPORT TUBE W/O FLAP RWS #3 $0.00 | CALL
ARP 52143 4 | COVER, SUEDE LEATHER SUPPORT TUBE W/O FLAP RWS #2 & 4 $0.00 | CALL
ARP 52143 5 | COVER, SMOOTH LEATHER SUPPORT TUBE CW/CWS/RWSW W/O FLAP #3 $0.00 | CALL
ARP 52143 6 | COVER, SMOOTH LEATHER SUPPORT TUBE CW/CWS/RWSW W/O FLAP #2&4 $0.00 | CALL
ARP 52143 7 | COVER, SMOOTH LEATHER SUPPORT TUBE RWS #3 $0.00 | CALL
ARP 52143 8 | COVER, SMOOTH LEATHER SUPPORT TUBE RWS #2 & 4 $0.00 | CALL
ARP 52143 9 | COVER, CORDURA SUPPORT TUBE RWS #3 $0.00 | CALL
ARP 52143 10 | COVER, CORDURA SUPPORT TUBE RWS #2 & 4 $0.00 | CALL
ARP 52143 11 | COVER, CORDURAELS #2 & 4 $0.00 | CALL
ARP 52143 12 | COVER, CORDURA ELS #3 $0.00 | CALL
ARP 52143 13 | COVER, SUEDE LEATHER SUPPORT TUBE ELS #2 & 4 $0.00 | CALL
ARP 52143 14 | COVER, SUEDE LEATHER SUPPORT TUBE ELS #3 $0.00 | CALL
ARP 52143 15 | COVER, SMOOTH LEATHER ELS #2 & 4 $0.00 | CALL
ARP 52143 16 | COVER, SMOOTH LEATHER ELS #3 $0.00 | CALL
ARP 52143 17 | COVER, CORDURA SUPPORT TUBE CW/RWS/RWSW $0.00 | CALL
ARP 52143 18 | COVER,CORDURA SUPPORT TUBE CW/RWS/RWSW $0.00 | CALL
ARP 52144 1 | COVER, SUEDE LEATHER SUPPORT TUBE CW/CWS/RWSW #1 & 3 W/FLAP $0.00 | CALL
ARP 52144 2 | COVER, SUEDE LEATHER SUPPORT TUBE CW/CWS/RWSW #2 W/FLAP $0.00 | CALL
ARP 52144 3 | COVER, SUEDE LEATHER SUPPORT TUBE RWS #1 & 3 W/FLAP $0.00 | CALL
ARP 52144 4 | COVER, SMOOTH LEATHER SUPPORT TUBE CW/CWS/RWSW #1 & 3 W/FLAP $0.00 | CALL
ARP 52144 5 | COVER, SMOOTH LEATHER SUPPORT TUBE CW/CWS/RWSW #2 W/FLAP $0.00 | CALL
ARP 52144 6 | COVER, SMOOTH LEATHER SUPPORT TUBE RWS #1 & 3 W/FLAP $0.00 | CALL
ARP 52144 7 | COVER, CORDURA SUPPORT TUBE RWS #1 & 3 W/FLAP $0.00 | CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 52144 8 | COVER, SUEDE LEATHER SUPPORT TUBE ELS W/FLAP $0.00 | CALL
ARP 52144 9 | COVER, SMOOTH LEATHER ELS W/FLAP $0.00 | CALL
ARP 52144 10 | COVER, CORDURA ELS W/FLAP $0.00 | CALL
ARP 52144 11 | COVER, CORDURA SUPPORT TUBE RWSW #1&3 W/FLAP $0.00 | CALL
ARP 52144 12 | COVER, CORDURA SUPPORT TUBE RWSW #2 W/FLAP $0.00 | CALL
ARP 52145 STEP STIFFENER, LOWER $26.05 EA.
ARP 52153 ORIFICE UPDATE [MIPILOT $12.65 EA.
ARP 52160 1 | FUEL LINE ASSEMBLY, SINGLE 2-V RWS/RWSW/CW/CWS $645.55 EA.
ARP 52160 2 | FUEL LINE ASSEMBLY, SINGLE 3-V RWS/RWSW/CW/CWS $796.95 EA.
ARP 52160 4 | FUEL LINE ASSEMBLY, DUAL 2-V RWS/RWSW/CW/CWS $451.40 EA.
ARP 52160 5 | FUEL LINE ASSEMBLY, DUAL 3-V RWS/RWSW/CW/CWS $660.15 EA.
ARP 52160 6 | FUEL LINE ASSEMBLY, DUAL 4-V RWS/RWSW/CW/CWS $857.25 EA.
ARP 52160 7 | FUEL LINE ASSEMBLY, DUAL 2-H RWSW/CW/CWS $519.15 EA.
ARP 52160 8 | FUEL LINE ASSEMBLY 1-HELS $384.95 EA.
ARP 52160 9 | FUEL LINE ASSEMBLY 2-V ELS $613.80 EA.
ARP 52160 10 | FUEL LINE ASSEMBLY, DUAL 2 V/H RWSW/ CW/ CWS $670.80 EA.
ARP 52160 11 | FUEL LINE ASSEMBLY, DUAL 1 V/H RWSW/ CW/ CWS $485.30 EA.
ARP 52160 12 | FUEL LINE ASSEMBLY, ELS BURNER V15/H20 $804.60 EA.
ARP 52160 13 | FUEL LINE ASSEMBLY, SINGLE V/H RWSW/ CW/ CWS $623.00 EA.
ARP 52160 14 | FUEL LINE ASSEMBLY, SINGLE 2 V/H RWSW/ CW/ CWS $822.05 EA.
ARP 52160 15 | FUEL LINE ASSEMBLY, SINGLE 2H CW/ CWS $681.50 EA.
ARP 52160 16 | FUEL LINE ASSEMBLY, DUAL 3V RB5 $668.05 EA.
ARP 52160 17 | FUEL LINE ASSEMBLY, TRIPLE 3 V RB5 $828.55 EA.
ARP 52160 18 | FUEL LINE ASSEMBLY, DUAL 2V RB6 $543.50 EA.
ARP 52160 19 | FUEL LINE ASSEMBLY, TRIPLE 3 V RB6 $837.00 EA.
ARP 52160 20 | FUEL LINE ASSEMBLY, DUAL 3V RB8 $778.75 EA.
ARP 52160 21 | FUEL LINE ASSEMBLY, TRIPLE 3 V RB8 $866.40 EA.
ARP 52161 RETAINER TAB ONLY $3.40 EA.
ARP 52163 PIN, QUICK RELEASE WITH RETAINER $92.50 EA.
ARP 52227 1 | WEBBING, RED POLY W/KEVLAR $1.70 FT.
ARP 52230 VALVE, PILOT STEM $118.65 EA.
ARP 52233 1 | RING WELDMENT $12.90 EA.
ARP 52234 POROSITY TESTER $691.90 EA.
ARP 52236 CALIBRATION PLATE ASSEMBLY $69.50 EA.
ARP 52258 BALL INSTRUMENT CLAMP $0.00 | CALL
ARP 52263 RETROFIT, RED STRAP $0.00 | CALL
ARP 52266 NITROGEN PRESSURIZATION KIT $0.00

ARP 52275 1 | VALVE, CYLINDER H20 ALLOY $302.50 EA.
ARP 52275 2 | VALVE, CYLINDER H20 MVE $302.50 EA.
ARP 52275 3 | VALVE, CYLINDER V15, DUAL SERVICE $325.50 EA.
ARP 52275 4 | VALVE, CYLINDER V15, SINGLE SERVICE $325.50 EA.
ARP 52275 6 | VALVE, CYLINDER V23 $355.50 EA.
ARP 52275 7 | VALVE, CYLINDER V18, SINGLE SERVICE $330.50 EA.
ARP 52275 8 | VALVE, CYLINDER V18, DUAL SERVICE $330.50 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 52280 LEAD, UPPER ENVELOPE, 70' $0.00 CALL
ARP 52280 LEAD, UPPER ENVELOPE, 82' $0.00 CALL
ARP 52280 LEAD, UPPER ENVELOPE, 100’ $0.00 CALL
ARP 52287 STRAP ASSEMBLY, 10 GAL TANK $0.00 CALL
ARP 52310 LEAD, LOWER SWITCHCRAFT $0.00 CALL
ARP 52310 LEAD, LOWER DAI ICHU $0.00 CALL
ARP 52311 TRIGGER PIVOT BLOCK $41.95 EA.
ARP 52315 BRACKET, SKID INNER $19.20 EA.
ARP 52321 END FRAME RB $218.50 EA.
ARP 52340 A BLOCK $48.55 EA.
ARP 52343 HOLD DOWN PLATE, BLAST VALVE $21.35 EA.
ARP 52344 KNOB, METERING $68.70 EA.
ARP 52345 BUSHING, GIMBAL $9.65 EA.
ARP 52348 GIMBAL SPRING END PLATE $94.05 EA.
ARP 52349 GIMBAL BRACKET $166.45 EA.
ARP 52351 BURNER FRAME HPIIl DUAL & HPIIl SINGLE $513.00 EA.
ARP 52352 TRIGGER HANDLE $274.45 EA.
ARP 52354 TRAY, HPIIl DUAL $186.55 EA.
ARP 52355 SPRING, GIMBAL $9.50 EA.
ARP 52357 O-RING, BLAST VALVE $2.25 EA.
ARP 52359 PIN, GLOW HANDLE $12.05 EA.
ARP 52359 PIN, PILOT HANDLE $13.00 EA.
ARP 52360 HANDLE, PILOT VALVE $49.45 EA.
ARP 52361 VALVE, PILOT HANDLE BARREL $49.45 EA.
ARP 52364 TRAY, SINGLE $193.10 EA.
ARP 52365 TRIGGER LINK $35.45 EA.
ARP 52368 SQUARE TUBE, HPIIl DUAL $391.90 EA.
ARP 52371 SPRING CUP 1/2 $25.35 EA.
ARP 52372 GIMBAL BLOCK $54.70 EA.
ARP 52374 SPACER, GIMBAL $10.95 EA.
ARP 52375 FITTING, XYZ FITTING 90 DEGREE ELBOW MODIFIED $45.50 EA.
ARP 52377 SQUARE TUBE, HPIIl SINGLE $434.60 EA.
ARP 52378 SPRING CUP 9/32 IN $23.25 EA.
ARP 52380 VALVE, HOKE MODIFIED $259.15 EA.
ARP 52381 CORNER GUSSETT-CW/CWS LT (OLD STYLE) $39.65 EA.
ARP 52381 CORNER GUSSETT-CW/CWS RT (OLD STYLE) $39.65 EA.
ARP 52382 TRIGGER HANDLE, SINGLE $179.80 EA.
ARP 52389 SPACER, BLAST VALVE $10.85 EA.
ARP 52396 PIN, TRIGGER $7.05 EA.
ARP 52402 RING, APEX RX7/RX8 $25.05 EA.
ARP 52403 POLY CARB WICKER SPLICE $29.30 EA.
ARP 52406 SKID GUARD, POLY LONG RW $121.55 EA.
ARP 52406 SKID GUARD, POLY SHORT RW $109.30 EA.
ARP 52407 SKID GUARD, POLY LONG RWS $125.60 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 52407 2 | SKID GUARD, POLY SHORT RWS $109.60 EA.
ARP 52412 1 | SKID GUARD, POLY CW LONG SIDE $180.10 EA.
ARP 52412 2 | SKID GUARD, POLY CW SHORT SIDE $164.10 EA.
ARP 52413 SKID GUARD, POLY CWS LONG SIDE $188.15 EA.
ARP 52414 1 | SKID GUARD, UHMW LONG, CW REV AA AND OLDER $0.00 | CALL
ARP 52414 2 | SKID GUARD, UHMW CW SHORT, REV AA AND OLDER $0.00 | CALL
ARP 52415 TRIGGER SUBASSEMBLY $71.40 EA.
ARP 52418 ASPIRATOR SUMP ASSEMBLY $6.25 EA.
ARP 52420 COIL ASSEMBLY, HPIIl W/NUTS AND FERRULES $0.00 | CALL
ARP 52420 4 | COIL ASSEMBLY, HPIIl W/NUTS & FERS SW F $0.00 | CALL
ARP 52420 COIL ASSEMBLY, HPIIl W/NUTS & FERS PARKER $0.00 | CALL
ARP 52432 FRAME, TOP BASKET RB6 $549.70 EA.
ARP 52438 TANK SUPPORT, RB6, RB8 $673.40 EA.
ARP 52444 3 | SUPPORT TUBE, ALUM. ELS/ELSS $260.15 EA.
ARP 52444 4 | SUPPORT TUBE, STAINLESS STEEL ELS/ELSS $358.75 EA.
ARP 52445 3 | SIDE FRAME, ALUM. ELS/ELSS $153.15 EA.
ARP 52445 4 | SIDE FRAME, STAINLESS STEEL ELS/ELSS $209.75 EA.
ARP 52446 DIP TUBE, ELS / ELSS H20, H25 (BACKUP VALVE) $56.85 EA.
ARP 52450 1 | INTERFACE TUBE, ELS/ELSS ALUMINUM $53.65 EA.
ARP 52450 2 | INTERFACE TUBE, ELS/ELSS STAINLESS STEEL $102.70 EA.
ARP 52451 BURNER FRAME, ELS $392.25 EA.
ARP 52452 LOAD FITTING STANDARD ELS/ELSS $120.95 EA.
ARP 52453 TUBE, TANK SUPPORT, ELS/ELSS $58.30 EA.
ARP 52454 SKID, LONG ELS $199.15 EA.
ARP 52455 SKID, SHORT ELS/ELSS $161.95 EA.
ARP 52456 LOAD FITTING, CARABINER ELS/ELSS $130.35 EA.
ARP 52458 1 | COVER, SUEDE LEATHER SUPPORT TUBE RB #4 $0.00 | CALL
ARP 52458 2 | COVER, SUEDE LEATHER SUPPORT TUBE RB #3 $0.00 | CALL
ARP 52458 3 | COVER, SMOOTH LEATHER SUPPORT TUBE RB #4 $0.00 | CALL
ARP 52458 4 | COVER, SMOOTH LEATHER SUPPORT TUBE RB #3 $0.00 | CALL
ARP 52459 1 | COVER, SUEDE LEATHER SUPPORT TUBE RB #1 W/FLAP $0.00 | CALL
ARP 52459 2 | COVER, SUEDE LEATHER SUPPORT TUBE RB #2 W/FLAP $0.00 | CALL
ARP 52459 3 | COVER, SMOOTH LEATHER SUPPORT TUBE RB #1 W/FLAP $0.00 | CALL
ARP 52459 4 | COVER, SMOOTH LEATHER SUPPORT TUBE RB #2 W/FLAP $0.00 | CALL
ARP 52461 BRACKET, MOUNTING ELS BURNER $203.65 EA.
ARP 52462 BRACKET, MOUNTING ELS W/SPRING PLATE $269.00 EA.
ARP 52465 BRACKET, GIMBAL ELS BURNER $224.10 EA.
ARP 52467 BUSHING, GIMBAL ELS LONG $12.50 EA.
ARP 52468 BUSHING, GIMBAL ELS SHORT $10.50 EA.
ARP 52469 FLOOR, ELS $223.05 EA.
ARP 52472 FUEL LINE BURNER ELS $0.00 | CALL
ARP 52477 1 | COVER, SUEDE LEATHER SLEEVES ELS $0.00 | CALL
ARP 52477 2 | COVER, SMOOTH LEATHER SLEEVES ELS $0.00 | CALL
ARP 52477 3 | COVER, CORDURA SLEEVES ELS $0.00 | CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 52478 1 | COVER, SUEDE LEATHER SIDE FRAME ELS $0.00 | CALL
ARP 52478 2 | COVER, SMOOTH LEATHER SIDE FRAME ELS $0.00 | CALL
ARP 52478 3 | COVER, CORDURA SIDE FRAME ELS $0.00 | CALL
ARP 52493 U-BOLT 1/4x1x4 $0.00 | CALL
ARP 52494 VALVE, SHERWOOD BONNET ASSEMBLY TANK $70.50 EA.
ARP 52497 FRAME, TOP BASKET RB8 $563.20 EA.
ARP 52499 TAB, REINFORCEMENT $24.15 EA.
ARP 52500 FRAME, RB6 TANK TOP $217.85 EA.
ARP 52501 1 | TUBE CONNECTOR, RB 90 DEG. $72.35 EA.
ARP 52501 2 | TUBE CONNECTOR, RB 12 DEG. $115.15 EA.
ARP 52501 3 | TUBE CONNECTOR, RB 32 DEG. $93.25 EA.
ARP 52502 1 | DIVIDER FRAME UPPER TUBES, RB6 STRAIGHT $147.70 EA.
ARP 52502 2 | DIVIDER FRAME UPPER TUBES, RB6 BENT $244.30 EA.
ARP 52503 1 | DIVIDER FRAME UPPER TUBES, RBS, 47.7 IN $164.95 EA.
ARP 52503 2 | DIVIDER FRAME UPPER TUBES, RBS8, 30.75 IN $123.75 EA.
ARP 52503 3 | DIVIDER FRAME UPPER TUBES, RBS8 $176.40 EA.
ARP 52503 4 | DIVIDER FRAME UPPER TUBES, RB12, 33.00 IN $123.75 EA.
ARP 52503 5 | DIVIDER FRAME UPPER TUBES, RB12, POST $164.95 EA.
ARP 52503 6 | UPPER TUBE, RB12 DIVIDER, 53 IN $206.20 EA.
ARP 52504 SKID, LONG RB6 $402.30 EA.
ARP 52505 SKID, LONG FRONT RBS, RB12 $495.20 EA.
ARP 52506 FLOOR, RB8 $674.10 EA.
ARP 52508 FLOOR, RB6 $663.10 EA.
ARP 52509 PLATFORM, PILOT RB6 $162.05 EA.
ARP 52510 PLATFORM, PILOT RB8 $173.05 EA.
ARP 52511 SKID, SHORT RB6, RBS8 $276.90 EA.
ARP 52512 SKID, CENTER RB $239.95 EA.
ARP 52514 SKID, LONG BACK RBS, RB12 $592.00 EA.
ARP 52515 1 | RB8 PARTITION HALF ASSEMBLY $0.00 | CALL
ARP 52515 2 | RB8 PARTITION HALF ASSEMBLY $0.00 | CALL
ARP 52515 3 | RB6 PARTITION HALF ASSEMBLY $0.00 | CALL
ARP 52515 4 | RB6 PARTITION HALF ASSEMBLY $0.00 | CALL
ARP 52515 5 | RB12 PARTITION HALF ASSEMBLY $0.00 | CALL
ARP 52515 6 | RB12 PARTITION HALF ASSEMBLY $0.00 | CALL
ARP 52516 SKID GUARD, POLY, RB CENTER $52.10 EA.
ARP 52517 PLATFORM SUPPORT RB6 $79.90 EA.
ARP 52518 PLATFORM SUPPORT RB8 $85.35 EA.
ARP 52520 1 | FUEL LINE, BURNER 85 IN RB $204.65 EA.
ARP 52520 2 | FUEL LINE, BURNER 97 IN RB $227.70 EA.
ARP 52520 3 | FUEL LINE, BURNER 120 IN RB $270.70 EA.
ARP 52520 4 | FUEL LINE, BURNER 138 IN RB $304.65 EA.
ARP 52520 5 | FUEL LINE, BURNER 88 IN RB $210.35 EA.
ARP 52520 6 | FUEL LINE, BURNER 77 IN RB $191.50 EA.
ARP 52521 1 | FUEL LINE, CROSSOVER 74 IN RB $183.10 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 52521 2 | FUEL LINE, CROSSOVER 61 IN RB $157.80 EA.
ARP 52522 1 | UBRACKET, 5/16 IN HOLE $28.15 EA.
ARP 52522 2 | UBRACKET, 3/16 IN HOLE $26.70 EA.
ARP 52523 1 | DIVIDER, LOWER TUBES RB8 27 IN $123.75 EA.
ARP 52523 2 | DIVIDER, LOWER TUBES RB8 43 IN $164.95 EA.
ARP 52523 3 | DIVIDER, LOWER TUBES RB6 $88.10 EA.
ARP 52523 4 | DIVIDER, LOWER TUBES RB6 $129.35 EA.
ARP 52525 SKID GUARD, POLY LONG SIDE RB8 $233.10 EA.
ARP 52526 STRAP ASSY V23 TANK RB $114.10 EA.
ARP 52527 SKID GUARD, POLY SHORT SIDE RB $137.90 EA.
ARP 52528 SKID GUARD, POLY LONG SIDE RB6 $162.75 EA.
ARP 52541 SKID, SHORT CW/CWS $253.45 EA.
ARP 52542 SKID, LONG CW $270.85 EA.
ARP 52547 SKID, CENTER CW/CWS NEW $148.40 EA.
ARP 52550 SKID, LONG CWS NEW $311.05 EA.
ARP 52555 1 | SUPPORT TUBE, CW/CWS ALUMINUM 4 PT $0.00 | CALL
ARP 52555 3 | SUPPORT TUBE, CW/CWS SS .083 WALL 4 PT $414.00 EA.
ARP 52556 FLOOR, CW - ALL $339.25 EA.
ARP 52557 FLOOR, CWS - ALL $378.30 EA.
ARP 52566 RIB, STIFFENER RB $64.55 EA.
ARP 52701 1 | KNEE PAD, RB8 BACKSIDE CORNER 3 $0.00 | CALL
ARP 52701 2 | KNEE PAD, RB8 BACKSIDE CORNER 4 $0.00 | CALL
ARP 52702 1 | KNEE PAD, RB8 FRONTSIDE CORNER 1 $0.00 | CALL
ARP 52702 2 | KNEE PAD, RB8 FRONTSIDE CORNER 2 $0.00 | CALL
ARP 52714 KNEEPAD, CORNERS 1 & 4, RB-6 $0.00 | CALL
ARP 52715 KNEEPAD, CORNERS 2 & 3, RB-6 $0.00 | CALL
ARP 52716 KNEEPAD, CENTER, RB-6 $0.00 | CALL
ARP 52721 VALVE, BONNET ASSEMBLY REGO TANK VALVE $38.20 EA.
ARP 52726 PRESSURE GAUGE, ASSEMBLY $0.00 | CALL
ARP 52727 PRESSURE GAUGE KIT (REPLACEMENT WIKA) $291.55 EA.
ARP 52789 AEGIS IR ENVELOPE MOUNT $0.65 EA.
ARP 52792 ROPE COLLET, 2 IN CASTER $8.60 EA.
ARP 52793 1 | COIL ASSEMBLY, HPIIl REPLACMENT ONLY $0.00 | CALL
ARP 52794 FUEL LINE, CW COMBINATION CGA555 $0.00 | CALL
ARP 52796 SUPPORT FITTING, 4 PT CARABINER $135.65 EA.
ARP 52804 SUPPORT TUBE, RB5 $353.65 EA.
ARP 52807 SIDE FRAME, RB5 $109.05 EA.
ARP 52822 IGNITOR, PIEZO W/FIBERGLASS SLEEVE $159.05 EA.
ARP 52824 1 | CABLE PAIR, C 4 PT S50A/S52A CARABINER KEVLAR $141.90 EA.
ARP 52824 2 | CABLE PAIR, A 4 PT S50A/S52A CARABINER KEVLAR $143.00 EA.
ARP 52824 3 | CABLE PAIR, B 4 PT RX7/RX8/RXS8 CARABINER KEVLAR $156.70 EA.
ARP 52824 4 | CABLE PAIR, B 4 PT S55A/S57A/S60A CARABINER KEVLAR $155.25 EA.
ARP 52824 5 | CABLE PAIR, C 4 PT S55A/S57A/S60A CARABINER KEVLAR $156.30 EA.
ARP 52824 6 | CABLE PAIR, A 4 PT S49A/S51A/S53A CARABINER KEVLAR $177.05 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 52824 7 | CABLE PAIR, A 4 PT S55A/S57A/S60A CARABINER KEVLAR $168.50 EA.
ARP 52824 8 | CABLE PAIR, A 4 PT RX8/RXS8 CARABINER KEVLAR $165.60 EA.
ARP 52824 15 | CABLE PAIR, B 4 PT S66A/S71A CARABINER KEVLAR $145.85 EA.
ARP 52824 17 | CABLE PAIR, C 4 PT S66A/S71A CARABINER KEVLAR $144.40 EA.
ARP 52824 19 | CABLE PAIR, C 4 PT S57S/S60S CARABINER KEVLAR $154.45 EA.
ARP 52824 20 | CABLE PAIR, A 4 PT S57S/S60S CARABINER KEVLAR $154.95 EA.
ARP 52824 23 | CABLE PAIR, C 4 PT S77A/S81A CARABINER KEVLAR $152.95 EA.
ARP 52824 24 | CABLE PAIR, D 4 PT S77A/S81A CARABINER KEVLAR $154.30 EA.
ARP 52824 25 | CABLE PAIR, A 4 PT S77A/S81A CARABINER KEVLAR $160.10 EA.
ARP 52824 26 | CABLE PAIR, C 4 PT S66A/S71A CARABINER KEVLAR $155.70 EA.
ARP 52824 27 | CABLE PAIR, B 4 PT 66A/S71A CARABINER KEVLAR $154.45 EA.
ARP 52824 28 | CABLE PAIR, A 4 PT S66A/S71A CARABINER KEVLAR $156.15 EA.
ARP 52824 29 | CABLE PAIR, A 4 PT RX9 CARABINER KEVLAR $145.85 EA.
ARP 52824 30 | CABLE PAIR, B 4 PT RX9 CARABINER KEVLAR $144.40 EA.
ARP 52825 1 | CABLE PAIR, C 4 PT S50A/S52A CARABINER STEEL $81.45 EA.
ARP 52825 2 | CABLE PAIR, A 4 PT S50A/S52A CARABINER STEEL $81.60 EA.
ARP 52825 3 | CABLE PAIR, B 4 PT RX7/RX8/RXS8 CARABINER STEEL $81.55 EA.
ARP 52825 4 | CABLE PAIR, B 4 PT S55A/S57A/S60A CARABINER STEEL $81.45 EA.
ARP 52825 5 | CABLE PAIR, C 4 PT S55A/S57A/S60A CARABINER STEEL $81.85 EA.
ARP 52825 6 | CABLE PAIR, A 4 PT S49A/S51A/S53A CARABINER STEEL $81.95 EA.
ARP 52825 7 | CABLE PAIR, A 4 PT S55A/S57A/S60A CARABINER STEEL $82.15 EA.
ARP 52825 8 | CABLE PAIR, A 4 PT RX8/RXS8 CARABINER STEEL $85.45 EA.
ARP 52825 19 | CABLE PAIR, C 4 PT S57S/S60S CARABINER STEEL $85.30 EA.
ARP 52825 20 | CABLE PAIR, A 4 PT S57S/S60S CARABINER STEEL $85.45 EA.
ARP 52826 1 | CABLEPAIR, C 4 PT S50A/S52A ABLOCK KEVLAR $141.90 EA.
ARP 52826 2 | CABLE PAIR, A 4 PT S50A/S52A ABLOCK KEVLAR $143.00 EA.
ARP 52826 3 | CABLE PAIR, B 4 PT RX7/RX8/RXS8 ABLOCK KEVLAR $168.85 EA.
ARP 52826 4 | CABLE PAIR, B 4 PT S55A/S57A/S60A ABLOCK KEVLAR $156.95 EA.
ARP 52826 5 | CABLE PAIR, C 4 PT S55A/S57A/S60A ABLOCK KEVLAR $156.80 EA.
ARP 52826 6 | CABLE PAIR, A 4 PT S49A/S51A/S53A ABLOCK KEVLAR $155.05 EA.
ARP 52826 7 | CABLE PAIR, A 4 PT S55A/S57A/S60A ABLOCK KEVLAR $154.85 EA.
ARP 52826 8 | CABLE PAIR, A 4 PT RX8/RXS8 ABLOCK KEVLAR $176.80 EA.
ARP 52826 15 | CABLE PAIR, B 4 PT S66A/S71A ABLOCK KEVLAR $145.85 EA.
ARP 52826 17 | CABLE PAIR, C 4 PT S66A/S71A ABLOCK KEVLAR $144.40 EA.
ARP 52826 19 | CABLE PAIR, C 4 PT S575/S60S ABLOCK KEVLAR $165.05 EA.
ARP 52826 20 | CABLE PAIR, A 4 PT S57S/S60S ABLOCK KEVLAR $157.70 EA.
ARP 52826 23 | CABLE PAIR, C 4 PT S77A/S81A ABLOCK KEVLAR $161.70 EA.
ARP 52826 24 | CABLE PAIR, D 4 PT S77A/S81A ABLOCK KEVLAR $163.15 EA.
ARP 52826 25 | CABLE PAIR, A 4 PT S77A/S81A ABLOCK KEVLAR $175.10 EA.
ARP 52826 26 | CABLE PAIR, C 4 PT S66A/S71A ABLOCK KEVLAR $169.00 EA.
ARP 52826 27 | CABLE PAIR, B 4 PT 66A/S71A ABLOCK KEVLAR $167.65 EA.
ARP 52826 28 | CABLE PAIR, A 4 PT S66A/S71A ABLOCK KEVLAR $169.50 EA.
ARP 52826 29 | CABLE PAIR, A 4 PT RX9 ABLOCK KEVLAR $171.00 EA.
ARP 52826 30 | CABLE PAIR, B 4 PT RX9 ABLOCK KEVLAR $166.00 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 52827 1 | CABLE PAIR, C 4 PT S50A/S52A ABLOCK STEEL $78.50 EA.
ARP 52827 2 | CABLE PAIR, A 4 PT S50A/S52A ABLOCK STEEL $78.75 EA.
ARP 52827 3 | CABLE PAIR, B 4 PT RX7/RX8/RXS8 ABLOCK STEEL $78.50 EA.
ARP 52827 4 | CABLE PAIR, B 4 PT S55A/S57A/S60A ABLOCK STEEL $78.80 EA.
ARP 52827 5 | CABLE PAIR, C 4 PT S55A/S57A/S60A ABLOCK STEEL $78.90 EA.
ARP 52827 6 | CABLE PAIR, A 4 PT S49A/S51A/S53A ABLOCK STEEL $79.20 EA.
ARP 52827 7 | CABLE PAIR, A 4 PT S55A/S57A/S60A ABLOCK STEEL $79.35 EA.
ARP 52827 8 | CABLE PAIR, A 4 PT RX8/RXS8 ABLOCK STEEL $53.15 EA.
ARP 52827 15 | CABLE PAIR, B 4 PT S66A/S71A ABLOCK STEEL  (CW, CWS, RB5) $82.25 EA.
ARP 52827 17 | CABLE PAIR, C 4 PT S66A/S71A ABLOCK STEEL ~ (CW, CWS, RB5) $82.25 EA.
ARP 52827 19 | CABLE PAIR, C 4 PT S57S/S60S ABLOCK STEEL $82.45 EA.
ARP 52827 20 | CABLE PAIR, A 4 PT S57S/S60S ABLOCK STEEL $82.90 EA.
ARP 52827 21 | CABLE PAIR, A 4 PT S66A/S71A ABLOCK STEEL  (CW, CWS, RBS) $82.80 EA.
ARP 52827 23 | CABLE PAIR, C 4 PT S77A/S81A ABLOCK STEEL $85.10 EA.
ARP 52827 24 | CABLE PAIR, D 4 PT S77A/S81A ABLOCK STEEL $85.40 EA.
ARP 52827 25 | CABLE PAIR, A 4 PT ST7A/S81A ABLOCK STEEL $85.65 EA.
ARP 52827 26 | CABLE PAIR, C 4 PT S66A/S71A ABLOCK STEEL ~ (RB6, RB8, RB12) $83.55 EA.
ARP 52827 27 | CABLE PAIR, B 4 PT S66A/S71A ABLOCK STEEL  (RB6, RB8, RB12) $83.15 EA.
ARP 52827 28 | CABLE PAIR, A 4 PT S66A/S71A ABLOCK STEEL  (RB6, RB8, RB12) $83.75 EA.
ARP 52827 29 | CABLE PAIR, A 4 PT RX9 ABLOCK STEEL $81.30 EA.
ARP 52827 30 | CABLE PAIR, B 4 PT RX9 ABLOCK STEEL $80.90 EA.
ARP 52828 1 | CABLE SINGLE, B 4 PT S50A/S52A CARABINER KEVLAR $102.65 EA.
ARP 52828 CABLE SINGLE, B 4 PT RX6/RX7 CARABINER KEVLAR $142.40 EA.
ARP 52828 4 | CABLE SINGLE, B 4 PT S57S/S60S CARABINER KEVLAR $113.75 EA.
ARP 52828 21 | CABLE SINGLE, A 4 PT S66A/S71A ABLOCK KEVLAR $104.45 EA.
ARP 52829 1 | CABLE SINGLE, B 4 PT S50A/S52A CARABINER STEEL $72.15 EA.
ARP 52829 2 | CABLE SINGLE, B 4 PT RX6/RX7 CARABINER STEEL $72.55 EA.
ARP 52829 4 | CABLE SINGLE, B 4 PT S57S/S60S CARABINER STEEL $74.15 EA.
ARP 52830 1 | CABLE SINGLE, B 4 PT S50A/S52A ABLOCK KEVLAR $94.05 EA.
ARP 52830 2 | CABLE SINGLE, B 4 PT RX6/RX7 ABLOCK KEVLAR $136.15 EA.
ARP 52830 4 | CABLE SINGLE, B 4 PT S57S/S60S ABLOCK KEVLAR $136.15 EA.
ARP 52830 5 | CABLE SINGLE, B 4 PT S77A/S81A ABLOCK KEVLAR $140.80 EA.
ARP 52831 1 | CABLE SINGLE, B 4 PT S50A/S52A ABLOCK STEEL $69.20 EA.
ARP 52831 2 | CABLE SINGLE, B 4 PT RX6/RX7 ABLOCK STEEL $69.60 EA.
ARP 52831 4 | CABLE SINGLE, B 4 PT S57S/S60S ABLOCK STEEL $71.20 EA.
ARP 52831 5 | CABLE SINGLE, B 4 PT S77A/S81A ABLOCK STEEL $71.50 EA.
ARP 52834 CABLE SET, 4 PT S49A/S53A CARABINER KEVLAR $1.189.95 EA.
ARP 52835 CABLE SET, 4 PT S49A/S53A CARABINER STEEL $754.75 EA.
ARP 52842 CABLE SET, 4 PT S50A/S52A CARABINER KEVLAR $1.613.35 EA.
ARP 52843 CABLE SET, 4 PT S50A/S52A CARABINER STEEL $1,040.10 EA.
ARP 52844 CABLE SET, 4 PT S50A/S52A ABLOCK KEVLAR $1,602.25 EA.
ARP 52845 CABLE SET, 4 PT S50A/S52A ABLOCK STEEL $1,345.00 EA.
ARP 52846 CABLE SET, 4 PT S55A/S57A/S60A CARABINER KEVLAR $1,820.65 EA.
ARP 52847 CABLE SET, 4 PT S55A/S57A/S60A CARABINER STEEL $1,150.40 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 52848 CABLE SET, 4 PT S55A/S57A/S60A ABLOCK KEVLAR $1,907.70 EA.
ARP 52849 CABLE SET, 4 PT S55A/S57A/S60A ABLOCK STEEL $1.387.35 EA.
ARP 52850 CABLE SET, 4 PT S66A/S71A ABLOCK KEVLAR CW/CWS $1.990.85 EA.
ARP 52851 CABLE SET, 4 PT S66A/S71A ABLOCK STEEL CW/CWS $1,428.30 EA.
ARP 52852 CABLE SET, 4 PT S66A/S71A ABLOCK KEVLAR RB $2,104.80 EA.
ARP 52853 CABLE SET, 4 PT S66A/S71A ABLOCK STEEL RB $1,441.10 EA.
ARP 52854 CABLE SET, 4 PT S77A/S81A ABLOCK KEVLAR $2,662.90 EA.
ARP 52855 CABLE SET, 4 PT S77A/S81A ABLOCK STEEL $1,749.90 EA.
ARP 52856 CABLE SET, 4 PT RX8/RXS8 CARABINER KEVLAR $1,218.55 EA.
ARP 52857 CABLE SET, 4 PT RX8/RXS8 CARABINER STEEL $823.70 EA.
ARP 52858 CABLE SET, 4 PT RX8/RXS8 ABLOCK KEVLAR $1,361.80 EA.
ARP 52859 CABLE SET, 4 PT RX8/RXS8 ABLOCK STEEL $1,070.40 EA.
ARP 52860 CABLE SET, 4 PT RX9 ABLOCK KEVLAR $1,394.50 EA.
ARP 52861 CABLE SET, 4 PT RX9 ABLOCK STEEL $1,087.95 EA.
ARP 52862 CABLE SET, 4 PT S57S/S60S CARABINER KEVLAR $1,791.85 EA.
ARP 52863 CABLE SET, 4 PT S57S/S60S CARABINER STEEL $1,148.40 EA.
ARP 52864 CABLE SET, 4 PT S57S/S60S ABLOCK KEVLAR $1,877.00 EA.
ARP 52865 CABLE SET, 4 PT S57S/S60S ABLOCK STEEL $1,385.35 EA.
ARP 52866 CABLE SET, 4 PT RX6/RX7 CARABINER KEVLAR $1,098.05 EA.
ARP 52867 CABLE SET, 4 PT RX6/RX7 CARABINER STEEL $785.15 EA.
ARP 52868 CABLE SET, 4 PT RX6/RX7 ABLOCK KEVLAR $1,214.35 EA.
ARP 52869 CABLE SET, 4 PT RX6/RX7 ABLOCK STEEL $1,031.60 EA.
ARP 52870 CABLE SET, 4 PT S66A, ABLOCK KEVLAR $1,928.60 EA.
ARP 52871 CABLE SET, 4 PT S66A ABLOCK STEEL $1,403.05 EA.
ARP 52872 CABLE SET, 4 PT S53 ABLOCK KEVLAR $1,343.25 EA.
ARP 52873 CABLE SET, 4 PT S53 ABLOCK STEEL $1,071.15 EA.
ARP 52874 CABLE SET, 4 PT RX8 CARABINER KEVLAR (ELS) $1,238.05 EA.
ARP 52875 CABLE SET, 4 PT CARABINER STEEL (ELS) $828.50 EA.
ARP 52880 SKID, LONG RB5 $380.65 EA.
ARP 52880 SKID, LONG RB5 $380.65 EA.
ARP 52881 SKID, SHORT RB5 $256.75 EA.
ARP 52881 SKID, SHORT RB5 $256.75 EA.
ARP 52883 SKID, CENTER RB5 $176.50 EA.
ARP 52883 SKID, CENTER RB5 $176.50 EA.
ARP 52884 FLOOR, RB5 $657.85 EA.
ARP 52884 FLOOR, RB5 $657.85 EA.
ARP 52885 FRAME, RB5 TOP PERIMETER $538.70 EA.
ARP 52885 FRAME, RB5 TOP PERIMETER $538.70 EA.
ARP 52886 RIB, RB SHORT STEP $60.95 EA.
ARP 52886 RIB, RB SHORT STEP $60.95 EA.
ARP 52887 DIVIDER BOARD, RB5 $0.00 | CALL
ARP 52888 DIVIDER CHANNEL, RB5 $0.00 | CALL
ARP 52889 DIVIDER, REINFORCEMENT TUBE, RB5 $247.45 EA.
ARP 52890 DIVIDER ASSEMBLY RB5 $0.00 | CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 52891 FUEL LINE ASSEMBLY, RB5 SINGLE TANK 120" $270.40 EA.
ARP 52892 FUEL LINE ASSEMBLY, RB5 DOUBLE TANK 16" $91.75 EA.
ARP 52893 SKID GUARD, POLY RB5 SHORT $51.30 EA.
ARP 52894 SKID GUARD, POLY RB5 LONG $82.40 EA.
ARP 52895 SKID GUARD, POLY RB5 CENTER $46.10 EA.
ARP 52896 KNEE PAD, RB5 $0.00 | CALL
ARP 52906 FUEL LINE, CWS COMBINATION $0.00 | CALL
ARP 52912 BALL BRACKET, RECEPTICAL $0.00 EA.
ARP 52913 BALL BRACKET, SPACER $1.00 EA.
ARP 52914 BALL BRACKET, INSTRUMENT UPRIGHT MOUNT $0.00 | CALL
ARP 52918 1 | COVER, SMOOTH LEATHER SUPPORT TUBE RB5 $0.00 | CALL
ARP 52918 2 | COVER, SUEDE LEATHER SUPPORT TUBE RB5 $0.00 | CALL
ARP 52918 3 | COVER, SMOOTH LEATHER SUPPORT TUBE W/FLAP RB5 $0.00 | CALL
ARP 52918 4 | COVER, SUEDE LEATHER SUPPORT TUBE RB5 $0.00 | CALL
ARP 52919 1 | COVER, SMOOTH LEATHER SUPPORT TUBE RB5 W/FLAP $0.00 | CALL
ARP 52919 2 | COVER, SUEDE LEATHER SUPPORT TUBE RB5 $0.00 | CALL
ARP 52919 3 | COVER, SMOOTH LEATHER SUPPORT TUBE W/FLAP RB5 $0.00 | CALL
ARP 52919 4 | COVER, SUEDE LEATHER SUPPORT TUBE RB5 W/FLAP $0.00 | CALL
ARP 52928 RIB, RWS STEP $43.55 EA.
ARP 52929 FRAME, TANK, SHORT RB8, RB12 $130.85 EA.
ARP 52975 RIB, MEDIUM STEP $66.55 EA.
ARP 52976 RIB, TALL STEP $73.00 EA.
ARP 52982 FITTING, W, X, Y, Z' FITTING $24.15 EA.
ARP 52983 NOZZLE, GLOW $268.40 EA.
ARP 52985 1 | TANK SHOE $109.00 EA.
ARP 52985 2 | TANK SHOE-RWS ONLY $109.00 EA.
ARP 52986 SQUARE TUBE, HPIIl TRIPLE $554.45 EA.
ARP 52987 BRACKET, OUTER POLY SKID $19.55 EA.
ARP 52990 TRAY, A HPIIl TRIPLE $202.90 EA.
ARP 52991 TRAY, B HPIIl TRIPLE $275.15 EA.
ARP 52992 TRAY, C HPIII TRIPLE $247.35 EA.
ARP 52994 HANDLE, HPIIl TRIPLE $887.70 EA.
ARP 52995 TRIGGER EXTENSION, HPIIl TRIPLE $195.20 EA.
ARP 52996 TRIGGER A & B HPIII TRIPLE $84.90 EA.
ARP 52997 TRIGGER C HPIIl TRIPLE $95.30 EA.
ARP 53005 BRACKET, HP3S GLOW $24.25 EA.
ARP 53006 TANK BASE, HORIZONTAL $83.30 EA.
ARP 53007 TRAY, GLOW BURNER SINGLE $187.90 EA.
ARP 53009 RETROFIT KIT, GLOW SINGLE $0.00

ARP 53010 RETROFIT KIT, GLOW DUAL $0.00

ARP 53019 WASHER, 3 IN ALUMINUM $28.40 EA.
ARP 53020 SKID, LONG SIDE RWSW $237.85 EA.
ARP 53021 SKID, SHORT SIDE RWSW $235.75 EA.
ARP 53022 SKID, CENTER RWSW $193.60 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 53023 FLOOR, RWSW $339.25 EA.
ARP 53034 1 | OVERSLEEVE, RB $142.00 EA.
ARP 53034 2 | OVERSLEEVE, RB $142.10 EA.
ARP 53034 3 | OVERSLEEVE, RB $112.50 EA.
ARP 53034 4 | OVERSLEEVE, RB $112.50 EA.
ARP 53035 HANDLE, GLOW BURNER $87.25 EA.
ARP 53038 VALVE, V18 METERING W/DIP TUBE $176.65 EA.
ARP 53039 FUEL LINE, AURORA RETROFIT $269.80 EA.
ARP 53041 1 | COVER, RAIL ELS CORDURA $0.00 | CALL
ARP 53041 2 | COVER, RAIL ELS SUEDE LEATHER $0.00 | CALL
ARP 53041 3 | COVER, RAIL ELS SMOOTH LEATHER $0.00 | CALL
ARP 53041 4 | COVER, RAIL ELSS CORDURA $0.00 | CALL
ARP 53041 5 | COVER, RAIL ELSS SUEDE LEATHER $0.00 | CALL
ARP 53041 6 | COVER, RAIL ELSS SMOOTH LEATHER $0.00 | CALL
ARP 53043 STRAP HOLDER RWSW H20 $64.85 EA.
ARP 53045 SKID GUSSET, CORNER $0.00 | CALL
ARP 53053 SKID GUARD, POLY RWSW, LONG $119.30 EA.
ARP 53056 FRAME, TOP PERIMETER, RB12 $618.65 EA.
ARP 53057 SIDE FRAME, RB12 $190.50 EA.
ARP 53058 FRAME, TANK SUPPORT RB12 $443.85 EA.
ARP 53060 RIB, SHORT STEP, RB12 $64.55 EA.
ARP 53061 1 | STEP RIB BACKER, SHORT, RB12 $132.60 EA.
ARP 53061 2 | STEP RIB BACKER, LONG, RB12 $132.60 EA.
ARP 53062 END FRAME, RB12 $227.60 EA.
ARP 53063 FLOOR, RB12 $737.55 EA.
ARP 53064 SPACER, FLOOR / SKID, RB12 $253.45 EA.
ARP 53066 PLATFORM, PILOT, RB12 $191.25 EA.
ARP 53067 PLATFORM SUPPORT, PILOT, RB12 $93.75 EA.
ARP 53068 1 | DIVIDER, LOWER TUBE, LONG, RB12 $138.60 EA.
ARP 53068 2 | DIVIDER, LOWER TUBE, SHORT, RB12 $148.70 EA.
ARP 53070 1 | COVER, SUEDE LEATHER END FRAME, RB6, RB8 $0.00 | CALL
ARP 53070 2 | COVER, SUEDE LEATHER END FRAME, RB12 $0.00 | CALL
ARP 53070 3 | COVER, SMOOTH LEATHER END FRAME, RB6, RBS $0.00 | CALL
ARP 53070 4 | COVER, SMOOTH LEATHER END FRAME, RB12 $0.00 | CALL
ARP 53071 1 | KNEE PAD, BACK SIDE RB12, CORNER 3 $0.00 | CALL
ARP 53071 2 | KNEE PAD, BACK SIDE RB12, CORNER 4 $0.00 | CALL
ARP 53072 1 | KNEE PAD, FRONT SIDE RB12, CORNER 1 $0.00 | CALL
ARP 53072 2 | KNEE PAD, FRONT SIDE RB12, CORNER 2 $0.00 | CALL
ARP 53073 FRAME, TANK TOP, LONG, RB12 $163.55 EA.
ARP 53076 REFUELING ADAPTER, TRIPLE $65.55 EA.
ARP 53077 1 | TANK SHOE BASE, LOWER RB5 $0.00 | CALL
ARP 53077 2 | TANK SHOE BASE, UPPER RB5 $0.00 | CALL
ARP 53079 RIB, STEP, LONG RWS $18.60 EA.
ARP 53084 SKID, LONG SIDE ELSS $259.20 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 53085 FLOOR, ELSS $234.55 EA.
ARP 53086 SKID GUARD, POLY ELSS LONG $124.65 EA.
ARP 53090 PIN, WIRE LOCK, S.S. (STAMPED 'S") $7.35 EA.
ARP 53091 PIN, WIRE LOCK, STEEL (STAMPED ‘A $2.40 EA.
ARP 53092 SKID GUARD, POLY ELS SHORT $100.60 EA.
ARP 53093 SPACER, COLLAR RB $4.55 EA.
ARP 53094 SKID GUARD, POLY ELS LONG $108.65 EA.
ARP 53097 1 | BURNER SUPPORT FITTING, SLOTTED $214.45 EA.
ARP 53105 PIN, WIRE LOCK, S.S. W/LANYARD (STAMPED 'S’) $57.10 EA.
ARP 53107 1 | UPPER LINE, PULLEY CHUTE, 32 FT $200.45 EA.
ARP 53107 2 | UPPER LINE, PULLEY CHUTE, 36 FT $207.60 EA.
ARP 53107 3 | UPPER LINE, PULLEY CHUTE, 39 FT $212.90 EA.
ARP 53107 4 | UPPER LINE, PULLEY CHUTE, 41 FT $216.50 EA.
ARP 53107 5 | UPPER LINE, PULLEY CHUTE, 44 FT $221.80 EA.
ARP 53107 6 | UPPER LINE, PULLEY CHUTE, 47 FT $227.15 EA.
ARP 53107 7 | UPPER LINE, PULLEY CHUTE, 40 FT $214.75 EA.
ARP 53107 8 | UPPER LINE, PULLEY CHUTE, 34 FT $234.80 EA.
ARP 53107 9 | UPPER LINE, PULLEY CHUTE, 42 FT $218.30 EA.
ARP 53107 10 | UPPER LINE, PULLEY CHUTE, 25 FT $211.80 EA.
ARP 53108 1 | LOWER LINE ASSEMBLY, 48 FT $0.00 | CALL
ARP 53108 2 | LOWER LINE ASSEMBLY, 54 FT $0.00 | CALL
ARP 53108 3 | LOWER LINE ASSEMBLY, 52 FT $0.00 | CALL
ARP 53108 4 | LOWER LINE ASSEMBLY, 40 FT $0.00 | CALL
ARP 53108 5 | LOWER LINE ASSEMBLY, 64 FT $0.00 | CALL
ARP 53108 6 | LOWER LINE ASSEMBLY, 97 FT $0.00 | CALL
ARP 53108 7 | LOWER LINE ASSEMBLY, 70 FT $0.00 | CALL
ARP 53108 8 | LOWER LINE ASSEMBLY, 88 FT $0.00 | CALL
ARP 53108 9 | LOWER LINE ASSEMBLY, 82 FT $0.00 | CALL
ARP 53108 10 | LOWER LINE ASSEMBLY, 60 FT $0.00 | CALL
ARP 53108 501 | LOWER LINE ONLY, 48 FT $321.35 EA.
ARP 53108 502 | LOWER LINE ONLY, 54 FT $335.40 EA.
ARP 53108 503 | LOWER LINE ONLY, 52 FT $330.70 EA.
ARP 53108 504 | LOWER LINE ONLY, 40 FT $302.60 EA.
ARP 53108 505 | LOWER LINE ONLY, 64 FT $360.40 EA.
ARP 53108 506 | LOWER LINE ONLY, 97 FT $590.35 EA.
ARP 53108 507 | LOWER LINE ONLY, 70 FT $372.90 EA.
ARP 53108 508 | LOWER LINE ONLY, 88 FT $415.40 EA.
ARP 53108 509 | LOWER LINE ONLY, 82 FT $401.05 EA.
ARP 53108 510 | LOWER LINE ONLY, 60 FT $349.50 EA.
ARP 53109 SKID GUARD, POLY, RWSW SHORT $110.60 EA.
ARP 53111 STABILIZER BRACE, CW/CWS/RWSW $242.65 EA.
ARP 53112 1 | COVER, RAIL RWSW CORDURA $0.00 | CALL
ARP 53112 2 | COVER, RAIL CW/RWSW SUEDE LEATHER $0.00 | CALL
ARP 53112 3 | COVER, RAIL CW/RWSW SMOOTH LEATHER $0.00 | CALL

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 53112 4 | COVER, RAIL CWS SUEDE LEATHER $0.00 | CALL
ARP 53112 5 | COVER, RAIL CWS SMOOTH LEATHER $0.00 | CALL
ARP 53115 CABLE SET ELS/ELSS RX6/RX7 CARAB STEEL $618.15 EA.
ARP 53116 CABLE SET ELS/ELSS RX6/RX7 CARAB KEVLAR $1,071.30 EA.
ARP 53117 1 | VENT LINE 50 FT SPRING TOP S49A $254.05 EA.
ARP 53117 2 | VENT LINE 57 FT SPRING TOP S-50A $266.55 EA.
ARP 53117 3 | VENTLINE 60 FT SPRING TOP S-52A $270.05 EA.
ARP 53117 4 | VENT LINE 58 FT SPRING TOP S-55A/RX-7 $268.30 EA.
ARP 53117 5 | VENT LINE 62 FT SPRING TOP S-57A/RX-8 $272.75 EA.
ARP 53117 6 | VENT LINE 66 FT SPRING TOP S-60A $282.50 EA.
ARP 53117 7 | VENT LINE 66 FT SPRING TOP/PARA-RIP TOP S-66A $307.45 EA.
ARP 53117 8 | VENT LINE 74 FT PARA-RIP TOP S71A $321.70 EA.
ARP 53117 9 | VENT LINE 82 FT PARA-RIP TOP S77A $336.00 EA.
ARP 53117 10 | VENT LINE 90 FT PARA-RIP TOP S81A $350.25 EA.
ARP 53117 11 | VENT LINE 52 FT SPRING TOP RX-6 $257.65 EA.
ARP 53117 12 | VENT LINE 64 FT SPRING TOP RXS-8 $279.85 EA.
ARP 53117 13 | VENT LINE 69 FT SPRING TOP RX9 $311.65 EA.
ARP 53118 1 | BACKREST, SMOOTH LEATHER, ELS, ELSS, CW, RWSW $0.00 | CALL
ARP 53118 2 | BACKREST, CORDURA ELS, ELSS, CW, RWSW $0.00 | CALL
ARP 53119 1 | AFXLOAD FTNG RWSW-CW CORNER 1,3 $498.90 EA.
ARP 53119 2 | AFXLOAD FTNG RWSW-CW CORNER 2,4 $498.90 EA.
ARP 53120 1 | AFX FRAME TUBE-SHORT CW-RWSW $129.65 EA.
ARP 53120 2 | AFX FRAME TUBE-LONG CW-RWSW $174.45 EA.
ARP 53121 1 | AFXROD SOCKET, CW $87.80 EA.
ARP 53121 2 | AFXROD SOCKET, RWSW $87.80 EA.
ARP 53124 1 | AFXLOWER CABLE CW $54.25 EA.
ARP 53124 2 | AFXLOWER CABLE RWSW $53.75 EA.
ARP 53125 1 | AFX UPPER CABLE CW $200.55 EA.
ARP 53125 2 | AFXUPPER CABLE RWSW $206.40 EA.
ARP 53132 1 | AFX SUEDE LEATHER UPRIGHT COVER RWSW W/SLEEVE $0.00 | CALL
ARP 53132 2 | AFX SUEDE LEATHER UPRIGHT COVER CW W/SLEEVE $0.00 | CALL
ARP 53132 3 | AFXSMOOTH LEATHER UPRIGHT COVER RWSW W/SLEEVE $0.00 | CALL
ARP 53132 4 | AFX SMOOTH LEATHER UPRIGHT COVER CW W/SLEEVE $0.00 | CALL
ARP 53133 1 | AFX SUEDE LEATHER UPRIGHT COVER RWSW NO SLEEVE $0.00 | CALL
ARP 53133 2 | AFX SUEDE LEATHER UPRIGHT COVER CW NO SLEEVE $0.00 | CALL
ARP 53133 3 | AFX SMOOTH LEATHER UPRIGHT COVER RWSW NO SLEEVE $0.00 | CALL
ARP 53133 4 | AFX SMOOTH LEATHER UPRIGHT COVER CW NO SLEEVE $0.00 | CALL
ARP 53136 AFX TRANSPORT STRAP $0.00 | CALL
ARP 53137 1 | AFX RECEIVER POUCH-SUEDE $0.00 | CALL
ARP 53137 2 | AFX RECEIVER POUCH-SMOOTH $0.00 | CALL
ARP 53154 1 | AFX SUPPORT ROD, CW $193.85 EA.
ARP 53154 2 | AFX SUPPORT ROD, RWSW $193.85 EA.
ARP 53157 AFX TETHER LOOPS $0.00 | CALL
ARP 53186 FITTING, UNION RESTRICTED, HPIIl UPDATE $121.95 EA.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




ARP 53192 SPACER, GIMBAL BRACKET, HP3S $14.85 EA.
ARP 53195 CLIP, RETAINER HP3S $42.25 EA.
ARP 53198 END LOWER FRAME, RB12 $494.85 EA.
ARP 53199 SKID, SHORT RB12 $276.90 EA.
ARP 53204 TOP FRAME SUPPORT FITTING, RB-12 $273.85 EA.
ARP 53216 INSTRUMENT BRACKET W/SCREWS (BALL M57A) $0.00 | CALL
ARP 53221 INSTRUMENT MOUNT, M57 BASKET $0.00 | CALL
ARP 53222 INSTRUMENT MOUNT, M57 SUPERSTRUCTURE $0.00 | CALL
ARP 53285 REGULATOR, FEMALE FITTING $62.05 EA.
ARP 53286 REGULATOR, MALE FITTING $55.10 EA.
ARP 53287 REGULATOR, STEM SEAL $0.20 EA.
ARP 53655 SKIRT HEM, FABRIC WHITE 10 0Z $21.80 YD.

Balloonacy, LLC d/b/a Parts Authority |2013 Aerostar Parts Price List




